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CHAPTER

SUBJECT VERB AGREEMENT

(TT@E 2023)

(a) Either he or you are going to pay the damages.

Identify the correct sentence/s.

(b) Each of the offenders have to be punished.
(¢) The whole group of pedestrians was stuck by the

speeding vehicle.
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc (4) Onlyc

Choose the incorrect sentence/s from the following:
(a) Joseph is very clever. (Combined B 2023)
(b) My father is a farmer.

(c) Character, and not looks, matter in the long run.

(d) While working with others, we have to help each
other.
(1) aonly (2) bandconly

(3) conly (4) candd

(Combined C 2023)
(a) Rama or Hari must lend their hands.
(b) None of my lost books were found.
(c) Each of the employees was given bonus.
Identify the correct sentence/s.
(1) Only (a) and (b) (2) Only (a) and (c)
(3) Only (a) (4) Only (b) and (¢)

Fill in the blank with correct verb choosing the one

from answer options. (Translator 2022)
"According to the present market rate twelve dozen
............ one hundred rupees."

Answer Options :

(1) costs (2) have cost

(3) cost (4) 1iscost

#5.

(a) Neither of the two books was found useful.

(b) Each of these two shops is doing good business.
(c) Every one of these workers is a trained technician.
(d) One of those candidates are sure to be selected.
Identify sentences from above which follow 'subject

(T==@aT 2021)

-verb'agreement.

Answer Options :

(1) (a)and(c) (2) (b)and (d)
(3) (a)and (b) (4) (c)and(d)

(a) You are prohibited from smoking here.

(b) Neither pride nor prejudice affects him.

(¢) The committee is divided in their opinions.

Identify the grammatically correct sentence/s.
(TTEan 2021)

(2) Only (b)

(4) Only (a) and (c)

(1) Only (a) and (b)
(3) Only (b) and (c)

Fill in the blank with the appropriate verb :

Neither of the four teachers................ willing to
teach Physics. (dASO 2019)
(1) are (2) were
(3) had 4) is
Choose the correct sentence:

(Combined B 2021/=a@a1 2017)

(a) The ship was wrecked and every man, woman and
child was drowned.

(b) The ship was wrecked and every man, woman and
child were drowned.

(¢) The ship was wrecked and every man, woman and
child are drowned.

(d) The ship was wrecked and every man, woman and
child had drowned.

Answer Options :

(1) (b) only (2) (c)only

(3) (a)only (4) both (b) and (c)

Read the sentences carefully and choose a correct
answer from the options given below :

(a) Milk and honey are a nourishing food.

(b) Milk and honey is a nourishing food.

Answer Options : (Combined B 2021)
(1) Only (a) is correct

(2) Only (b) is correct

(3) Both (a) and (b) are correct

(4) Both (a) and (b) are incorrect

Ans 1-3 | 2-3 | 3-4]|4-3|5-#]6-1

7-4 1 8-3 | 9-2
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CHAPTER

(a) Either ...... or =T T&A or T U= subject T
fspamae (verb) 31Ut T=9 U 31d, AY or TR
you & subject 318 3TMT a1 3eha=H1 (plural)
AR, U fspamrecdia (plural) FAhaHl IS,
T 9T SR 3TTR.

(b) Each ...... of =1 THa of 3Meft VT subject TR
verb HTUe! F=F BId 31d, U each & singular
subject 318 R verb ¢@e singular has J$d. 3
IR T IATE.

(c) 1 ITRITd of 3 the whole group &l phrase
31T ot AERITA singular SEEIHS IY verb &
singular was JATAAT 3T, 7 I e 37T,

Note :

Each, everyone, either, neither, none, one B
singular subjects 3T&d. T=ATESA singular verb
(is/was/has/does) STIAT STl

(a) Joseph & singular subject 318 U is &l
singular verb 3TTelell 3178, 7 9o SIe 3718,

(b) My father & singular subject 378 U is &l
singular verb JTTeTell 3172, 7 9o e 3112,

(c) 30 d1RITd character 81 subject 3T dl singular
3R eV A9 matters & singular verb I, 7
IR I TR,

Note :
And not =T IR Il subject TR verb odc
STd. And not TREY WA feabed egHT gl
verb/pronoun ¥ €9 HdHT first subject T aTHR
%! A1, d WTEATHT —

1 with 13 | runby

2 along with 14 | led by

3 together with 15 | but

4 altogether with 16 | rather than
5 besides 17 | including

6 in addition to 18 | excluding
7 accompanied by 19 | except

8 controlled by 20 | and not

9 dominated by 21 | like

10 | governed by 22 | unlike

11 | guided by 23 | no less than
12 | headed by 24 | as much as

MPSC - ENGLISH ANALYSIS BOOSTER

1 SUBJECT VERB AGREEMENT
: EXPLANATION

(d) We & plural subject 318 U plural verb have
TTEE AT 3R, 2 TR S 378,

(a) SegT 99T or = TEHAT Id degT or Hak AT
subject TR verb TIel S B 378d q8=
pronoun & subject T Aq 3d. feoten
JreRITd Hari A1 subject 8T his 2 pronoun Edet
. B T T IR,

(b) None of T IV noun plural 3 T8 verb &
singulara—d Eﬂﬂ—cﬁ‘ﬂ@ mﬁ%waﬁmﬁéﬁ
TR,

(¢) Each of =41 T each & @ subject 318! AR
singular verb, was AT 3. B IR S 3R,

Twelve dozen & plural subject 3 RepmAT AT cost
2 plural verb 33

#5.

(a) T ITRTE neither IT singular subject HEd was AT
singular verb =T 9T SR 3712,

(b) I AT each AT singular subject H&d is T
singular verb =T IR ST 3772,

(¢) 3T 9TRITE everyone T singular subject Tad is AT
singular verb =T 919 SR 3R,

(d) 1 ST one T singular subject HEd are AT
plural verb WSt is ¥ singular verb J3et. & aTe
Th IR

Note :

Teerea gttt e v . (d) & incorrect T

3R, tR@ IAU=AT FAEHE (a), (b) and (c) are correct

3T AT T B Y AT TGg shelell 3772

(a) Prohibited I SR preposition Id T O T
preposition @ AR verb 8 gerund TEI A, B
T TR 3R,

(b) I TR nor TR 3T prejudice & subject
singular 3/d q9 affects I singular verb =T aTR
A IR, 7 AT TR IR,

(¢) Committee B distrubutive collective noun 37g.
I collective noun <AT UCEATHE UehaTaaidl 318
@ verb 9 pronoun gl singular 31EATd. ATSeTE
collective noun =T HERATHE HATH~IAT A T

verb @ pronoun §&! plural 318, I TRITd
HAf=Id1 31T A9 plural verb are TEINI. & TR
IH IR,

15
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CHAPTER

TIME AND TENSE

Identify the grammatically incorrect sentence/s. (c) We haven't seen Padma for several months.
(a) Isaw a good film yesterday. (U@ 2023) Answer Options :
(b) The train left before I arrived. (1) (c) only (2) (a)and (c) only
(c) IfIhad a car, things would be fine. (3) (b) and (c) only (4) (a), (b) and (c)
(d) He read the Bible everyday. 7. The dogs .............. throughout the night.
(1) Onlyaandc (2) Onlybandc Select the correct alternative to complete the
(3) Onlybandd (4) Onlyd sentence meaningfully. (dASO 2023)
Identify the sentence/s with correct tense form. Answer Options :
(T=TEET 2023) (1) barked (2) were barking
(a) Ihave not seen him for several days. (3) have barked (4) had barked
(b) When I first met him, he was studying painting. 8. (a) They are preparing lessons for the ensuing
(¢) He fell ill and is on leave today. examinations.
(d) We wait for you as long as you wish. (b) Ranjan is doing this important work for the last
(1) Onlyaandb (2) Onlybandc five days.
(3) Onlyaandd (4) Onlycandd (¢) The examinees stopped writing when the
Identify the grammatically correct sentence/s. invigilator entered the hall.
(a) His parents loves him a lot. (Combined B 2023) Identify the sentence/s grammatically correct.
(b) His courage won him honour. (Combined C 2022)
(¢) We all got very wet. (1) Only(a)and (b)  (2) Only (b)and (c)
(d) They are been watched by the cops. (3) Only (b) (4) Only (a)
(1) aandb only (2) band conly 9. 'It has been raining since eight O'clock this morning'.
(3) candd only (4) aandd only (Combined B 2022)
Identify the unit in which there is an error. The tense used in the sentence above is
She had been a nurse for three years and then (1) Progressive form of the present tense.
a b (2) Past form of the perfect tense.
she wants to study medicine. ~ (Combined B 2023) (3) Present perfect tense.
c (4) Progressive form of the perfect tense.
(1) Onlya (2) Onlyb 10. Identify underlined tense form in the given example:
(3) Onlyc (4) No error e.g. The train will have left by the time you reach
Identify the correct sentences : the station. (TSI 2022)
(a) I met Renu after I had finished my work. (1) simple future (2) past perfect
(b) When I first seeing him, I thought he was a lawyer. (3) future perfect (4) present perfect
(c) He joined after had his dinner. 11.  Fill the blank with the most appropriate form of
Answer Options : (Combined C 2023) the verb given in the brackets. (Combined C 2022)
(1) (a) only (2) (a)and (b) only We ......... for you for two hours (wait).
(3) (a)and (c) only (4) (a), (b) and (c) (1) have been waiting
Choose the correct sentences: (dPSI 2023) (2) are waiting
(a) Tam knowing him for a long time. (3) would have been waiting
(b) We have lived here for ten years. (4) none of the above
Ans 1-3 ]| 2-1 3-2 1 4-3 |1 5-116-3]7-2]18-4]109-4]110-3]J11-1

22
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SAMPLE

CHAPTER

2

TIME AND TENSE : EXPLANATION

Tenses are the form of verbs to express the time of an action.

Present Tense

v

Past Tense

v

Future Tense

V! Original form of the verb

V? Past form of the verb

V3 Past Participle form of the verb

Present Tense

Types Structure Examples
Simple Present Tense Subject + V1 I study English.
Subject + V5 He knows English.
Present Continuous Tense Subject + am/is/are + V1 / | I am studying English.
ing He is studying English.
We are studying English.
Present Perfect Tense Subject + has/have + V3 I have studied English.
She has studied English.
Present Perfect Continuous Subject + has/have + been | I have been studying English since morning.
Tense + V1 +ing He has been studying English for two days.
Past Tense
Types Structure Examples

Simple Past Tense

Subject + V2

I went to school.
He went to school.

Past Continuous Tense

Subject + was/were + V1 + ing

I/ He was going to school.
Students were going to school.

Past Perfect Tense

Subject + had + V3

Reena had gone to school.
They had gone to school.

Past Perfect Continuous
Tense

Subject + had + been + V1 + ing

I had been going to school for last 4 years.
Boys had been playing football since morning.

Future Tense

Types

Structure

Examples

Simple Future Tense

Subject + will/shall + V1

I/ We shall reach the home on Friday.
The train will arrive at 2 p.m.

Future Continuous Tense

Subject + will/shall + be + V1 +
ing

My Father will be waiting at the station.
I shall be writing a letter to my aunt.

Future Perfect Tense

Subject + will/shall + have + V3

She will have done her works.
It will have taken by them.

Future Perfect Continu-
ous Tense

Subject + will/shall + have + been

+ V1 +ing

Tomorrow, I will have been writing

a surprise test.

Students will have been enjoying, the
English grammar class for next 2 hours.

MPSC - ENGLISH ANALYSIS BOOSTER
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(a) Yesterday &l time expression simple past tense
7E Adl. B T FH TR,

(b) THT IR STeaT S HAhTCAH T TSere
7T, 3T IS 3Mef Teiedn TgedaTdt past
perfect tense 9 FATEAT TAHTE! simple past tense
TIAT STl & I o T3,

(¢) Conditional sentence =1 ﬁ'ﬂ'ﬂ'l’:[m'{ B I S
TR,

(d) Everyday @1 time expression simple present
tense &Y Idl. Y he B singular pronoun
IS read AT TRATISIEN s &1 e &I @
IR I TR,

5. (a) UM I9ATG gl G MIehIelF BT Tgeied

7T, 319 IS 3Mef Teeied Tgedandt perfect
past tense AT Rrotic) simple past tense
FTAT STl 7 T TSR 3R

(b) TWTIUTS TSV T %hies & simple past tense
IEdl. A9 seeing oSt saw AT verb =1 AT
BIgel.

(¢) After ST STeRITd AT T ATERITET a3 perfect
past tense Al g 9 < IR, B TR et
RECIEICECH
He joined after he had had his dinner. OR
He joined after his dinner.

(a) For several days, for several months, for several
years, for several hours, for many days, for many
years, for many weeks, for a long time 3. phrases
=1 99 perfect present tense e hefl ATl 7
TRT SIS 3R,

(b) ST gEdt fopa weeht deat U fopa =mel Bt B
greTETdt continuous past tense =T 99T <hI{dTd.
ufgeft 55T continuous past tense TE A T
gﬂ'& foram simple past tense &3 3. § A9
U 37Tz,

(¢) On leave & HM=IA: Arsterett fehar fnfoa
absense (For E.g. vacation leave, parental leave)
eufferd. ST AUT=AT TGRS sick leave,
unexpected leave 33ff phrase T STd. & e
=% AR

(d) Assoon as, as long as, by the time, after, when,
if, until, till, unless, before, even if, in case STE
I[eg, iRl 9e3 guifedTd. TeU 3T time
clause A simple present tense STIEAT STl &
IR T TR,

(a) Parents® plural noun W@Tﬂé verb &l plural
. B I Th IR,

(b) 1 ATHTd subjectﬂ@ﬁ main verb 9 object IT gaten
IR TS S AT HIVIAET b AT

(OBRIEIERIN subjectﬂ@ﬁ main verb 9 object IT gaten
IR TS S I HIVIAET b AT

(d) 31 TR are =1 AR been AT TR THET IR B
91T passive voice ei) 3T ITd are WISt have 31
verb =T 91T ‘&ﬁéﬁ

36

afect aTe perfect past tense = 3THA gL STRIGEA
past tense HE ATIAT & FgUISTE S’Eﬁ 91T simple
past tense e el g4, feeten g part ¢ T error
32 IY wants Tasl wanted ITEIS.

6. (a) Know 7T stative verb W@Tﬂé ITT continuous

tense W TR <hell ST ATal. FEUM AT ATeRITA
I am knowing him for a long time WSl I have
known him for a long time 378 T I5e. & AT
=% AR

(b) I FRITG for & time STl TEUH & TR TS
TR,

(¢) Several @ time expression perfect present tense

" Al g I S AT

7. Al TAMR Yo BIdT, A1 AU S 9T 3R,

e St were barking =T 9T B,

8.  (a) 1 STRTA fSHAT 3T Uied TR I IgW I B

IR S 3R,

(b) TEE T5RAT past AL HE B present WL SR ST
Jufigl =Te] 3@e @ 3 R avia stuEmErd
perfect present tense 9 perfect continuous present
= 99 Shell STl I9 is UGSt has been doing a1
verb =T I @éﬂ

(c) TG IR SISET GF VdehTeiA Tl Tgeied
JTEATT, 379 JST et Teeiedn TSl past
perfect tense @ TaT=AT GeA@T3! simple past tense
IAT STl & I o 3R,

The examinees had stopped writing when the

invigilator entered the hall. v/

9.  feoiet a9 & progressive form of the perfect tense o

IR, AT AT Uehl SIS present tense
7efiel ahT Siea SEoE fafiE dewda St wErd fea

El'l?fz\?ﬂ@?fi @ ot present perfect continuous tense HEd
37T, AT HIBE progressive form of the perfect tense
3T ¢Ee FEUTTd.

Note :

Progressive form of the present tense TgUId present

continuous tense

MPSC - ENGLISH ANALYSIS BOOSTER




SAM

Identify the conditions expressed in the following

sentences. (T==@ET 2023)

(a) Likely (b) Unlikely

(c¢) Almost impossible (d) Hypothetical

(e) Unreal

[. If they made me the principal of the school, I
would change many things.

II. If I went to London, I would seek an audience
with the Queen.

II. If he worked hard, he would pass.

IV. If he had invited me, I would have gone.

I m mr 1v

M © @ @© @

2 d () O (o)

G @ @ @® (o

@ @ () (© (@

(a) If you come the bank will the able to help you.
(b) Had I known it, I would come to you.
(¢) Unless the floods went down, we shan't be able to

drop food-packets. (Combined B 2023)
Identify the grammatically correct sentence/s.
(1) Onlya (2) Onlyb

(3) Onlyaandc (4) Onlybandc

Had he not sent money on time, the poor farmer
.............. his son?

Select the correct alternative to complete the
sentence meaningfully. (Combined C 2023)
(1) would lost (2) would have lost

(3) would have been lost (4) will have lost

"If I had wings, I would come flying to you."
Which of the following conditions is expressed
by the sentence above ? (Combined C 2023)
(a) Impossible condition

(b) Improbable condition

(c) Probable condition
(d) Likely condition
Answer Options:

(1) (d) only

(3) (c)only

(2) (a)only
(4) (b) only

Fill in the blank.

Unless you .............. you will fail.

(dASO 2023)

Answer Options:
(1) work harder (2) don't work harder
(3) are not working harder (4) not worked harder

Identify the correct conditional sentence/s.
(Combined B 2022)

(a) Ifitrains, we would stay indoors.

(b) Ifthe thief would come into my room, I would hit
him.

(¢c) If you had come five minutes earlier, you would

have got a seat.

(1) Onlya (2) Onlyb
(3) Onlyc (4) Onlybandc
If I had been in his place, I ............ differently.

Choose the correct alternative to complete the
sentence meaningfully. (Combined C 2022)
(1) shall have done

(2) should have done

(3) should have been done

(4) would done

Choose the best equivalent sentence to the following
sentence. It would be best if you told everyone.
(Translator 2022)
(1) The best thing was for you to tell everyone

Answer Options :

(2) Foryou to tell everyone, it would be the best thing
always

(3) The best thing would be for you to tell
everyone

(4) The best thing is for you to tell everyone

Fill in the blanks. (Translator 2022)

(a) Ifwesend atelegram today, we ............. areply
in two days.

(b) Ifhe............... me, I should marry him.

(¢) Ifyouhad come earlier, you................. certain
of your berth.

Answer Options :
(1) shall get, asked, would have
(2) shall get, will ask, would have been

Ans 1-2 | 2-#]| 3-2|4-4]|5-1] 6-3

7-218-3]|9-4
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CHAPTER

CONDITIONAL SENTENCES
: EXPLANATION

S.N.

Conditional clause

Main clause

Zero Condition

Maths calculation, Scientific, general fact
AT ¢

Simple Present

For E.g.

1. If you heat water,

2. If you open the door,

3. If I eat cheese,

Simple Present

it boils.
the dog goes out.
it gives me indigestion.

2 |Probable/Likely/Real/Possible Condition
AT Simple Future/can/may + V1
Simple Present (Present Modal)
For E.g.
1. If she works hard, she will secure first position.
2. If I go to the market, I shall purchase a number of things
3. If you don't pass the test, what will you do.
3 |Improbable /Imaginary/Hypothetical/
Unreal/Unlikely Condition
AT 2 Subject + would/could / might / should + V!
Simple Past (Past Modal)
For E.g.
1. If you whistled, the girls will mind it.
2. If I were a bird, I would fly like as aeroplane.
3. If I had time, I would visit the exhibition
4. If I had money, I could buy that land.
4 |Impossible condition

TIAT @
Past Perfect
For E.g.

1. If she had learnt to cook well,

2. If you had met him,

3. Had I been a bird,

4. If the government had offered adequate

compensation,

Subject + would have / could have / might have
+V?
(Perfect Modal/Modal of Perfection)

she could have cooked some good dishes.
she might have guided you.
I would have flown high in the sky.

the farmers would have surrendered their land.
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I.  If they made me the principal of the school, I
would change many things - Hypothetical

II. If I went to London, I would seek an audience
with the Queen - Almost impossible

III. If he worked hard, he would pass - Unlikely

IV. If he had invited me, I would have gone - Unreal

(a) Probable/likely/real/possible condition =41
FRMEER main clause 9T subordinate clause T
Te3 HLUATHIS! I1 TG comma TTEIS, B STl
=% AR

(b) Impossible condition =1 fEHHER & =R =
3. Main clause T3 would come U=t would
have come ® perfect modal &N,

(¢) Improbable/hypothetical/unlikely/unreal
condition =T THRIMTHER 2 aTe 9% 378. Main
clause 93 we shan't be ﬁﬁﬁﬁ we would not be
RIGES

BT TR STRITTIhg 168 hotdll 318 SR TITTHES none

of the above 37€T W™ &l

Impossible condition =T ﬁ'ﬂ'ﬁ'lﬂ'&l‘l'{ main clause T&
feerem smft would have lost 8T perfect modal J§a.

If T had wings, I would come flying to you.

feetel a1 improbable condition 3 3112,

Improbable condition =T T=T

1. If+S+V?+s+could + would/might/should + V!

2. If+S+didnot+ V'+ S+ could + would /might/
should + V!

3. If+ S+ was/were/had + noun + S + could + would
/might/ should + V!

Probable condition =1 framgaR e smft work
harder & 9319 J5A.

(a) Probable condition =T fHIWHER 7 a1 I
3TR. Main clause 7% would Uasit will 9211,

(b) Improbable condition =T fRMIAR IS R=CiS)
= R, If clause 7% would come ﬁ?ﬁﬁ came
RIGES

(¢) Impossible condition =31 ﬁ'ﬂ'ﬂ'lﬂ'&l‘l’( B e s
TR,

Impossible condition =T FEETHER fehm=n St should
have done &1 perfect modal aéa

MPSC - ENGLISH ANALYSIS BOOSTER

It would be best if you told everyone.
feetedn IsT=AT best equivalent sentence 9 3. (3)
The best thing would be for you to tell everyone 5.

(a) Probable condition =1 fmTIaR frepren Sft
shall get g verb @éﬁ

(b) Improbable condition =1 fRMTIAR fepren Sft
asked & verb I,

(¢) Impossible condition =T fraTHER frepren St
would have been & verb Jga.

10.

(a) Improbable condition =T THEHHER & 9o <

3. Main clause 783 would Uasit will IES.

(b) Improbable condition =aT ﬁﬂmﬂ'&lﬂ IR RCIIE S
TR,

(¢) Zero condition =T ﬁ'ﬂ'ﬂ'lﬂ'@l‘l'{ 2 TR e 3R,

(d) Improbable condition =T ﬁ'ﬂ'ﬂ'lﬂ'&l‘l'{ 7 9 I
8. Main clause & would have Tasii would

RIS

11.

(a) Impossible condition =31 ﬁ'ﬂ'ﬁ'lﬂ'&m FCIERACTIET
TR,

(b) Probable condition =1 FEHHER 7 aT I
3. Main clause 923 came UsSl come TTEN.

(¢) Improbable condition =T ﬁ'&'ﬂ'l’:{&ﬂ'{ g 9 Ih
3. Main clause 72 could have carriedﬁ?ﬁﬁ
could carry T,

(d) Zero condition =T FTEHHHR 7 9T SRISK 3712,

12.

feetel 9@ 2 impossible condition = 318, <=l AT :
If + perfect past + S + would have + V? 31ft 318d.

13.

(a) Probable condition =T THEWHER 2 aTe SRR
TR,

(b) Probable condition =T FRHTIER 7 a1 I 3R,
If clause 959 will take Qt_ﬁﬁ takes UTEIS.

(¢) Improbable condition =31 ﬁ'ﬂ'ﬂ'@'&l‘l’( IR RCIIE S
TR,

(d) Improbable condition = FRMAR 7 9 =
3R, If clause #&4 would tryﬁt‘ﬁﬁ tried TN,

14.

Probable condition =T FEwHaR fehm=m Smft If we
send a telegram today &l e aéa

15.

1) feoter o B improbable/unreal/hypothetical
condition = 919 3R, If =T clause AL S
simple past tense 378 X main clause &
subject + would + V! 373t T&AT 3. Main
clause 953 will Tasfl would / might IS, B e
=% AT
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CHAPTER

4

PARTS OF ASENTENCE

Identify the underlined phrase in the following | 8. Identify the type of phrase underlined in the given
sentences. ('{'IW’@EIT 2023) sentence. "The man is searching for a shelter".
1. The dewdrops glitter in the sunshine. Answer Options : (Translator 2022)
2. No man can serve two masters. (1) An adverbial phrase (2) Noun phrase
3. Ishoot an arrow into the air. (3) Adjective phrase (4) Both (1) and (2)
(VP = Verb Phrase, NP = Noun Phrase, PP = 9.  The tall girl wearing a blue frock is my cousin.
Prepositional Phrase, AP = Adjective Phrase, Adv = (Which is a noun phrase in the sentence ?)
Adverb Phrase) (1) The tall girl (TTEET 2021)
(1) VP, NP, PP (2) AjP, Adv, PP (2) ablue frock
(3) VP, AjP, PP (4) VP, PP, NP )
(3) girl
Identify the type of phrase underlined in the follo- 4 The tall eirl ) blue frock
wing sentence. (TSTEET 2023) @ © a7 gl weallne a biue Troe
He got the first division by virtue of hard work. 10. Identify the underlined part in the given sentence.
(1) Noun phrase (2) Adjective phrase The tall girl wearing a blue frock is my cousin.
(3) Adverb phrase (4) Prepositional phrase (TTr@ET 2021)
Identify the clause elements in the given sentence. (1) A simple sentence
‘They call me the Texas Ranger.” (Combined B 2023) (2) Noun head
1) SPOA 2) SPOC (3) Noun phrase
M @) (4) Aclause
(3) SPAO (4) SPCA 11. Identify the noun phrase in the given sentence:
Identify the type of phrase underlined in the "I expect to get a prize." (dASO 2021)
following sentence. (Combined B 2023) (1) Texpect (2) expectto
“The umbrella with a broken handle is mine.’ (3) to geta prize (4) expect
(1) Noun phrase (2) Adverb phrase 12. Read the following sentence. (Combined B 2021)
(3) Adjective phrase  (4) Verbal phrase "Despite her age, she walks steadily".
"I normally go to Mumbeai by train." (dPSI 2023) ] )
. . . The underlined words walks steadily are examples of:
The underlined words in the given sentence are ......
(1) Adjective phrase  (2) Noun phrase (1) Noun phrase
(3) Adverbial phrase  (4) An Article (2) Adjective phrase
Choose the correct phrase to complete the sentence (3) Adverbial phrase
( 2022) (4) None of the above
We waited outside the operation theatre............
(1) in great anxiety (2) at great anxiety 13. Identify the functions (SPOCA) of the underlined
. . . words in the following sentences and choose the
(3) by great anxiety (4) with great anxiety . K
— - correct option for their sequence.
My father was a very good soldier in the Indian dauehier )
Army. (dASO 2022) (a) Your augh.ter li phr_etty. (Combined C 2021)
The underlined part of this sentence is a () He made. 18 wite M'
(1) Verb phrase (2) Noun phrase (Z) He Eaj g?ven tEe g%r: an ggp:_e.
(3) Adjective phrase  (4) Prepositional phrase (d) He had given the girl an apple.
Ans | 1-1|2-4]|3-2]14-3|5-2]|6-4)7-4]8-2|19-4]110-3J11-3|12-3|13-4
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CHAPTER

PARTS OF A SENTENCE

: EXPLANATION

(1) The dewdrops glitter in the sunshine.
e a1 verb phrase 9 371%.
Verb phrase & &g g (a group of words)
Jal sam=T head word (last word of a phrase) T
main verb 3TEdl ST ITRHET BT verb THH SR
T 7l

(2) No man can serve two masters.
Tl 919 noun phrase ¥ 31z,
Noun phrase &T ST&gT=T Th T (a group of words)
37T, S head word (last word of a phrase) Th
Noun 3THdT ST STFTAE BT noun THH 1 Hiid
I,

(3) I shoot an arrow into the air.
Tl 9T prepositional phrase = 318,
Prepositional phrase &1 Sr&gr= a8 (a group of
words) 3T&dl. ST head word (last word of a
phrase) T noun 318l 37T AT phrase =1 Ufger
1&g BT preposition 3T&dI. Prepositional phrase
TrERmE adjective 9 adverb phrases TN &1
i 3.

Prepositional phrase BT STsgr=m HE (a group of words)
3dl. =T head word (last word of a phrase) Th
noun 3TEAl 30T 31 phrase =T qfgeT Iree &1 Preposition
3al.  Prepositional phrase IR adjective d
adverb phrases T %1 Hild 3@d. feoiean wwaTdel
FAYRRG part prepositional phrase 31Tz.

(1) They (Subject) - I I<hI fohaT SqEES I
Sierdl fohan ameRTd S fRam wal, @ subject
e/l 318 TEUTd. Subject (3dl) @1 Do + er =
doer 378 HgT TEUAT.

(2) Call - (Predicate/Verb) - STl g&a fshamam=reh
e, fehell Sl YecHHg Seaeet HElall Al Al
grTal, & verb or predicate “fspamag foham faea’
318 TRV,

(3) Me - (Indirect object) - =Ihl fohar wmoft (wsfia)
T 3A9eT %A (Indirect object) 3 TEUIATA.

(4) The Texas Ranger - (Object Complement) - &gl
noun (1) T adjective (feriswT) amerRmTa 37ef qui
HOIETS direct object (IeTed HH) Fal T degl
T object complement 3 TEUTd.

60

Adjective phrase & &&= 8 (a group of words)

3r9ar. g head word (last word of a phrase) T
adjective 3TEdT ST TN BT adjective THN Hi
Hid IFQl. HITRTET noun T postmodifiers
(prepositional phrase /participle = adjectives) =T I
& ITIATE adjective phrase firesd. feetean st
37eRR&d part prepositional phrase 3TT8.

Noun phrase g1 IIsgT=T Teh g (a group of words)
37!, ST head word (last word of a phrase) T
noun 3T&dl WW@ET noun ¥HH %R Hd
3Tl HIVTE noun 3 premodifiers (determiners
and adjectives) =T 99T sh&d ATIeATAT noun phrase

fireza. feetean geaTdier 319RRad part noun phrase 3712,

Prepositional phrase g1 &g H9E (a group of words)
3. ST head word (last word of a phrase) T
noun AT T AT phrase = UfET 9158 & preposition
Al Prepositional phrase IR adjective d
adverb phrases THM %1 Hid 3.

We waited outside the operation theatre with great
anxiety.

Prepositional phrase g1 &g T8 (a group of
words) Frar. 9= head word (last word of a phrase)
T noun 3TEdT JATOT =1 phraseﬂT"l‘%FlTW%T
preposition 3T&dl. feeiea JwTder IR part

prepositional phrase 371z.

feetea s el STERfEd part noun phrase 3.

feetean gwTdier The tall girl wearing a blue frock &t
noun phrase 318 SRUT o ST subject (dt) Jfiehr/
w1 Hid 3R,

10.

feetean ST The tall girl wearing a blue frock &
noun phrase 31T/ SR ot ST subject (Hat) =t

wftrent /s Hild TR,

11.

feetean yeATdiet to get a prize & noun 318 HROT ot
JTeRITd infinitive phrase =it ‘ﬁfﬁb‘r wid IR,

12.

feeteam Adverb/adverbial phrase &1 Srsgr=r e (a
group of words) 37&dl. SaT=T head word (last word of
a phrase) T adverb 3T&dl 37T IeRHEN & adverb
A R KA ITEdl. ﬁ@w e IR REd part
adverbial phrase 3T8.

13.

MPSC - ENGLISH ANALYSIS BOOSTER
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CHAPTER

CHANGE THE VOICE

Identify the sentence/s in the correct passive voice. | 6. Identify the passive form of the following sentence :
(TT@ET 2023) (T=@an 2022)
(a) Have you been shown the new machine? Someone left the dog alone in the garden.
(b) He hates people keeping him waiting. (1) The dog is left alone by someone in the
(c) He was a mystery man, very little was known garden.
about him. (2) The dog had been left alone by someone in the
(1) Onlya (2) Onlyb garden. .
(3) Onlyc (4) Onlyaandc 3) S;mzone hasllefit tfle dog a}ione 1;1 theb garden.
4 T in t .
‘She gave the boy a book.’ (Combined B 2023) “ ¢ og was feit alonie 1l The garden by someone
Change this sentence into passive voice. 7. (@) Iremember being taken to the Zoo.
(a) The boy was given a book by her. (b) He wants someone to take photographs.
(b) The boy gave a book by her. (c) He should have been told.
) (d) Iwas invited to go. (TSI 2022)
() Abook was given to the boy by her.
O Abook ) her by the b Identify the correct sentence/s in passive voice.
(d) ook was given to her by the boy. (1) Only (a) and (c)
(1) Onlyaandd (2) Onlyaandc (2) Only (b) and (d)
(3) Onlybandd (4) Onlyb (3) Only (a), (b) and (c)
Select the correct option to complete the given (4) Only (a), (c) and (d)
sentence. (Combined B2023) | g [dentify the voice of the following sentences from
'Honest bureaucrats hate to be.......by their........bosses. options given below: (Combined B 2022)
(1) pressured, politically (2) pressurised, political (a) Do not insult the poor.
pressure, politics one of the above et the poor be not insulte
3) liti 4 N f the ab (b) Let the poor b insulted
‘Let Mr. Yadav preside over the conference.’ (1) a- Passive voice, b - Active voice
(Combined B 2023) (2) a-Active voice, b - Passive voice
Which of the following is the correct passive (3) bothaandb are in Active voice
structure corresponding to the sentence above? (4) bothaand b are in Passive voice
- . o .
(1) Let Mr. Yadav to be presided over the conference % Why did he punish you’ (Combined B 2022)
Which of the followi tions is th t
(2) Let the conference to be presided over by Mr. 1 of The ToTOWINS opTons 15 The correc
Yadav passive voice of the above sentence?
. (a) Why you were punished by him?
(3) Let the conference be presided over by Mr. Yadav )
N . ) (b) Why was he punished by you?
(4) Let the conference to preside over by Mr. Yadav (c) Why were you punished by him?
Choose the correct passive form of the given (d) Who was punished by you?
sentence : .(dPSI 2023/ dASO 2015) (1) aonly (2) aandb only
One should keep one's promises. (3) conly (4) canddonly
(1) Promises should have kept. 10.  (a) The hut was filled with smoke. (Combined C 2022)
(2) Promises have been kept. (b) The child was tormented by thirst.
(3) Promises should be keeping. (¢) She was confined to bed with fever.
(4) Promises should be kept. Identify the sentence/s in correct passive voice.
Ans 1-4 | 2-2)|3-2|4-3|5-4|16-4]|7-4|8-2|9-3]110-3
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;¥ CHANGE THE VOICE : EXPLANATION

Tense/Verb Form

Active Voice

Passive Voice

Simple Present

teaches

am/is/are taught

Present Continuous

am/is/are teaching

am/is/are being taught

Present Perfect

have/has taught

have been /has been taught

Simple Past

taught

was/were taught

Past Continuous

was/were teaching

was/were being taught

Past Perfect had taught had been taught
Simple Future shall/will teach shall be/will be taught
Conditional would teach would be taught

Perfect Conditional

would have taught

would have been taught

Present Infinitive

to teach

to be taught

Perfect Infinitive to have taught

to have been taught

Present Participle/

Gerund teaching being taught
Perfect Participle having taught having been taught

(a) &1 STRITd been shown AT present perfect tense =M | 4. Let 3 g% B 91 ¥ imperative sentence & 3TEd o

AT 3§ 1 passive voice ¥ 38 JTIM AR passive voice T (Let + object + be +
(b) 31 91T hates B main verb 3TEgJ simple present V3) AT TEHET SR el Sl

tense 9T AT 318 ST § TR active voice I 3TE. (1) =1 91RIE to be presided =T ST ehi= TR,
(c) 31 1R was known IT simple past tense =T I (2) a1 TR I to be presided =T AR THET IR,

K g passive voice J 3TTe. (3) 1 d1HTA imperative sentence @l passive voice
feeret ame simple past tense HEY 3T T €M objects TR 3
R TR I passive voice T SR . (4) B a9 FEN 3T HAW 1@ be ATV V3 missing
(a) Indirect object J8R 7 99 (was given) passive o
ice & 3TTR. '
b ;’_([)lce e ) b (V2 - 5.  feoret a9 g modal auxiliary verb = 378 d active

®) . - @g;/%e@ maén verd ( t') IE. mglp;%past voice & 3TT&. AT 9TeRITd should & modal verb STaEeT

;Tlse b 3 active VO.ICG 3R, QT passive voice HAHT (Object + modal

t t

(¢) 1fec %o 3;_;: J9R & 919 (was given) passive verbs + be + V) 379t T 5 X ;

volee a . . . 3. (4) Promises should be kept & I 3T AsA.
(d) ® 9T passive voice I 3R W ITd subject 3T . . .

6. ﬁﬁﬁ 919 simple past tense 3T d active voice 9

object = ATl Ay THEATYS 7 TART I IR,

72

feeTet a2 passive of to be o 3118 FeU[ fehme STt
pressurised 3T political & words Adiat.
Honest bureaucrats hate to be pressurised by their

political bosses.
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SIDIRECT AND INDIRECT SPEECH

Choose the correct indirect speech sentence from
(Te=@an 2023)

The magician said to the boy, "make haste and give me

the following sentences:

the lamp."

(1) The magician told the boy to make haste and gave
me the lamp.

(2) The magician commanded the boy to make haste
and to give him the lamp.

(3) The magician urged the boy to make haste and
gave him the lamp.

(4) The magician to the boy making haste and giving

me the lamp.

Find the correct indirect speech sentence for

He said, "I shall go home." (Combined C 2023)
(1) He says that he shall go home.

(2) He said that he shall go home.

(3) He said that he would go home.

(4) He says that he would go home.

Choose the correct reported speech of the following

(Combined C 2023)

He said, "I do not wish to see any of you; go away."

(1) He said that he did not wish to see any of them
and ordered them to go away.

(2) He told that he did not wish to see any one of them
and punished them to went away.

(3) He exclaimed them that he did not wish to see
them and even told them to go away.

sentence.

(4) He said to them that he did not wish to see anyone
of them and told them to go away.

The poet said, "Let not ambition mock their useful
toil."

Select the correct indirect narration of the above.
(dASO 2023)
(1) The poet said that ambition should not mock their

Answer Options :

useful toil.

(2) The poet told that ambition shall not mock their
useful toil.

(3) The poet wished that ambition will not mock at
their useful toil.

(4) The poet said that ambition should not mock at its

useful toil.

Choose correct sentence in indirect speech of the
(U@ 2022)
The Sub-inspector told the constable, "You shall do
extra duty for three days."
(1) The Sub-inspector told the constable

You should do extra duty for three days.
(2) The Sub-inspector told the constable that

he should do extra duty for three days.
(3) The Sub-inspector told the constable that

he shall do extra duty for three days.
(4) The Sub-inspector asked the constable that

he shall do extra duty for three days.

given sentence.

"When shall I know the result of the test ?" she asked.

Select the correct indirect narration of the above

(T=rEET 2022)

(1) She asked when she would know the result of the
test.

(2) She asked when would she know the result of the
test.

(3) She asked if she would know the result of the test.

(4) She asked whether she knew the result of the test.

sentence.

The doctor asked the patient, "Did you eat anything

this morning ?" (Combined B 2022)

(Change into indirect speech)

(1) The doctor asked the patient if he ate anything
that morning.

(2) The doctor asked the patient that whether he had
eaten anything that morning.

(3) The doctor asked the patient whether he had been
eaten anything that morning.

(4) The doctor asked the patient whether he had eaten

anything that morning.

He said, "I went to my friend's house yesterday".

Identify the sentence written in correct indirect

narration. (Combined B 2022)
(1) He said that he had gone to his friend's house
yesterday.

Direct and Indirect Speech

Ans | 1-2 )| 2-3 | 3-1)|4-1)|5-2]6-1]7-4|8-2

P——\
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DIRECT AND INDIRECT SPEECH

: EXPLANATION

Direct speech

Indirect speech

Am/is /are Was/were

Was/were had been

Have/has had

Do not/Does not did not

Did not had not

Have had (Perfect present) had had (perfect past)
Had (Simple past) had had (perfect past)
Simple present (V' / V°) simple past (V?)

Continuous present

continuous past

Perfect present

perfect past

Perfect continuous present

perfect continuous past

Simple past perfect past
Continuous past past perfect continuous
Perfect past no change

Shall should

Will would

Can could

May might

Must, Could, Would must/had to, could, would
Need not need not

Dare not dare not

Ought to ought to

Used to used to

Am to/is to/are to

was to/were to

Am/is/are going to was/were going to
Have to/has to had to

Shall have to should have to
Will have to would have to
Am/is/are likely to was/were likely to

MPSC - ENGLISH ANALYSIS BOOSTER
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1.

(= SN, Shaikh Publication, Pune
feetel I 2 imperative sentence 3THeATIe
indirect speech HE FUTAT SHIATAT STFITAT SFATIHTOT
commanded ¥ reporting verb Hdet get. Imperative
sentence BT 3THETS to & connective dat
EIEGRCICEI R T AT verb o 8 ¥4 V! Fdet
HSe.

(1) ¥ 97 command i TTE WY indirect
speech =1 fRMAR FIAEH 3], 999 I told
T reporting verb =T ATH Feh=T TR,

(2) =1 9TFETd command AT 3TeIEl TR, Indirect
speech =T fRmTER &1 T SR 3R,

(3) &1 IRITd command AT JATAAT A& T8 A1d
urged 3T reporting verb =T TR =T TR ST
gave AT verb =T AT T 37,

(4) B 99 indirect speech =T fRmTAR FfEH IR,

SR shall & future ST 3THS R HEETIETY first person

(I, we) |11 should 3ATfOT second/third (you, he, she, it,

they) &St would TR .

(1) 31 9RITE reporting verb (says) 37T tense
construcrion (shall go) ?ﬂ'ﬁﬁ TR

(2) 31 9T tense construcrion (shall go) Feheiel
TR,

(3) Indirect speech =1 fHaTER &1 T SR 3R,

(4) 31 91T reporting verb (says) ﬂﬂﬁ?‘l‘l IR,

feetean areTdie reported speech A& H sentences

3R, Ufged IR simple present tense = AT

simple past tense TN BEe, W gﬂi 9T imperative
sentence 37T8.

(1) fecioam a@ma simple past tense T8 ordered IT
reporting verb =T ST I 3R,

(2) fesioam a@TE told AT reporting verb =T AR
FehIET 3R SRV feetea AR speaker e
listener A&,

(3) feoiean s exclaimed 3T reporting verb =T
IR eI 3R HRT feetel 9 2 exclamatory
sentence Tal.

(4) fecioan ae@Ta said 31 reporting verb Fa to =T
IR FehIET 3T, Indirect speech HEY said T to
A AT

auxiliary verb =T S0 gl ATl shall 3T present
modal verb =T AR FhET 3R,

(3) Indirect speech ey Tl past FHAT modal
auxiliary verb =T 9T gl AT will T present
modal verb =T IR FehI=T 3R,

(4) fecioan arRmAE its AT possessive adjective =T

TR FhIET IR,

1) feeten e you T pronoun =T dT9T ﬂ@?ﬂ 3R,

(2) fecien amEmE you UaSit he =T 9T indirect
speech =T FRMTIAR R 31Tz,

(3) feoiean SR shall =1 9T FehH=aT TG HoATd
T 37T,

4) feoiean aremaeEiel shall =1 aTR Fehream IgdH
FHITT AT TR,

feetet I WH question = 3T I conjunction

(connective) FUH ATHRITd JATAAT same WH word ==

TR BT ATl

(1) Indirect speech =aT FEWTER B 9T Se 37T,

(2) I 9T would =T ST she 3T pronoun 3TTe
Shlell S df Fehla 3T, @ she T ARIEA
e

(3) I ARG if AT connective T AT FhET IR,

(4) =1 STITd whether AT connective =T ATHR FehiaT

.

feoiet a9 Let = imperative sentence 3T 31 STeRITd

suggestion/order/command 3eITE UATd HATeIedl 3124,

(1) feetean ame@md should 3T modal verb =T 9T TH=
TR TUTHER B indirect speech TE STerT=h
T A 3R,

(2) Indirect speech A& JgHl past 31T modal

feotet @@ verbal question TEUNIE yes - no type

question o 3 I indirect speech TE FUTAR HLATT

asked AT reporting verb =T ST HelT JTSA. Simple

past tense El % EICRRC T T TR past perfect

tense HEY ‘zﬁ's“c_'f a9 if fham whether a1 conjunction

J I e STEE.

(1) I TR simple past tense I IR 31T &
Elca) ﬂ'ﬁ% 3R, A perfect past tense JTHIAT
&1 Bl

(2) 31 91T €F conjunctions (that, whether) =T
Tred FT9R HOATT ITTAT 3T & aT I 3772,

(3) 1 9TRTA perfect past tense WEAE passive voice
T TR helell I 1 FehraT 37, dY B
perfect past tense =T active voice UTf&s.

(4) I 91T indirect speech =T ﬁ'ﬂ'ﬁ'lg&l‘l’(
conjunction 989 perfect past tense JT=T AT AR
FHOATT AT 3TTR.
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CHAPTER

TYPES OF SENTENCES

Which of the following is/are the correct negative
(Combined B 2023)
"We admit that we went to see a film.”

(a) We admit that we did not go to see the film.

(b) We admit going not to see a film

sentence/s for -

(¢) We deny that we did not go to see a film.
(d) We do not deny that we went to see a film.
(1) Onlyaandc (2) Onlyb

(3) Onlybandc (4) Onlyd

Choose the correct sentences :

(a) Can you tell me why you're interested in an
administrative career ?

(b) Can you tell me why you are late?

(c) Do you think does your name indicate your
personality ?

Answer Options :

(1) (c)only (2) (a)and (b) only

(3) (b)and (c) only (4) (a), (b)and (c)

(Combined C 2023)

"Travelling by metro is better than travelling by bus."
If this sentence is changed into negative, the

(dPSI 2023)
(1) Travelling by metro is not better than travelling

form of sentence will be :

by bus.

(2) Travelling by bus is not better than travelling by
metro.

(3) Travelling by bus is not as good as travelling by
metro.

(4) Travelling by metro is not as good as travelling by
bus.

Choose the correct exclamatory sentence option of
(Tre=@an 2022)
It is sad to think that youth should pass away.

(1) Oh, sad to think that youth should pass away!

(2) Alas that youth should pass away!

(3) Wow, youth is so beautiful!

(4) How if youth will never pass away!

the following statement:

'Stop talking'.
Which of the following sentences changes the above

imperative sentence into an interrogative sentence?

(a) Did you stop talking ?
(b) Would you stop talking ?
(c) Will you stop talking ?
(d) Shall you stop talking
Answer Options :
(1) (d)only

(3) (c)only

(Combined B 2022)
(2) (b) only
(4) (a) only

Match the following : (Combined C 2022)
A B
(a) Be careful (i) Interrogative

(b) How careful you (ii) Declarative
are!
(¢) You are careful.
(d) Are you careful?
Answer Options :
@ ) (© @

(1) iv i i i

(ii1) Exclamatory

(iv) Imperative

@ i i v il
G) i iv i il
@) ii i i v

Choose the best equivalent sentence.
It’s difficult to play a saxophone.
Answer Options : (Steno Typist 2022)
(1) A saxophone is difficult to play.

(2) Difficult it is to play a saxophone.

(3) To playing a saxophone is difficult.

(4) A saxophone is difficult for playing

Read the following sentence. (Translator 2022)
"Travelling by metro is better than travelling by bus."
Identify the kind of sentence from the given options.
(1) Affirmative (2) Positive

(3) Comparative (4) Assertive

As soon as I saw the advertisement, I emailed my C.V.
(TT@ET 2021)
[Make it Negative without changing its meaning]
(a) I did not see the advertisement and emailed my
C.V.

(b) Isaw the advertisement and did not email my C.V.

Types of Sentences

Ans 1-4 | 2-2)3-3|14-2)|5-3})6-1]7-1]8-1]9-4

b
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CHAPTER

7 TYPES OF SENTENCES
: EXPLANATION

AT TR

[ Types of Sentencesj

\

Y

[Assertlve Sentence [Imperatlve Sentencej [

Y
Interrogative Sentence Exclamatory Sentence
Tl AT

\ 4

Afﬁrmatlve Negative
Sentence Sentence

\ 4

Wh type question Yes/No type
questl()n

We admit that we went to see a film.

Affirmative = negative e negative = affirmative
M g AR Y TRET SEEe! Iias. =TER
T 3. (4) We do not deny that we went to see a film.
g IW AT,

(a) Can you tell me why you're interested in an
administrative career ? v/
T 9TeITd g direct questions Ad ATEIG. S €
question I 3THAA T Th direct question TETET
T gHU indirect question 3TETET. AT frmER 2
T TR TR,
1. Can you tell me ? (Direct question)
2. Why you are interested in an administrative

career. (Indirect question)

(b) Can you tell me why you are late? v/
7 e 9T 3TEF AT can =T TR you 3eft
= {4 3IeT™, @8 why ® 919 statement
IS B TR TSR TR,

(¢) Do you think does your name indicate your
personality ? x
B A1 T SR A9 e o B, A
IRITA I S question 3TEH & 9T statement
=T TEIT S e,
Do you think your name indicates your

personality? v/
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Travelling by metro is better than travelling by bus .
Affirmative ¥ negative fhaT negative ¥ affirmative
AT 61 AT 31 T SR et ALER
I . (3) ® AP IW 5. Travelling by bus is not

as good as travelling by metro.v’

Assertive sentence ¥ exclamatory sentence T&¥ FTaR
AT ST EATd what a/an fhaT how = &1 3/d
THE IR SFAER T adverb gl Seerd
3TEd TEE § AT T W AT @ WiET =
A B A A A 3.(2) IS,

feeret a8 imperative sentence = 3THT
interrogative sentence aMT will AT auxiliary verb 3
T FEAT BT HIRUT SR request holed! 318,
SIS 991 3. (3) will you stop talking? 318 ==
I ALA.

(a) Be careful a1 STRIT= EaTa V! A Seiel A @
imperative sentence ¥ 371z.

(b) How careful you are! g aTe exclamatory
sentence ¥ 318, 0T IR FEATd how & FTedt
3T IR G exclamation mark 3TTR.

(¢c) feoiet a9 statement Tevror faemneff T a8
RO AT FEATd you 3T subject J FTeA 3T
TRt I full stop 3R,

d) feorct T 2 interrogative sentence 9 312 SR
STeRIT= Feald are AT helping verb 3 et 3T
TEREITEAT I question mark 37T,

It is difficult to play a saxophone.
T IR equivalent TEUST HHM 312 STEUINT e
QAT I3, A saxophone is difficult to play.

Travelling by metro is better than travelling by bus. 2
a1 affirmative sentence (ferameff smerr) 3R, HR0

T HIVIAE! ThREIh 6a HToiel AT,

115
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Identify the part of speech of the underlined words
in the following sentences and choose the correct
option of their sequence. (Combined C 2022)
(a) Heis a brave king.

(b) My friend did it quite correctly.

(c) Oh! She looks beautiful.

(d) Behind the house, there is a garden.

Answer Options :

(1) Adverb, Adjective, Interjection, Preposition

(2) Adjective, Adverb, Interjection, Preposition

(3) Adverb, Noun, Interjection, Pronoun

(4) Noun, Adjective, Interjection, Preposition

How many parts of speech are there in English
language? (Clerk Typist 2014)
(1) Four (2) Seven

(3) Eight (4) Six

Which part of speech the word ‘above’ belongs to in
the given sentence? (ASO 2013)
The moral law is above the civil.

(1) Noun (2) Adjective

(3) Preposition (4) Adverb

I don't know anything till now regarding
@ @) (i) Gv) (V) (v)  (vid)
her  affair.
(viii)  (ix)
The parts of speech of Word No. (iv) and (vii)
respectively are: (MES 2013)
(1) noun and verb
(2) pronoun and verb
(3) pronoun and preposition

(4) pronoun and adverb Ans: 3

The two ugly boys had gone home just now.

The parts of speech of the underlined words
respectively are (PSI 2011)
(1) Adverb, Noun

(2) Adjective, Adverb

(3) Adjective, Noun

(4) Adverb, Adverb

It is a terribly hot climate. (PSI2011)
Identify the parts of speech of the underlined words.
(1) Main verb, Adjective, Adverb

(2) Aux verb, Adverb, Adjective

(3) Main verb, Adverb, Adjective

(4) Aux verb, Adjective, Adverb

Which one of the following alternatives is not a
‘part of speech’ (kind of word) ? (dPSI 2011)
(2) verb

(4) proverb

Self Notes

(1) noun
(3) adjective

Ans
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CHAPTER

NOUN

CASE, GENDER & NUMBER

Identify the incorrect sentence/s (TrEET 2023) (1) ais incorrect b correct
(a) His trouser is torn. (2) both a and b are incorrect
(b) The gentry of the town were invited. (3) ais correct b is incorrect
(c) His hairs are all black. (4) both a and b are correct
(d) Ten thousand dollar is a big sum. 7. Read the following sentences carefully and find out
(1) Onlyaandd (2) Onlya,bandc the correct answer from the options below.
(3) Onlybandd (4) Onlyaandc (a) John ?s my cous%n brother (Combined B 2022)
Choose the correct sentences : (dPSI 2023) (b) Jo.hr? 1S my Cous'm'
(a) The table’s leg was broken. (;) a ?s 1ncorr:i;c b 1.s correc:
(b) The cover of the book was beautiful. (2) ais correct bis n'lcorrec
(¢) The house’s roof was painted. Ei; :Ogll a anj : are 1ncorret:ct
oth a and b are correc
Answer options:
(1) (b onl ) (a)and (c) onl 8. (Combined C 2022/Excise 2017)
Y Y (a) The luggages are in the cloakroom.
(3) (b) and (c) only ) (@) (b)and(c) (b) He gave me two dozen oranges
Fill in the blanks. (e 2022 '
This mi st i ) (c) The table's leg is broken.
is misogynist ............ all...........
D hat & therin.l (d) For goodness' sake forgive me!
(1) hate, mo er-11.1- aws Identify the sentence/s grammatically correct.
(2) hates, mother-in-laws (1) Only (a) and (¢)
Y
(3) hates, mothers-in-law (2) Only (b)and (d)
(4) hate, mothers-in-law (3) Only (a), (b) and (c)
(a) The table's leg is broken. (T==@aT 2022) (4) Only (a)’ (b) and (d)
b) They had a two hour talk. -
®) H ey e ba wof Oilr a q 9. Choose the correct sentences. (TST@ET 2021)
t tt .
(¢) He was absent for last two days (a) If your braces is loose your trousers comes down.
Identify the sentence/s grammatically correct. i i
(1) Only @and(c) (2) Only (b)and (c) (b) These premises look too big.
n and (c n a

viwan Y nete (c) Are the old always wiser than the young ?
(3) Only (©) (4) Only ®) Answer Options:
Identify the kind of noun the underlined word is in (1) Only (b) and (c)
the following sentence: (Combined B 2022) (2) Only (a) and ()
The table is made of wood. (3) Only (a) and (b)
(1) Common noun (2) Proper noun 4) (a), (b)and ()
(3) Material noun (4) Collective noun - 10. ... is the correct compound noun in the plural
Read the sentences carefully and find out which form. (Combined B 2021)
one of the two is incorrect/correct from the options (a) Brothers-in-law (b) Brother-in-laws
given below. (Combined B 2022) (c) Brothers-ins-laws (d) Brethren-in-law
(a) The insurance company has to pay for the Answer Options :
. ielilmz.iges to my scooter. ) N (1) (b)only 2) (c)only

e insurance company has to pay for the damage
3) (d)onl 4) (a)onl
to my scooter. @) (@ only () (a) only
Ans 1-4 | 2-1 3-3 4-4 5-3 6-1 7-1 8§-2 1 9-1|10-4

MPSC - ENGLISH ANALYSIS BOOSTER

123

Noun



UNoN

1.

CHAPTER

NOUN : EXPLANATION

CASE, GENDER & NUMBER

(a) Spectacles, goggles, binoculars, scissors, pincers,
pants, trousers, briefs, braces, clothes, amends,
shorts, pliers, bellows, dividers, glasses, tongs,
annals, arrears, ruins, archives, odds, bygones,
congratulations, premises, auspices, movables,
earnings, embers, fetters, entrails, immovables,
valuables, regards, riches, nuptials, obsequies,
proceeds, outskirts particulars, sweets, remains,
thanks, savings, tidings, surroundings, winnings,
belonging, dues etc. & nouns plural 3TT&d.
Trousers & noun, plural 378 T MM UM
verb & plural ¥ I5A. & I I TR,

(b) People, police, clergy, cattle, gentry, infantry,

cavalry, vermin, poultry, peasantry, yeomanry,

children, nobility, admiralty, folk etc. & AT form
el singular 3ddrd ‘T{@ functionﬁ HHEA plura] 3Edrd.

Gentry & noun, plural 378, WHER @T=ATEEd

plural verb IS, 7 AT SR IR

Hair & uncountable noun 37HeaHe &= plural

BId T8, =AY SR two, three, four 3/ digit

A 6B @M= common noun Fd. & T

=% AR,

Hundred, thousand, lakh, crore, million, billion,

(c)

(d)
trillion, meter, foot, dozen, score, pair etc. ST 3T
numeral nouns =1 3ER TETET definite number
(fafvea Tw@am) =1 ST S 3 A AT nouns AT
plural 3Hha=HT el AT 16l & AT TS T8,

frsffa a&qeft possessive case (W8t faw=hr) of =t

phrase STTEA AT, S a9 T TR

(b) Trsffa a&q=f possessive case of =t phrase aTTEA
AT, & T S 3T,

(c) Trsffa s&q=t possessive case of = phrase aTTEA

AT, T TR o 3R,

()

Mother - in - law T compound noun 3 plural mothers-
in-law 318 B4 37T misogynist B singular subject
IS AAFM verb singular Jga1 TeU b
S hates 3T mothers-in-law &1 91T J3a1.

130

(a) fsffa &=t possessive case (WE fawwhl) of =f
phrase STTEA HTATd, S I IH IR,
The leg of the table is broken. v/

(b) T TR TR FEHHAR U 3118

(¢) Simple present tense & simple past tense A& since
1 for phrases ST ATd AT&Id, S TR I

.

5. ﬁﬁ?ﬂ 91eRITd wood @ material noun 3T2.

6. (a) Damage 2 uncountable noun 31'8?11‘5@ SIE]
plural EUIR TT&. 7 9T Ih 3R,

Damage 2 uncountable noun 3THeITHe3 d &H!
singular form 94 fafget Sd. 7 a1 S 3R,

(b)

Cousin a7 noun HIsd brother, sister 8 nouns TR
ST ARG, 7 9T T IR,
T (a) T fectean FRETHER 7 o ste 312,

7. (a)

(b)

Luggage & uncountable noun 378, @1 singular

FUTTE 315, TV naef I verb @A
singular = IEd. B I I R,

Two dozen oranges & ITRIEHT noun =T FHIHTER
frsfia a&q= possessive case (WEI fawwhl) of =t
phrase STT&EA HIATT. & I Teh 378,

For goodness' sake & T&HT possessive case T

[EREISSEEENENE

(b)

()]

(@)

Braces 37U trousers & pluarl nouns 37HeAT e
A AR verb <@ pluarl 561, § I IH
TR,

Premises & plual noun 378, =& plual verb
=1 I STEAM 2 T S 3R,

The old and the young & plural, common nouns
3T, TR QMR plural, verb I$A. 7 T T
TR,

(b)

()

10.  Brothers- in-law & ™ compound plural noun 3Tg.

#11. (a) Singular @ plural =1 FEEHER g T SR
TR,

Five dozen mangoes & JT&RIGEHT noun =T
frTER St IR,

Trousers  plural noun 38T T singular
foafect S &, 2 e 9% IR,

News & uncountable noun 3THeTge 1 FgH!
singular 3Hdl. g 9T SUET 3778,

BT 9% SRS & AT STl 318, HRUT T
(a), (b) and (d) ® TaTT feciean Swra .

(b)

(©

)
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CHAPTER

PRONOUN

1.  Identify the correct sentence/s. (TsT@at 2023) | 6. Match the following: (Combined C 2023)
(a) The fire spread through the building quickly but (a) Demonstrative (i) myself, herself
everybody could escape. pronouns
(b) The phone is ringing. It can be Tim. (b) Emphatic pronouns (if) what, which
(c) What do I have to do to get a driving licence? (¢) Interrogative pronouns (i) anyor;e,d
everybo
(1) Onlya (@) Only® (d) Indefinite pronouns (iv) Thi:,y thaty
(3) Onlyc (4) Onlyaandb .
Answer Options:
2. ‘I do my work myself.’ (Combined B 2023) (1) (@) - (iii), (b) - (i). (¢) - (i), (d) - (iv)
Identify the type of the pronoun underlined in @) (@) - (iv), (b) - Q). (€) - (i), (d) - (i)
the above sentence. (3) @<, (b) - (), () - (), (d) - i)
() Relative (2) Reflexive (4) @), () - (i), (©) - (i), (@) - (i)
(3) Emphatic (4) Personal 7.  Identify the grammatically correct sentence/s.
#3. Itis always desirable / to listen to the advice / (a) He is the man whom we all respect.
(a) (b) (b) Idon't know why she like dogs.
who have extensive practical experience  No error (c) His endeavours needs to be rewarded.
(c) (d) (d) Give me some food which I may eat.
Spot the error in the above sentence. If no error Answer Options : (Combined C 2023)
choose (d). Combined C 2023 (1) (2)and(b)only  (2) (b)and(c)only
1) (a)( ) @) (b)( ) (3) (a)and (d) only (4) (a)and (c) only
3) (© @ 8. Choose the correct sentences. (dASO 2023)
- (a) That idea of your is excellent.
4. pronouns are always singular. (b) This book s his.
Which of the following correctly fills in the blank in () That baby has torn it's clothes.
the sentence above? Answer Options :
(a) Reciprocal (b) Relative (1) aonly (2) bonly
(c) Personal (d) Distributive (3) bandc only (4) a,bandc
Answer Options : (Combined C2023) | 9, (a) One must take care of one's health.
(1) (c)only (2) (a)only (b) Who they were I can't say. (Tre=r@en 2022)
(3) (d) only (4) both (b) and (d) (¢) My brother that is a school master is forty.
5. (a) Itis I who am to blame. (d) Each and every member of the club was present.
(b) TItis I who is to blame. Identify the sentence/s grammatically correct.
(c) It is me who is to blame. (1) Only (a) and (b)
(d) TItis I who is to be blamed. (2) Only (b) and (c)
Which of the above is/are the correct sentence/ (3) Only (a), (b) and (c)
sentences in respect of Relative Pronoun (4) Only () and (d)
agreement ? (Combined C 2023) 10. (a) Ram or Hari must lend his hand.
(1) (b) only (2) both (a) and (d) (b) He and myself were working together.
(3) (a)only 4) (c)only (¢) None but the brave deserves the fair.
Ans 1-3 | 2-3|3-#|4-3|5-316-2)|7-3|8-21]29-1]10-1
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CHAPTER

PRONOUN : EXPLANATION

S. N. Pronouns Examples
1. Personal Pronoun I, we, you, he, she, it, they
Mpyself, herself, yourselves , itself,
24 Reflexive Pronoun
himself, herself, ourselves, themselves
Myself, ourselves, himself, yourselves,
3. Emphatic Pronoun
herself, itself, themselves
4. Demonstrative Pronoun This, that, these, those, such, yonder
5. Interrogative Pronoun Who, whom, whose, what, which etc.
6. Distributive Pronoun Each, either, neither
7. Reciprocal Pronoun Each other, one another
All, one, someone, anyone, everyone,
no one, other, few, somebody, nobody,
8. Indefinite Pronoun everybody, anybody, some,
something, everything, anything,
nothing etc.
Who, whom, whose, which that, what,
9. Relative Pronoun
but, as
10. Exclamatory Pronoun What !
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(a) B I compound sentence 38 1A g Toad
T feereft 31m8d T but AT conjunction VESf d
however 3THRT UTEN 2d. 8 999 Ih IR,

(b) Possibility or uncertainty eXifevITEE could &
modal verb STHRET SITAl. & TR T 3T

(¢) ® 9T interrogative pronoun TAT FRMTIAR sTeX
TR,

Emphatic and reflexive pronouns U 3T&d. Siegl
FAM Wa: Pl hell 7 AR HA WA S de@T
emphatic pronoun 9T . Emphatic pronoun =
¥ noun, pronoun and object‘-i?r{ 3. ﬁﬁw JTRITd
underlined eIl &g myself & emphatic pronoun

T8

#3.

TehT faf¥Te TeTer W SueTaTel, W wifed gRtfeva-
T, e TBSvATETSt who 3T relative pronoun 3Teft
of those AT ATd. St aTERITd who T relative
pronoun 3TEf antecedent UATA STTTeT ATEY TRUA =T
T SN TE helell 3718,

MPSC - ENGLISH ANALYSIS BOOSTER

Reciprocal pronouns - TEHR TEHEIh Ta-TH : JgHl
plural (3eha=rt) 3TEdm.

For E.g.

Each other - S =<kl fohan awqama!

One another — SFYET T Seh! fehal a@Ta!
Relative pronouns - eeft &M : § singular T&=
plural SIFEl BUTd a9l STdTd, R0 o antecedent X
TSI AT,

For E.g.

Who, whom , which, that etc.

Personal pronouns - JeSaT=e H&4TH : ¥ singular
T8 plural S-8! UG SIS,

For E.g.

First person

Singular - I

Plural - we

Second person

Singular - you

Plural - you

Third person

Singular - he, she, it

Plural - they

Distributive Pronouns - e gd-m : § 98t
singular pronouns (Tshaa- TEM ) TEUM 1 HLATd.
For E.g.

Each, either, neither

g frewren STft distributive 81 W I

et 9R STem™el ®h 991T 3. (a) It is T who am to
blame ¥ 919 relative pronoun 3T == antecedent

=7 FRMHER st 3R,

Pronouns Examples

(a) Demonstrative Pronoun - this, that

(b) Emphatic Pronoun - myself, herself
(¢) Interrogative Pronoun - what, which
(d) Indefinite Pronoun - anyone, everybody

(a) Tt 919 relative pronoun, whom EEIER ]
38, Whom 3T relative pronoun =T a9 object
TEU SHRAIETS! el ST, AR & o1 sisT
M.

(b) feorat T why 3 et 3R ‘T{@ 1 FreRmEe why
FA AT like AT verb T s, es TedT Sl
STSST <hIUT ST subject & singular pronoun,
she 378, g a9 b IR,

(¢c) fecioam a@Ta endeavours & subject 3R 3mfor ar
plural WRIT&@ H® IV verb & plural,
need I3, § 9T Ieh 3R,

(d) Which 31 relative pronoun =1 ar fsffer TE]

g MSTaTE! kel Sl A1 JreRTd food SRR
which 1 relative pronoun =T T I qgedH
HOATT AT 312, 7 AT S 37T

(a) I ITRTG your AT possessive adjective TS yours
& possessive pronoun UTfEsl. 8 I I 37,

(b) feoiean aTeRITA possessive pronoun his =T AR AR
Gl HToATT AT TS, & TR S 3R,

(¢) Tt's=m 37 it is 37T BIaT mUEs 49 its &l
possessive adjective ITf&st.

Note :

Possessive adjectives, noun 3Tl JaTd, @ possessive

pronoun, noun INCIRRETH Qﬁ Jqra.

(a) One AT indefinite pronoun = possessive case et
one's 3731 fAfgama. & ame SR 3R,

(b) fea™ a9 noun clause as object of verb I 3R
T real sentence, I can't say say who they were
38 B, TR 9 full stop TS 7 IR
e Tl 3.

(c) fectean areTa that A0 relative pronoun Sl aY
SATETST who BT relative pronoun TTfgst. & areR
I 3.

(d) feotean areRTd each and every &1 ST singular
subject 3TEH STRITAIA was 3T singular verb =T IR
a1 el AT AT 38 TV 7 WA e
TR IR.
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ADJECTIVE

He was the most ............ composer of his time. (Invent)

Use the correct adjective form of the word given in

the bracket. (Tr=@an 2023)

(1) inventor (2) invention

(d) Gopal is senior to you by two years.
Identify the sentence/s grammatically correct.
(1) Only (a) and (c) (2) Only (b) and (c)
(3) Only(a)and(d) (4) Only (c)and (d)

(3) invent (4) inventive
Fill in the blanks: (T==@aT 2023)
A new born infant's ............. skills are not fully.......... ,

for it can not discern images more than 10 inches away.
(1) olfactory, shared  (2) descriptive, ripened

(3) visual, developed (4) average, familiar

‘The small child was crying for ......... mother.’
Which of the following correctly agrees with the
underlined subject noun in the sentence above?

(Combined B 2023)
(1) his (2) her
(3) their (4) its
They perform the same................ tasks all day.

Select the correct word to complete the sentence
(Combined C 2023)

(2) replete

(4) replacing

meaningfully.
(1) repetition
(3) repetitive

Choose the correct sentences. (dASO 2023)
(a) The most boys like cricket.

(b) There are no any pictures in this book.

(¢) He showed much patience.

Answer Options:

(1) conly (2) aandb only

(3) bandconly (4) a,bandc

Identify the grammatical class of the underlined
(=@ 2022)

word in the sentence :

e.g. They are school children.

(a) Noun (b) Adjective
(¢) Verb (d) Adverb
Answer Options :

(1) Only (b) (2) Only (c)
(3) Only (d) (4) Only (a)

(a) Many a time I remembered you.
(b) This calf is elder than that.

(c) My income is lesser than yours.

(TTEET 2022)

Which one of the following sentences is wrong/
(Combined B 2022)
(a) Those sort of messages are not to my taste.

incorrect?

(b) Those sort of messages is not to my taste.
(1) aiswrong b is correct

(2) ais correct b is wrong

(3) both a and b are correct

(4) both a and b are incorrect

Identify the type of adjective underlined in the
given example: (TT@ET 2021)
e.g. This is the very book I want.

(a) Possessive adjective (b) Adjective of quality
(c) Numeral adjective  (d) Emphasizing adjective
Answer Options :
(1) Only (¢)

(3) Only (a)

(2) Only (d)
(4) Only (b)

10.

Identify the part of the following sentence that
(Combined C 2022)
'"These kind of dresses seem to be expensive

(a) (b)
but it is relatively economical to maintain them.

© (d)

Answer Options :

(1) (a) 2) () B) (©) “4) (@

contains grammatical error.

11.

Identify the correct sentence/s. (Combined C 2022)
(a) The glass feels smooth.

(b) The plant grew quickly.

(c) Bangalore is a worth seeing city.

Answer Options :

(1) Only(a)and (b)  (2) Only (a) and (c)

(3) Only(b)and(c) (4) Only (c)

12.

Fill in the two blanks in the following sentence.
ATC .oovviiit e, roses in the garden? (dASO 2022)
(1) there, much (2) those, much

(3) there, any (4) this, any

Ans | 1-4|2-3]13-4|4-3|5-1}J6-1) 7-3

8-11]19-2 10-1)11-1}12-3
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CHAPTER

ADJECTIVE:

Noun 3Tt UM 315 T 54T adjective 3l e
Sft inventive & adjective 9T 931 I35,

Noun 3TTeft U w15¢ & 84T adjective &, Adverb
7T adjective €1 ATfE TTa 37ar. feprn Smft visual
3T developed 3T adjectives =T TaTT A,

Child 3T singular noun "1l possessive adjective TUH
itts =T ST ST ST, TgUA Fhreanm STt its AT possessive
adjective =1 ERIEIDE

Noun 3TTeft JUTRT 165 &1 984T adjective &, e
STft repetitive 3T adjective =T 9 ASA.

(a) feotean ameRTd most AT adjective 3Tl the AT article
< TS AT, 7 9T g IR,

(b) THE T @RS g adjectives TR T
ATET. A1 AT any TS AR 2§ ST G TR,

(¢) Uncountable noun @&d much & adjective &l
SRS STl © I SR 3778,

fectea ared school S noun 31« a1 function ¥
AT adjective 318 SR & TIM 2 noun 3ef 3172,

(a) Repeated action HTdI many a time &l phrase STaTel
T 3T A AR subject T verb 7 gal
singular AT, § 99 SR 378,

(b) Elder 2 adjective TR SATehT=l qeiT hLUATHTST
qIRATd I3AC older B adjective RAA =<hI,
yroft, a%q, Tered, Tres AT T HLOATETST I
EIIREICIEI elderﬁﬁﬁﬁ olderg adjective IR
B 9T I IR,

(¢) Comparative degree T ol HLATEATS! lesser
WW?@IGSSWW.%W%E@.

(d) Senior, junior, superior, inferior, preferable,

prefer etc. adjectives T to AT ITd. B TR
U 3R,

(a) Those sort of things/messages & phrase TehadHt
THSE! ST, HER verb SEIA singular =1 3Id. A1
CIESIKNE areﬁ@lﬁﬁ isa'gﬁ. %WEEF IR,

(b) T (a) <A1 THERIIAR @ ST TS 3.

TETE] S SMHYY HISUITETS! I A= TIHOMH SR fSvamaTst
noun &l STILET ST adjective & emphasizing
adjective 318 TEUIATd. Own 3ATIT very =T 9T noun i
e ot emphasizing adjectives 31dTd.

154

EXPLANATION

10. These ® plural demonstrative adjective 3THcATHe3
A IV noun SETA plural TTfEst. 1 aTeR—ITd part

(a) H=A error 3R, a9 kind TaSht kinds W&,

11. (a) Linking verbs Fa adjective aToell ST, adverb
IO ST ATE. & T SIS 3.

(b) Grow 3T intransitive verb W‘g@ M@ adverb
It B T S IR,

(¢) Worth seeing & adjective phrase 318, dt aTeTd
AT noun city @ modify id 38, d¥ a
worth seeing city TSt a city worth seeing ITEIST.

Note :

Worth 3T verb Fat ameRid gt gerund (V' +ing )

I 1.

12. Interrogative sentence & some 3T any =T AR
AT, STegl AT FHHIS ShIhgd positive I
YT 3TEd, dS8T some ATHATT ATSIE IS8T negative
IATET ITYEAT 37, gl any ST, feeten ST
negative 3T YT TR,

TRuA fepmnn Sl there, any &1 ERIDIPEH

13. @i e (Suffixes) STU%A adjective TIR graTd.
- al, - ish, - ous, - like, - ic, - ive, - ent, - ant, - y, - en,
- some, - ly, - ful, - ble, - less, - able, - ing, - tial, - ary,
- ory, - ed, - ate etc.
Punish AT verb 9T punishable 8T adjective TR Bl
TV TU[ fehren St - able &1 9T I,

14. SR THE 99RITE A fohaT gHURTT ST adjectives 3d

TS T T 3HH WA TASHTO! SaTaT.

Short form : NOSASCOMP
Adjective Example
Number - one, two, many
Opinion - bad, ugly, good, beautiful
Size - tall, short, heavy
Age - ancient, old, modern
Shape - oval, triangular
Colour - red, blue
Origin - Indian, Chinese
Material - wooden, woolen, steel
Purpose - sleeping, dining, wedding

e FEAEER F meaningful sentence =T T
(b) He carried his clothes in a heavy black steel trunk.

3R
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CHAPTER

« 2 DEGREE OF COMPARISON

Identify the part of sentence which contains an
error. (TS 2023)
The Nile is one of the few major river in the world
flowing south to north.

(1) The Nile is

(2) One of the few major river in the world

(3) Flowing south to north

(1) (b) only
(3) (b) and (c) only

(2) (a)and (b) only
(4) (a), (b)and (c)

(4) No error
Change the degree of comparison of the following
sentence: (T==@aT 2023)

'Shakuntal is the best drama in Sanskrit.'

(a) Very few dramas are as good as Shakuntal in
Sanskrit.

(b) No other drama in Sanskrit are as good as
Shakuntal is.

(c) Shakuntal is better than any other drama in
Sanskrit.

(d) Shakuntal is better than many other dramas in
Sanskrit.

(1) aandb (2) bandc (3) onlyc (4)onlyd

Choose the correct alternative for the following
(Steno Typist 2022)

You are more intelligent than [ am.’

sentence :

Answer Options :

(1) You are not less intelligent than I am.
(2) Tam not more intelligent than you are.
(3) Tam not so intelligent as you are.

(4) You are the most intelligent person.

Identify the degree in the following sentence.
(Combined C 2021)

"The lion is the most dangerous animal in the forest'.

(2) Superlative

(4) None of the above

(1) Comparative
(3) Positive

(a)  She is more charming than any other woman
living. (Combined B 2023)

(b) I have no ulterior motive than helping you.

(c) He has greater popularity than any other leader.

Choose the correct sentence/s.

(1) Only (a) (2) Only (b)

(3) Only (a) and (c) (4) Only (b) and (c)

Delhi is one of the biggest cities in India.
Which one of the following sentences is the correct
positive degree corresponding to the sentence

(Tr=@aT 2020)
(a) No other city is so big as Delhi in India.

above ?

(b) No other city in India is as big as Delhi.
(c) Very few cities in India are as big as Delhi.
(d) Delhi is a big city in India.

Answer Options :

(1) (d) only (2) (c¢)only

(3) (b)only (4) (a)only

(a) He is senior than you by two years.

(b) This calf is older than that.

(c) He has greater popularity than any other leader.
Identify the correct sentence/s. (Combined B 2023)
(1) Onlyaandb (2) Onlybandc

(3) Onlya (4) Onlyc

Choose the correct sentences.

(a) Her work is superior than her brother's.
(b) This photograph is the better of the two.
(c) This little girl is better than clever.

Answer Options: (Combined C 2023)

No other train is as comfortable as the Tejas Express.
[Change the sentence into Comparative Degree]
(a) No other train is comfortable than the Tejas

(T=TEET 2020)

(b) The Tejas Express is more comfortable than any

express.

other train.

(c) Tejas Express is comfortable of all trains.

(d) The Tejas Express is the most comfortable than
any other train.

Answer Options :

(1) (a)and (c) correct (2) Only (d) correct

(3) Only (b) correct  (4) All are correct

Ans 1-2 1 2-3 |1 3-3|4-2]|5-1]6-3

7-218-21]9-3
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CHAPTER
DEGREE OF COMPARISON

: EXPLANATION

| Degree |

Type 1

Type 2 Type 3

One of the Negative Without one of the

[Superlative Degree (S.D.) 9 ) /Superlative Degree (S.D.) = A /Superlative Degree (S.D.) © A
'One of the' 3 are™ Negative (FermIefl) arer Affirmative (rerrreff) s
For E.g. For E.g. For E.g.
Shivaji Maharaj was one Rajesh is not the cleverest Mumbeai is the biggest city in
of the greatest kings. student in the class. India.

4 ) /Comparative Degree (C.D.) ) 4 )
Comparative Degree (C.D.) | | than some other OR Comparative Degree (C.D.)
....... than most other some.....no less than .rothan any other.

FOf E.-.g- ' For E.g. For E.g.
Shivaji Maharaj was Rajesh is not cleverer than Mumbai is bieeer than
greater than most other some other students. OR . IS. g.g : jd
) any other city in India.
kings. Some students are not
\ICSS cleverer than Rajesh. ) \_ )
/Positive Degree (P.D.) N G’ositive Degree (P.D.) N /Positive Degree (P.D.) N
Very few ....... Some ....... at least No other ..........
For E.g. For E.g. For E.g.
Very few kings were as Some students are at No other city in India is
great as Shivaji Maharaj. least as clever as Rajesh. as big as Mumbai.
. J . J . J
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9 Jo @aibaq

uosiiedwo

. Shaikh Publication, Pune
S superlative degree, one of the 3 g& g IS
the few FaX AR noun 3T verb & €&l plural T

U AT ATRITd riverﬁax_rﬁ rivers aé?l

S superlative degree B4 without one of the =t T=HT
A T AT comparative degree HIAHT comparative
adjective + than any other @ singular noun QTI
FAfaelt I, ool SR =SS 9913 %, (¢)
Shakuntal is better than any other drama in Sanskrit.
Note :

e geTa feeteft underline Feht=an foshroft 31 ot the
best T SIET@TE! STHFET &t &Il

(a) Comparative degree =41 irregular adjective 3T
frmTER oot are st aTR.

(b) 31 IR AT FehIE T8 AT T WeAeTsdTor
I have no ulterior motive other than helping you.v’
OR My only motive is to help you.v’

Ulterior motive TEUINl TETE T HUAHRT T
feam T sroT 3rET 37 B

(¢) Comparative degree =T regular adjective 3T

frmER fooret T ste 3TR.

(a) C.D. T senior T to IdT than I TN, B T =Ih
TR,

(b) Older ® adjective ST&lie =a<hl, oft, a%q, eref,
W AT G HOAEE! JEATT. § AT S
AT,

(¢) Comparative degree =T regular adjective 3T

fmmEr feoret are s 3TmR.

(a) C.D. ™= superior Fa to AT than I ATEl. & TR
Th AR,

(b) Of the two =31 T&-d JUI=AT comparative adjective
ameft the BT article T, g A9 SRS 372,

(¢) SR Uehr ST Ui kel STaUm=it comparison
A A R/ a4 C.D. = = & more +
positive adjective + than positive adjective 3Tsft

T A, B TR I TR,

S8l comparative degree W&l g et fohal a&qmed!
T 3TEd degT positive degree WE not so.... as, not
as ... as TS ToHT AT, ST T 36,

(3) Tam not so intelligent as you are. & I IaL=T

ERIRRECH

168

g 919 superlative degree = 3TT8.

SR superlative degree - one of the ¥ q& T o)
3o positive degree W& TUT HUFE 318, T no
other Tasfl very few =4Td &TTd. Very few Tat Jum
noun and verb & el plural 3THATA. TSI T
%. (2) B A IIET 94T AgA.

Irregular adjective =41 g&dTdiel more @ regular
adjective =T Sadt -er @R comparative degree SAfedT
Fd. feorel IR 2 positive degree = 3TEA @
comparative degree 9T (b) The Tejas Express is more
comfortable than any other train. B T ITT=T 9

g,

10.

Superlative degree A& without one of the =t T&T
A T AT positive degree AT no other I H&aTd
HUT AT, As + positive adjective + as 3T THT
e, feetel @@ g Superlative degree & YT T

positive degree T (4) No other girl in the class is as
dull as she. & I IT= T A

11.

feetean fawgt s single sentence HEA FATAR SHTATT

(374 T Feerdr) & 9 comparative degree e U

AN

(1) =1 arer=n 319 incomplete (3190T) 3T HRT AT
subject 3T verb A&l T8V & IR I TR,

(2) feoret are complete (I0T) 3118 SHRUT AT subject
3T verb ?ﬁ% today 37T yesterday =it et
HOITA  IATelell 38 T&UH & 99 comparative
degree ¥ 3TEF d TS 372,

(3) 31 ARG today 3TMT yesterday JT<AT ATATAOTETEA
AT comparison HWATA STTeiet! ATEl &I & o
= AT

(4) IR today 3T yesterday AT ATATERUTSTSA
THE subject 3T verb I AT AT HIOATT
SIS R G ICRR G

12.

SR superlative degree one of the 3 gE ol IS
3T positive degree AL U HIFL 3B, T no
other WSt very few BT, Very few St JUTR noun and
verb 8 el plural ST, WS T 6. (2)

Very few women in India were as great as Indira

Gandhi. g1 I ITU=T 941 I,

13.
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Superlative degree, one of the 3 gE ol 3T AT
positive degree A& UTR HUFL 318, @ no other
&St very few B, Very few Fa@ JUMR noun and verb
2 gl plural 3@, ﬂT:ﬂj&"Tﬁ T . (1) Very few
Indian rulers were as great as Ashoka. g1 I 3TRI=T

ERIRREH
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Fill in the blanks with the correct pair of articles in
(Combined C 2023)
....... death of the Prime Minister is being grieved by

the following sentence.

many peoplein ......... UK.

(1) the, an (2) the, the

(3) a,an (4) a,the

Fill in the blanks with the correct pair of the
articles. (Combined B 2023)

...... young and ..... old both participated in the rally.
(1) the,an (2) the, the
(3) a,an (4) a,a

(a) This is the girl I told you about.
(b) Do not leap in dark.

(c) Philosophers love wisdom.

(dASO 2023)

(d) Both boys are mischievous.

Identify the sentence/s grammatically correct.
Answer Options:

(1) onlyaandc (2) onlybandc

(3) onlybandd (4) onlycandd

.............. gold is a precious metal'.
Which of the following correctly fills in the

blank when 'gold' is used in the general sense?

(a A (b) The

(¢) An (d) No article

Answer Options: (dASO 2023)
(1) bonly (2) donly

(3) conly (4) aonly

Choose the correct sentence/s. (Steno Typist 2022)

(a) What a nonsense to have a picnic in such a bad
weather!

(b) He hasn’t a beautiful furniture in his house.

(¢) The news is good today.

Answer Options :

(1) (c) only (2) (b)and (c) only

(3) (a)and (c) only (4) (a), (b)and (¢)

Identify the correct sentence/s: (Combined C 2022)
(a) Heis afinest young player around at the moment.
(b) She was a company director when she retired.

(c) Sydney is the capital city of new South Wales.

(1) Only (a) (2) Only (b)
(3) Only (a) and (c) (4) Only (b) and (¢)

Fill in the correct article in the following sentences.
(Combined B 2022)
b. Musicis ........... food of love.

(1) a-an,b-a (2) a-the,b-a

(3) a-ab-the (4) a-the, b-the

a. Heis.......... biologist.

Identify the incorrect sentence/s.
(Combined B 2022)
(a) The silver is a precious metal.
(b) He is studying in the university.
(c) He was absent for the last two days.
(1) Onlyaandb (2) Onlybandc
(3) Onlyb (4) Onlya

(a) Apples are sold by the dozen. (Combined C 2022)
(b) He is cleverer of the two boys.

(c) Iron and coal are found in abundance in India.
Identify the sentence/s grammatically correct.

(1) Only (a) (2) Only (b) and (c)

(3) Only (a) and (c) (4) Only (a) and (b)

10.

Choose correct sentence/s according to use/absence
of article. (dASO 2022)
(a) Iwas tired of life.

(b) The both the anxious parents sat up half the night.
(c) This photograph is the best of the two.

Answer Options:
(1) (a)and (b) only

(3) () only (4) (a), (b) and (c)

(2) (b)and (c) only

11.

Fill in the blanks : (Steno Typist 2022)

(a) Both......... anxious parents sat up half the night.

(b) She drives her car at sixty miles .......... hour.

(¢) He paid twenty-five paise ...... seer for these
apples.

Answer Options :

(1) the,a,a

(3) an,an,a

(2) the, an, a
(4) the, an, an

12.

Choose the correct sentence/s. (TTEET 2021)

(a) He hasn't a beautiful furniture in his house.

(b) The news are good today.

Ans | 1-2 | 2-2 | 3-1]|4-2]5-1] 6-2

7-3 | 8-1 | 9-3 J10-3)11-2)12-2
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CHAPTER

ARTICLE : EXPLANATION

1 AT death AT abstract noun =1 fov 3o 3g@
AT Tl M8 M UK a1 qum=n Jansnedt the 8
article TS STd TeU Fehme MY STRY the, the 37T
I A,

Adjective =a3Tef the 7 article 3T @ common
noun T &1 T, T8= Y q1 Biehi=m @i (class)
graadl @ dl plural noun IR@ET 1 Tl U young
ST old a1 g4l adjectives 3Meft fehme=n AFt the 3
article I,

(a) TErET common noun <1 ITYL IENEECOIERET ROl G
noun T ST TR GEITET B0 3THA T T noun
el the 7 article TR ST, & aTeRT SR 37T,

(b) In the dark 373ft phrase AR, B I =Ih IR,

(¢) Abstract noun =T 3Tt article ST Wd ATEL. ®
IR I TR,

(d) Both Fa U= noun 3Mef the B article IR
M. B AT I 3R,

Material noun =41 3T general sense AHIRT 37T
a/an/the ThT HIVTAET article MRS S1d ATET. Gold 7
material noun 378 TV ftehmer SIFf no article &1
kRICIEH

(a) Nonsense & uncountable noun 3718, 3ef
article a, an ¥d & § I TH IR,

(b) Furniture & uncountable noun 3TEeATe TTER
a® article JUR & § I I 3R,

(¢) News ® uncountable noun WF&TE@ q singular
(ThaET) A WU ¥ is ® singular verb AgA.
B 9T TS 3R,

(a) Finest & superlative adjective 31'9@1‘5@ IE I
the ¥ article ¥ a article IR ATE. 7 I T
AT,

(b) Director & singular noun 3EcaTge3 wN3Meft a A1
article = SR I A 0T ST 3R 7
IR SR 37T,

(¢) New South Wales 2 3112 foram Smmdiiet T state 3118
g proper noun IS T ITAER & capital
letters HEY STERIGT 1. & 919 I 378,

180

(a) Profession (SITERT)=AT A3 ITTNIIR a/an
% article 9T 1A FeUA frehmean SIAft a @ article
PECH

(b) TETET noun &1 ga=T noun = IYHT TSI IFEA
T 1 noun 3l the 7 article IS ST 7
frepme ATt the B article A,

(a) Material noun 3Teft IHTT YN a, an the Ueht
HIVAET article IR SATd ATE!. S aeRITd silver
& material noun 378, TS 3Tl HIvTaET
article JUTR &, B 919 I IR,

(b) =1 wregTl gEATd vowels 7 (a, e, i, 0, u) B
e 3R S consonant TRGET sﬁ’d FA T 3
noun =M a7 article IS 1A § I T
TR,

(¢) He has been absent for the last two days 318 9T
T e &1, T STRIT=AT answer key TR
B qA S 3R,

(a) Rate / measurement /calculation TTTURTHTS the &
article ITRA ATd. B 19T SIS 3772,

(b) Comparative degree H&J S selection =1 14 &Id
A T AT adjective =1 3MER the 7 article
TR . § T o 3T

(c) Material noun =31 37eht G FIUT a/an/the ¥
HIVAET article ITRA ITd ATEL. & IR S0 3R,

10.

(a) Life® abstract noun 3T8. TR 31U abstract
noun 3Teft HIVAE! article IR S1d A& B ST
U 3Tz,

(b) Both @ JUM=AT noun 3MeR the B article ST
STd. Both =1 3Meft the # article S9! ST ATal.
& TR I IR,

(¢) Comparative degree T of the two = &A1 Id
3T @ comparative adjective =T 3T the &
article 3d, superlative adjective Jd AT&l. & 9T
=% AT

11.
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(a) Both TR =T noun 3Teft fepr=n Swft the §
article J51.

(b) Singular countable noun ‘H’ 3 B3LS) BId 318
3T @ ‘H’ =1 3=9R & 99 (silent ‘H’) @ &1
et 3t fepmn Srf an 2 article ?}r%c_*l

(¢) Kilo, gram, seer AT single unit =1 37eft a &
article IT9TA STd. e St a @ article Asel.
Seer - 3T, TuET =fesdrar WA (1 fehemuim)




SAM LE CHAPTER
14

Identify the auxiliary verbs and lexical verbs in the

(TTEET 2023)

given sentences.

VERB

(d) Children love making mud castles.

(e) Thope you will excuse my leaving early.

I.  Be there at 8 o'clock. (1) a,c,d (2) b,c,e
II. Ihave had my breakfast. (3) a,b,d,e (4) onlyaandb
III. Do come in. 5. (i) Please, boil the water. (Combined B 2023)
IV. Are you doing computer science at college ? (i1) The water is boiling.
I I I v The underlined verbs in the sentences above
be - have - do - are - belong to the types of verb called ............. and
) lexical auxiliary | auxiliary fauxiliary || ... respectively.
had - come - doing - . o
. . . (1) Transitive, Transitive
lexical lexical lexical o o
be - have - 1o - are - 2) Intran.s%tlve, Trans%t%ve
@) auxiliary | auxiliary, [auxiliary | lexical (3) Transitive, Intransitive
had - come - doing - (4) Intransitive, Intransitive
auxiliary | lexical lexical 6.  Choose the correct pair of words to fill in the blanks.
be - haV'e - do i are - (a) Columbus set out to ................. India, but
3) lexical lexical lexical auyghary discovered America. (Combined C 2023)
had - come - doing - ) )
lexical lexical lexical (b) Eddison ................ the electric lamp.
. . j j iscover, discovere invented, invente
be have do are ) di di d 2) i d,i d
“) lexical lexical lexical auxiliary (3) invented, discovered (4) discover, invented
had.—. come - dOiI_lg_ - 7.  Identify the verb form of the underlined word in
auxiliary | auxiliary | auxiliary the following sentence. (Combined C 2023)
Identify the kind of verb in the given sentence. S .
T Swimming is a good exercise.
"We can lift this load. (AT 2023) (1) Infinitive (2) Gerund
(1) transitive verb, modal verb (3) Phrase (4) Clause
(2) intransitive verb, modal verb 8. They .......... the merchant for his purse.
G) mode.ll.verb, trans1t1v.e'verb Select the correct word to complete the sentence
(4) transitive verb, transitive verb meaningfully. (Combined C 2023)
Identify the function of modal auxiliary 'could' in (1) Killed (2) Murdered
the given, sentences. (TTEET 2023) (3) Hanged (4) Slained
(@) You could take the four of the castle tomorrow. 9. Choose the correct alternative to the given
(b) This new drug could be an important step in the sentence. To give is better than to receive.
fight against cancer. Answer Options : (dASO 2023)
(1) Express possibility, request (1) Have given is better than have received
(2) Express obligation, permission (2) To give is better than to received
(3) Express suggestion, possibility (3) Giving is better than receiving
(4) Express politeness, request (4) Giving is better to not receiving
Identify the sentences which contain infinitives. 10. Choose the correct sentences (dASO 2023)
(a) To tell the truth. I quite forgot my promise. (a) He refused to obeyed the orders.
(b) Isaw him go. (T 2023) (b) Many men desire to making money quickly.
(c) Arolling stone gathers no mass.
Ans 1-1 2-3 3-3 4-4 5-2 6-4 | 7-2 8§-2 19-3 J10-1
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CHAPTER

VERB : EXPLANATION

Types of Verbs
I

}

[Main/Lexical/Principal Verb J

Gransitive Verb \
Intransitive Verb
Linking/Copular
Verb

Stative Verb
Dynamic Verb
Causative Verb
Strong (regular)
Verb

Weak (irregular)
Verb

Phrasal Verb
Finite Verb

. Present Tense
. Past Tense

. Past Participle
. Gerund

. Infinitive

Non Finite Verb

\_ /
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}

[Auxiliary/ Helping/ Supporting Verb J

v

y

[Primary Auxiliary ] ( Modal Aucxiliary |

l

'

'

l

l

- Tobe To have To do
Form Form Form
is, has, do,
am, have, does,
are, had, did
was, shall have
were, will have
shall be,
will be l l l
Modals Semi Perfect
shall, should, | | Modals Modals
will, would, || need to, ||should have,
can, could, dare to, ||would have,
may, might, | | used to could have,
must, might have,
ought to, must have,
have/has to, need not
had to have, ought
to have

were to have

Equivalent
Modals
have to,

has to,

had to,
shall have to,
will have to,
was to have,
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SA @ R>4. Shaikh Publication, Pune

qiaA

1.

\cweong

Auxiliary verb Ut helping verb e supporting
verb 8. Auxiliary verbs 8 main verbs/ lexical verbs/
principal verbs T help 3d 3TEdTd =T 9T main
verb/principal verb =T 3Teft el STl

(1) feciean ameTd be & lexical verb 3d a1 main/
principal verb = %/ Hid 31Ta.

(1) feeien ameRmd have & helping verb 3 had =
lexical verb T @I support id 3Ta.

(Nn)feete=n amerma do &1 helping verb 3T come AT
lexical/main/principal verb ¥ emphasize {d
TR,

(IV) feeiean aremdfier are &1 helping verb 318 doing 3T
lexical/ main /principal verb @ support i 3Tg.

feeiean aRITG can & modal verb 3/ lift transitive
verb TEUS FehHeh fhaTig TR,

(a) feotean areTa could &1 suggestion (I fehan
FEAT) oIk i IR,

(b) 31 I1TA could BT possibility (JTERIAT, T M)
ek A 3R,

(a) To+ V! T infinitive 3/ wgurdTd. fectean
T to tell & infinitive 3TT8.

(b) feoiean AT o & bare infinitive 378, Bare
infinitive &7 a@ﬁﬁ infinitive =Tl WFT 37&dl.

(¢) fectean g gathers &1 main verb 3T¥d rolling
& participle 3TT8.

(d) feten g love BT main verb 3¥J making 31
gerund 31z,

(e) feoioam ameR™Td hope & main verb 3T leaving 71
gerund 3TTR.

(i) fectem arema boil AT verb = 31 Yol SHwATETS
the water 3T object =t TRl 317, F&V AT STRITA
boil & transitive verb = s Hiid 312,

(i) fectoa s boiling 3T verb =T aref Tﬁ HITHTS!
object = RS ATE TUH A FRE boiling &
intransitive verb 31T,

200

(a) 31 IR R SET discover AT main verb =T
IR BISA.
(b) 31 TR @ S invented AT main verb =T

I BEe.

Note :
Discover : ST 7S] 3WTe HATCITd Bl o1 Meien
MY AT,
Invent : ST M 3AfCIcaTd Togedn <1 MEf=ET Toq MY
KIcUS

feetea s swimming BT ITeRITET subject (noun)
IR ST =7 FeRITa Al gerund o T i 3R,

(1) Kill : 2q fhar 389 FHaMT IR HT0 /AR

(2) Murder : & fohaT 3291 IEAHT SR HT0T /HRO!

(3) Hang : ®HTEX Teehaul /BT ot

(4) Slained : & %fﬁ% verb 3T slain B AN verb IR,
s 1 fémes G wror, g 0 3T Bl

v T Sft murder § verb FgE.

Infinitive 37T gerund & =81 noun =4 function
AT, U feeiedn SR to give T to receive
T e infinitives 3T ST UGSt giving and receiving
T gerund =1 ST EIEeA. T8 gl ST 372 AR

I &1, Giving is better than receiving. v’

10.

(a) To Fa F&Ht V! =1 9T HATd AR feerean
IR obeyed AT V2 TSt obey AT V! =T 9T
BIg. @ 919 o TR,

(b) To FaR F&Ht V' =1 TR HLard HER feeren
EIERIGiG) making oSl make I V! =T 9O RESR
B AT T IR,

(¢) SR need to, dare to & 9T negative fehaT interr-
ogative 318 T TN TR need I dare X
to =1 AT d 18], ATIER 3 J16 S 1R,

11.

feetean ameRmd should 81 modal auxiliary verb @iet
UUTE T SUATSET compulsion (ERAT) g¥ifed 3R,

12.

feetean ameRITd can & modal auxiliary verb TTE
FTavATEt ability (IrEAT) ifad 3R,

13.

feete=n ameRma could & modal auxiliary verb possibility
(SR fehan GvTer TSt sravarl fudt) estfaa 3.

14.

(a) Participle phrases q qe BT TRl participle
phrases T == subject =T ST O TEYIH
IEA FAT d T FAEE 3. 7 T T IR,

(b) fecica aTerTa 1 8T subject I ql o= participle
phrase AR STHRVAT T 3T FEUH 2 Tl TS
TR,

(¢) Participle phrase FaX IV subject & scorpion
T he STHATYS & FTRITHT passive voice L
HOATT I5A TV & AT o IR,

15.

Shall 81 modal auxiliary verb IT 9TeITd seeking
permission (LT S01) 319 UM 37T 3773,

16.
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fectea arera fremm SFf should have not eaten &1
perfect modal verb (SHTRIAT Feh! &9 BId, HUAAT Teh
aTfet B A




SAM

Identify the sentences with correct question tag. (d) They will fail, will not they?
(TTEET 2023) Answer Options:
(a) Place this apple on his head, don't you? (1) (a)and (b) (2) (b)and (d)
(b) Let's start, shall we? (3) (c)and(d) (4) only (¢)
(c) There was no answer, was there? 7. Fill in the blanks. (Steno Typist 2022)
(d) Let me study, won't you? (a) Well, we need a menu first, ............ ?
(1) Onlyaandb (2) Onlybandc (b) You’re now around here, ............ ?
(3) Onlyaandc (4) Onlybandd (¢c) She’s a good-looking girl, ............ ?
Select the sentences with correct question tag. Answer Options :
(a) A woman buys a purse, doesn't she? (1) don’t we, aren’t you, isn’t she
(b) Nowhere it is possible, is it? (TrsT@ET 2023) (2) doesn’t, aren’t you, isn’t she
(3) doesn’tit, isn’t it, isn’t she
(¢) He never smokes, doesn't he? , L,
(4) don’twe, is it, isn’t she
(d) We shall return soon, shan't we? 8.  Choose the correct question tag.
(1) Onlyaandb (2) Onlycandd ‘Raghu was unable to attend the interview, ......... ’
(3) Onlya,bandc (4) Onlya,bandd Answer Options : (Steno Typist 2022)
? 2
(a) This picture is very attractive, isn't it? (;) was llzle B he? (i) was Ite }1110::.
(b) Now do it as I tell you, won't you? (3) wouldn’t he” (4) wasn’the?
(c) She needn't work so late, need she? 9. Fill in the blanks in the given conversation.
Identify the sentence/s with correct question tag. Mukesh : Well, we need a menu,............. ?
(Combined B 2023) John : We haven't got one here,....... ?
(1) Onlyaandb (2) Onlybandc Answer Options : (TSI 2021)
(3) Onlyaandc (4) Onlya,bandd (1) isn'tit, is it not (2) don't we, have we
I am a grammarian. (Combined B 2022) (3) do we, haven't we (4) haven't we, have we
The correct tag question corresponding to the
sentence above is 10. Choose the correct sentence/s with correct question-
(1) AmI? ) Aren't1? tag. (Combined C 2021)
(3) Amn't1? (4) Am 1 not? (a) One can't be faithful to all, can one ?
(a) Thave acamera, haven't] ? (Combined C 2022) (b) We have luncl? at 1 pm, do we?
(b) Stop that noise, will you ? (c) They have a big factory, haven't they?
(¢) Thad had a bath, hadn't T ? (d) She is in her sixties, doesn't she ?
Identify the correct sentence/s. Answer Options :
(1) Only (a) (2) Only (b) (1) Only(a)and(b) (2) Only (c)and (d)
(3) Only (a)and (c)  (4) Only (b) and (c) (3) Only (b)and (d)  (4) Only (a) and (c)
Find the correct option of the question tag for - | 11.  Choose the correct question-tag for the following
'They will fail.' (Combined C 2023) sentence. (Combined C 2021)
(a) They will fail, will they? Monica isn't very tall,........
(b) They will fail, would they? (1) Isshe? (2) Isn't she?
(c) They will fail, won't they? (3) Isn'tit? (4) Doesn't she?
Ans 1-2 2-4 | 3-3 4-2 5-4 | 6-4| 7-1 8-4 1 9-2 |10-4)11-1
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CHAPTER

ADD A QUESTION TAG

: EXPLANATION

(a) @ 9 imperative sentence = 3T I question
tag, will you ? 371 A5, & TSI I 3Ta.

(b) TR HEATA Let's (let us) 5 FTeiell 38 wm=m
question tag shall we 3781 IS, 7 IR S TR,

Note :
SR 9@ let me/let him/let her/let them ¥ F&aTa
Bl 3@ T question tag will you? 3TET Shell STl

(¢) feoiet o™ negative (FehTUT) 312 =M question
tag SHAMT helping verb HI&d oI not Eare)
A positve (BTHTAT) Ad. § TR SIS 317,

(d) ST imperative sentence = g&aTd let me 3 B
A T TN question tag BT will you? 37T Adl.
B R <% TR,

(a) feotet a9 7 simple present tense T3 3117, simple
present tense A& S third person singular
subject 318 T JVIAT verb &1 s, es eI SATTAl
T question tag M does & helping verb =md
. & T SIS 3.

(b) Nowhere BT negative adverb I TEUd =T
question tag, positve Jdl. & TR S 3Tz.

(¢) Never &l negative adverb 318 U AT question
tag, positve Jge1. & TR ERD IR,

d) Teoet am= S positve IS AT SR S shall
Ad A T AT question tag FHIAMT shan't +
subject pronoun 3TET Idl. B AT SRS 3T,

(a) SR IR to be = am/is/are 8 auxiliary verbs ad
T S ST positve 3TEA T T question
tag SHLAMT auxiliary verb @i&d not SATET ANl 8
IR SIS 3T,

(b) Question tag ST S Ush IR subordinate clause
O 3T Th main clause 318A G main clause
e o= subject 3T verb =T question tagav_c'ﬂ
ST, main clause W& imperative sentence (now
do it) Eird imperative sentence THR Y question
tag, will you? 3781 5. & I T TR,

(¢) Need not & negative modal auxiliary verb 3T&
M question tag positve Shell SITdl. 8 JTeRT ek
TR,
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gl dTeRITET subject 1 3TEAl @ 99 positve  3TEd
nfor & present tense e 3TEd T TR question tag
STYETETeHS aren’t [ 2 3TET Shell STl

(a) Have 9T™ITd main verb %U[J A A T T
question tag HA@MT subject Ted don't fotfeama. 7
1T TIh IR,

(b) Imperative sentence =T question tag, will you?
3TET AT ST 7 AT SR 3R,

(¢) SR THE 91T g had SATIUIS 3 31&d & o1
ITeRITd T had & helping verb 3t&@l dl gHU had
B V3 3al. 919 positve 3 @ question tag &
negative Shell SITdl. g ITe SRISR 3778,

feeret =T S positve 318 T aTeTd ST will A
3T T T question tag HLAHT won't + subject
pronoun 3HT h{dld.

(a) S a9 simple present tense AL T positive T8
@ don’t e doesn’t ITRAT, IS d I
T HTBT negative 318 @ do, does 33fT
helping verbs 9% question tag el STt B
freprer STft don’t we? a"scc_'f

(b) SR 9T to be o am/is/are 8 forms I THTA
JATMOT ST positve 318 X T question tag
T auxiliary verb & not =TI ARTAT "/
TRt STft aren’t you? afﬁ

(c) I 9T TR (b) = ST AN BId. Fehren St
isn’t she? a'sfc_'l

feetet sentence & positve 3T =T question tag &l
negative wasn’t he? 3781 Eﬁ%ﬁ ITd unable & word
negative 3T Al AT ITHRITE negative sentence FEUIAT
JUTR ATE SRV unable AT word =T negative word T
THTEY B ATE v fehrn Srft wasn’t he? g

Mukesh : Well, we need a menu, don't we?

S AR simple present tense 378 9 G positive
A TR (I, we, you, they faT plural noun 3Te=ma)
don’t IT9ATd, AR¥IE (he, she, it 3ITcAH) doesn’t
AT FEv frehmm St don't we? Jg.

John: We haven't got one here, have we?

Have JT&RITG auxiliary verb TeU[ I 318 30T ey
negative 3 T TITET question tag & positive Hefl
Skl ] T STt have we? a'&?ﬁ

10.

(a) dTERITET subject K one BT indefinite pronoun 378
AT IR negative modal verb TSl 3EA W

one B subject I3 question tag positive el
AT, B TR SR 3R,

213
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CHAPTER

VERB -MOOD

Identify the sentence with subjunctive mood.
(a) If she likes this pen, I shall give it to her.

(TTEET 2023)

(b) Help me if you can.

Answer Options :
(1) imperative (2) assertive

(3) subjunctive (4) indicative

(c) The sentence is that the Prisoner be hanged. 8. Identify the type of mood in the given sentence from

(d) God save the Queen. the given options. "Give us this Day our daily bread."

(1) Onlyaandb (3) Onlybandd Answer Options : (Translator 2022)

(2) Only band ¢ (4) Onlycandd (1) Indicative Mood  (2) Subjunctive Mood

It is imperative that he catch the next plane.' (3) Imperative Mood (4) None of the above

The sentence above expresses ........... mood/moods. | 9.  'If such were the case, I would not approve it.'

(1) Indicative (2) Subjunctive (Combined B 2023) Identify the mood expressed in the above sentence

(3) Imperative (4) Both indicative and imperative and choose the correct option from the following:

(a) Itistime I prayed. (Combined B 2023) Answer Options : (Translator 2022)

(b) Kindly excuse me. (1) to express a purpose

(¢) Long live the Prime Minister. (2) to express wish or desire

(d) Are you happy? (3) to express doubt or supposition

Identify the sentence/s in subjunctive mood. (4) to express imagination or improbable condition

(1) Onlya (2) Onlybandd with its consequence

(3) Onlyaandc (4) Onlyb 10. May God help you !

'It is imperative that he catch the next plane'. The mood in this sentence is ....... (Translator 2022)

The sentence above exemplifies .............. mood. (1) Subjunctive (2) Imperative

(a) Subjunctive (b) Indicative (3) Indicative (4) None of these

(c) Directive (d) Imperative 11.  We eat that we may live.

Answer Options: (dASO 2023) The subjunctive mood in the sentence above

(1) conly (2) aonly (3) bonly (4) donly expresses........ (TrST@ET 2021)

Which of the following is an example of a statement (a) adesire (b) a purpose

expressing imperative mood? (TSTET 2022) (c) adoubtful condition  (d) awish

(1) We are taught Sanskrit. Answer Options :

(2) The child is alive. (1) Only (d) (2) Only (a) (3) Only (c) (4) Only (b)

(3) He walks as though he were drunk. 12. 'The judge ordered that the accused be set free'.

(4) Give us this day our daily bread. The sentence above expresses......mood.

The fertile land of India had been fascinating many (a) Subjunctive (b) Imperative

foreigners since its formation. (c) Indicative (d) Expressive

The mood in this sentence is Answer Options : (Combined B 2021)

Answer Options : (Steno Typist 2022) (1) (d)only (2) (c)only (3)(a)only (4) (b)only

(1) Subjunctive (2) Imperative 13. He would rather die than involve in the vulgar and

(3) Indicative (4) None of these corrupt activities. (dASO 2021)

‘If I were the Prime Minister I would eradicate poverty.’ The underlined words in this sentence denote

Identify the type of the mood expressed in the above (1) awish or desire (2) a choice or preference

sentence. (Steno Typist 2022) (3) apolite request (4) a habitual action in the past
Ans | 1-4 | 2-2|3-3|4-2|5-4)16-3)7-3|8-3]9-3]10-1)J11-4]12-3|13-2
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CHAPTER

¢ 9 VERB-MOOD : EXPLANATION

(a) B 919 B indicative mood ¥ 3Tg SHRUT T
probable condition AT assumption as a fact
(T Reiett 31e) eHfaeht 3.

(b) B 9 <A ThA FrRTIET THE R 3w
TEUE indicative mood & 3R,

(c) 2 a1 that 4 SSoiel 3THEATYS aTeRITd fsheran B
purpose T8 BId 312 B d subjunctive mood =
TR,

(d) Wish $=31 SUIfUT=T SR TS <@ subju-
nctive mood BId 3¥Hdl. & 919 subjunctive
mood ¥ 3.

feeTet 9T 2 that o Sgciet STHeATYeS dTeITd fsheren
%@purpose oY g 3R U 2 919 subjunctive
mood ¥ 3TT2.

(a) Itistime, it is about time, it is high time, it was
time I T TEHTET THEY subjunctive mood HEA
1 .

(b) Teerean SR FEATd excuse AT V! T FRIE IR,
e T THTES imperative sentence T&X grdl
feetet @™ 2 imperative mood ¥ 371R.

(¢) Wish (3TT7) eifaum= arerTeT THEY Eiel
subjunctive mood Id 3THdl. & 919 subjunctive
mood HEI 3R,

(d) Verbal and WH questions 3T LERECIECACICRIE]
GuTe indicative mood HEA .

feeTet 9T 2 that o Sgcicet STHeATYeS aTeITd fsheren
purpose T8 BId 3117, U d subjunctive mood =
IR,

I 5. (1) 9 (2) statement (frermreff arer) s/ @

indicative mood H& 3T&.

(3) feoiean amRTd as though AT d subjunctive
mood ¥ 3.

@ V'3 gedrd BIR 9T 8 imperative sentence
375, Teerean SR geard give 31 V! A Freft
3R FEUH ® 99 imperative mood & 3TTg.

feeret a2 statement (faermeff o) smeaMes B

919 indicative mood I 3TR.

feeTean ameRITa wish (329T) ¥igciel! 318 WA & aTe
subjunctive mood ¥ 3712,

imperative mood & 3TT8.

Impossible condition =T HHTIS B subjunctive mood
e gId Tl A d G doubt and supposition
Ieh w3l

10.

Wishes, prayer blessing, curse I 0= @4 phrases
=T HTEW subjunctive mood AL Bid 3¥ql. feoiel o
subjunctive mood ¥ 3T,

11.

feiet a1 B that 3 eeidl SEcATeS dTeRTd fsharer
%ﬂ\purposewﬁﬁ TR,

12.

feoret o that 3 STeeiel 3THATER Il areRTd fsharn
T purpose I BId 3R, TeUH aId a1 subjunctive
mood ¥ 3TTE.

13.

Choice (FHdT), preference (YT&T=T) STfeoT=T SerI=n
THEY & subjunctive mood HEY &d ¥l feoiel ame
subjunctive mood = 371z.

14.

Verb =41 ufgeat ¥ (V') & S 91 imperative
319d 9 imperative STHITET mood & imperative mood

.

15.

S verb 3T HUAMTS!, request (fdt) Hoamdt, Heett
TS AR S, o verb ‘imperative mood’ 3TEd.
Imperative Mood =T SU=RT YEIETSHTON el ST

Close the door.
Wait here till he comes back.
Speak slowly.

FRT HITETS!
(To express a
command)

Please lend me your car.

Tt fermmoamandt/
HOES

(To make a request)

Kindly help us in this matter.

Please help them.

Kindly solve this problem.

220

V!9 gEaTd BV 9T © imperative sentence 3TEd.
7 STerTe GeeTd give 1 V' A el 318 U B o

Study hard.
Don’t smoke.

Help the poor.

Hooll SOITETS!

(To give advice)

Pl Rl Eal Pl Rl Al el E o

Be regular and systematic in
your work.

5. Speak the truth, whatever
happens.
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Let 3 G&aTd BV STeRIm=n GHTaRgET Tamefl s
el STl

For E.g.
1. Let them speak. 4. Let me dance.
2. Let us go. 5. Let him stay.




CHAPTER

ADVERB

Identify the correct sentence/s. (Ts=@at 2023) | 6. Choose the correct sentence/s :
(a) He seldom or never drinks. (a) Brave enough students to attempt the course
(b) Hewalked more and more quickly than I expected. deserve to pass.
(¢) I never remember having told you so. (b) A brave enough student to attempt the course
(d) He was too happy to see me. deserves to pass
Answer Options: (c) Students brave enough to attempt the course
(1) Onlyaandb (2) Onlycandd deserve to pass
(3) Onlya,bandd  (4) Onlya,candd Answer Options: (TSTET 2022)
Choose the correct sentences. (Combined B 2023) (1) (b) only (2) (a)and (b) only
(a) He has made quite a fortune. (3) (a)only (4) (c) only
(b) She sang last night beautifully at the concert. 7. Choose the correct sentences: (dASO 2022)
(¢) You gave me a big shock! (a) Balraj’s mother always serves an excellent dinner.
(1) conly (2) bandconly (b) Do you go often fishing?
(3) aand conly (4) a bandc (¢) He is grumbling always about his ill - luck.
(a) Neither did men nor women go out at night. Answer Options:
(b) Not only the kitten was wet but cold also. (1) (a)and(b)only  (2) (a)only
(c) No sooner does the curtain go up when the (3) (a)and (c) only ) (@), ®)and(c)
children watch the play closely 8. Find out whether the given sentence is correct or
Select the grammatically correct sentence/s. incorrect : (Steno Typist 2022)
(Combined C 2023) “Seldom had the little town seen a more costlier
funeral.”
(1) Only (a) (2) Only (b)
Answer Options :
(3) Only (a)and (b) (4) Only (c)
(1) Correct (2) Incorrect
Choose the correct sentences. (dASO 2023) .
(@ Istheb b bin? (3) Partially correct (4) None of the above
a) Is the box enough big?
s 9. Identify the word wrongly used in the followin
(b) He has slept only three h y gy &
e has slept only three hours.
P Y sentence. (Translator 2022)
(¢) He spoke loud enough to be heard. )
A Onti One student only came in late yesterday.
nswer ions:
P Answer Options :
(1) aonly (2) bonly
(1) one (2) only
(3) bandconly (4) a,bandc ]
(3) in (4) came
(a) She comes to my house Seldom.
) 10. (a) He is almost correct in his decision.
(b) They are always late for the dinner. i
(¢) He studied the book thoroughl (b) The house is enough large to accommodate
ughly.
izeabl ber of le.
(d) She placed here the book. Slacable UMBbEro p.eo;.) ¢ )
. . (c) Each boy and each girl is busy with duty.
Identify the correct sentence/s grammatically ) - )
¢ 2022) (d) Neither he nor his friend has prepared their lesson.
correct. (T
(1) Only (a) and (b) 2) Only (b) and (¢) Identify the correct sentences. (MES 2022)
nly (a) an n and (c
Y Y (1) Only (a)and () (2) Only (a)and ()
(3) Only (b)and (d) (4) Only (a), (b) and (d)
(3) Only(b)and(c) (4) Only (b) and (d)
Ans 1-1 2-1 3-1 |1 4-3 | 5-2)16-4]|7-21]8-2]09-2])10-2
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17

ADVERB : EXPLANATION

ADVERBS
The girl is running pet quickly.
Adverb Type Definition Words Examples
i loudly, badly, rightl Sh lked slowly.
Adverb of Manner Descrlbes how 09 y, badly, rightly, e walked slowly
something happens. quickly, slowly
Adverb of Place It shows the place of 1ns@e, downstairs, up, He climbed up the tree
action. outside, towards
Adverb of Time It shoyvs tells the time | since, today, presently, I will meet you tomorrow.
of action. now, tomorrow.
Adverb of It describes how certain | definitely, surely, He may probably meet
Certainty we feel about an action. |probably, certainly you.
It describes to what enough, too, hardly, quite | Do you have enough time
Adverb of Degree . to complete the
extent action took place. .
assignment?
. These are used to ask when, where, why, how | Where are you going?
Interrogative something in a
Adverb <
sentence.
Relative adverb adds how, when, why Tom did not tell me. when
Relative Adverb | meaning to a verb or he would come.
another adverb
Used to express the once, often, again, twice [I read this book twice
Adverb of Number | numbers in response to
questions
Adverb of Uusaelclltito Si?lor\zsﬂfnse . very, too, little, much ;?gi;ittiz time to spend
Quantity d .ty P Hre:
questions
Used to elaborate the to avoid accident, to get | He drove cautiously to
Adverb of Purpose | . . . .
situation back avoid the accident.
Adverb of It shows the frequency again, frequently, once, He often goes to the
Frequency of piece of work EVET cinema.
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. Shaikh Publication, Pune

(a) Seldom & negative adverb 378 =IEI&d never
3T if ever AT SIS AT hell AT Iehal, T
seldom HIsd ever, often, always B 3IeC IR S
A, B 9T U 3T,

For E.g.

1. Iseldom or ever cheat any customer. X
I seldom or never cheat any customer. v OR
I seldom if ever cheat any customer. v*

2. He seldom or ever comes here.x
He seldom or never comes here. v OR
He seldom if ever comes here. v/

(b) fetean ama more and more quickly T
comparative adverbial phrase =T a9 T
T 3R, 7 TR SIS 3R,

(¢) feciean areTd never UaSt don't ever =T ITH &I,
® AT I TR,

(d) Too AT adverb =T ITR negative sentence AT
HATd, Teeiean ameRITd too =T TR Fehi=r 375
TGS very fRaT extremely I35, 8 a1 I
AT,

(a) Quite & T adverb 318 S fortune 3T TG TUH
HA. A AT article 1 TR IY IEETIH IR, 7
TR T IR,

Note :

TUdme, fem 3 38 i adverbs HHIG: verb
=1 3meft AT, W AT A GO LT e
Imeft Ia .

(b) She sang last night beautifully at the concert.x
SR UehT TR TehTHeTT ST adverbs Jd STdiel
T = kA MPT : Manner + Place + Time
31T ST TN IT TR 368 ST
FremTER et 312 I beautifully &1 adverb
1 adjective 3 noun Fam 3TTeien 3R wE
T article IV ATE. & ITHT b TR, AT A
WICATASHTT 5.

She sang beautifully at the concert last night. v

(¢) TEwR adjective/adverb TETET common noun
=1 3meft 3T 3WA W, adjective/adverb =T
ITANHAR article, a fhaT an aT9Rer Sl & S
U 37Tz,
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(a) STegT ST T subject + verb + object 373ft
o5 7 AT subject 3T verb aet ST, degT 311
T8 inversion 318 TEUTd. feeiedm ameRITd men
1 subject 3ef did B auxiliary verb sTRel 3TR. 8
TRT SIS 3TTR.

(b) feciean ST AT YR 318 SR not only......
but also 7 IY €F adjectives T T Sgvard
JTeTet ATE.

(c) fectean s no sooner = pairw 38 no
sooner @Ied than Adl when A&l

(a) Enough AT adverb =1 a1 adjective TaX HTdTd
AR AT big T adjective I AT enough
el B, ¢ AT I IR,

(b) Only, almost AT adverb =T ATR T Iegr=AT 3TTeft
AT ST, ST I&GHT d e hila IEard fohar SR
TaTd. AT three hours 31l only I adverb =T a1
A {efi= HIOATT ST 3118, @ a1 SUe 318,

(¢) Enough T adverb = TR adjective X sHad,
AR feeieam ST enough AT adverb =T a1
adjective FaX I v AT NI TR, B ST
FUH 37Tz,

(a) Seldom 3T adverb =T 9T main verb =31 3Meft et
ST & 9T g 3R,

(b) Always IT adverb =T 9T to be forms - am/is/ are/
was/were =T Tt HLdTd. & a1 SO 3R,

(¢) feotean areTa thoroughly AT adverb =1 aTR IR
el SFTATq ST TR, 7 TRT S 37T,

(d) Here 21 adverb of place IR, T T JgH verb
e object TR . 7 IR b ITR.

(a) feoiean ae™Td brave enough students 3T phrase =
I FHET IR,

(b) feoiean aTITd a brave enough student 3T phrase
1 I T IR,

(¢) Enough &1 ST adverb TR R Al deat df
adjective SEet 3T ATt <a rwal. feetesn
d1RITd students brave enough 3T phrase =1 9T
TR HAAT 3R, 7 AT SR IR,

(a) Adverb of frequency (3TTdriieeieh feramfersroT)

Always, never, seldom, frequently, occasionally,
often, sometimes =T ITH FTRITAA main verb
et el @l 7 A TR AT,
(b) feetean AT often AT adverb of frequency =1
TR go AT main verb et BEA. B TR b 3R,
(¢c) feotosm arema always 3T adverb of frequency =T
MR grumbling 3T main verb 3Tl BEet. & 9T

TIH IR

ﬁﬁ?ﬂ ITRITd more costlierﬁ'_ﬁﬁ more costly 33M
correct comparative irregular adjectives =t T&AT qT&S
U T 5. (2) AR I A
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PREPOSITION

I find no chance ...... making a profit in this business.

Which of the following prepositions correctly fills in
the blank in the sentence above?(Combined B 2023)

(1) in (2) of

3) to (4) for

Fill in the blank with the most appropriate

prepositions given below. (Combined B 2023)

'Aboy jumped ............... the well.’

(1) in (2) at

(3) into (4) on

Fill in the blanks. (Combined B 2023)

(a) Itwasasecret............... my parents

®) his Aunt, he has six other female
relations.

(¢) Lord Roseberry took her ............. dinner.

(1) Among, besides, in to
(2) Among, beside, into
(3) Between, beside, into

(4) Between, besides, in to

Select the sentence with the correct use of
(Combined B 2023)

(1) My parents are concerned in my health

preposition.

(2) My parents are concerned at my health
(3) My parents are concerned for my health

(4) My parents are concerned to my health

(a) He lives in Bapu Nagar in Ahmedabad.
(b) He reached Mumbai yesterday.
(c) She lives in a Cottage.

(d) Iwill be sixty in next August.
Identify the correct sentence/s. (TTEET 2022)
(1) Only (a) and (b)

(2) Only (b) and (c)

(3) Only (a) and (d)

(4) Only (b), (c) and (d)

Read the following sentences carefully and find out
which one of them is incorrect? (Combined B 2022)
(a) I shall say this on her face.
(b) I shall say this to her face.

(1) ais correct (2) bisincorrect

(3) ais incorrect (4) bis correct

Choose the option showing the correct meaning of
(Combined B 2022)
(a) The road winds up the mountain.

the words underlined.

(b) The campaign was winding down.
(c) Heis still trying to get his wind back.
(1) a-turns, b-came to an end, c-breath
(2) a-brings to close, b-twists, c- breeze
(3) a-irritates, b- conclude, c- gale

(4) a- wraps, b-twisted, c-breathe

Fill in the blank with an appropriate Preposition.
(Combined C 2022/Clerk Typist 2011)

'T have eaten nothing.......... yesterday'.

(1) for (2) since

(3) on 4 till

Choose the best option to fill in the blanks:

@ oo his Aunt he has six other female
(dASO 2022)
(b) Idoliketobe .................. the sea side.
Answer options:

(1) Beside, besides (2) Beside, beside

(3) Beside of, besides (4) Besides, beside

relations.

10.

Point out the sentence that has the ‘preposition of

time’. (dASO 2022)

(1) Due to corona - pandemic life everywhere is
constrained so we do not know where it is leading
us to.

(2) Thave not seen my younger brother for months.

(3) Being in a hurry, I could not notice you crossing
the road.

(4) Yesterday I attended a lecture on - Sri Aurobindo.

11.

Fill in the blank with appropriate preposition.

You must abide ......... the terms of this agreement.
Answer Options : (Translator 2022)
(1) by (2) with

(3) at (4) for

Ans | 1-2]12-3|3-4|4-3]|5-2]16-3]7-1

8§-219-4)110-2]11-1
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TETE TS SIRIAT S0 379 AT chance T of 7
preposition =T TR el AT &V Tehmem Jrft of &1
preposition Jge.

e} T3RaT STEEA 31T B 318 X et feurdt euigvaTETdt
into 3T preposition =T T el AT FeU FLehre STft
jumped T into & preposition IS,

(a) Between 3T preposition =T a9 g ekt fehall qE
=1 Fey guffauarTdt Sheft Sat Fev ek St
between & T AgA.

(b) =G (=T Hﬁ@/ana;-r) FIM 37U besides I
preposition =T TR hefl STl U Fehre St
besides &1 T ISA.

(c) a1 TETdl TR STe® 3T1d Bla 3T8e el into
AT preposition T AR HIATM. I3eE in AT to
ey AR A @ in & adverb EAT MV to &
preposition of direction 3THal TeU[ fehre Sft
in to g1 TIT IsA.

wﬁﬁiﬁm%%m S0 1AM concern
FaX for AT preposition =T TR HeAT HATdl. RS

3 %. (3) My parents are concerned for my health &
T I T I

(a) TS &= BICIECil ¥ preposition ITIATd
IRAC WS, TeHl, o3, U Fiean AEnaTel at §
preposition JTIRATd. IT TR lives Tt in Tasit
at & preposition UTES &Id. & I T TR,

(b) Reach 2 transitive verb 3@eaa @ verb FaX
preposition STHRET SITq A&l & AR S 3718,

(¢) Live in a cottage/live in a hut 379 phrases 3T&d.
Live 5 in & preposition STHET 1Al & aTeR &L
3R

(d) Time T place gxifeum=n wegr=an 3meft for, from, in,
on ¥ HIUE! prepositions ST ST A&, § aTR
=% AR

(a) Say to someone's face AT 31U phrase 38 U
T FTERIT on AT preposition TS to @ preposition
TEN B4, B T T IR,

(b) WA . (a) AT TIEHUMTEAR & AT T 37,

244

feetean gl context JER @I prepositional
phrases 3 319 :

(a) Wind up - turn - Fo30l, ATTHIET T

(b) Wind down - came to an end : TgETd 0¥

(¢) Wind back - breath : YaTE=saTE

Tepm STft since A1 preposition =T I gﬁﬁ Catu|
areRTd TRl geamd feoett 3R,

(a) I TR AR (AT HigH /aTegd) 3T A
besides AT preposition =1 TR Feprn AR el
TS,

(b) T STRITE AT ST 3T UM beside A1
preposition =T TR T STl el STEe.

10.

(1) feeten areTdia to & preposition of cause/reason
TR,

?2) fectean smeRTa for &1 preposition of time IR.

(3) feoiean e in &1 preposition of manner 37Tz,

(4) fectoa aeRITd on BT preposition of possession 3Tz,

11.

HTIET TTevl, R aresvl feharm ShrarargEm anTy A1 37
abide @ by T preposition =T ST el STl TR
T Sft by B preposition A$a.

12.

(1) TErEn MeEEd T e e fammor g o
YT oblivious T of B preposition T .
7 I TR IR,

(2) AT fShan 3% o3 T 3TN FAAM torture TR
upon & preposition T A, § ST SR 3R,

(3) feoiean amemd bestowed at & preposition ﬁaﬁ%
3T UGS bestowed upon ® preposition
TTES. B 9T g IR,

“4) Q’@'IEITTP@T{'ITE IEERCE RG] EiC] differ 9 from
¥ preposition TS AT, & AT TS 3TE.

13.

(a) Resemble T transitive verb 318, X
preposition = TR el F1d ATEl FUH & a1
S TR,

(b) Tire a1 T&GHA of AT preposition = TR hell
STal, with =T 1€ § 9T 9 3R,

(¢) Order & transitive verb 378, I preposition =T
TR AT ST T8 U & o1 SR TR,

(d) Combat &T transitive verb 318 HaX preposition
=1 99 Shefl ST T2 TeUH & JTe sHis 3R,

14.
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feetean ameTd notwithstanding & preposition 31Tg.
Note :

Notwithstanding STeRITd preposition, adverb 3Tfor
conjunction = fieT AT, o WTTSHTON:

Preposition - despite or without being affected by :

=iStem, = qdt T
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(5') CONJUNCTION

(TT@aT 2023)

(a) He was confident as well as hopeful.

(b) Work hard lest you should fail.

(¢) We will try and find him.

(d) Ihanded him my valuables because I might loose

Identify the correct sentence/s.

them.
(1) Onlyaandb (2) Only band ¢
(3) Onlya (4) Onlycandd

'He must be asleep for there is no light in his room.'
The underlined conjunction in the sentence above
eXPresses ......... and hence is called........ conjunction.
Which one of the following correctly fills in the
blanks in the sentence above ?

(a) inference, illative  (b) addition, copulative
(c) contrast, adversative (d) choice, alternative

Answer Options : (Combined C 2023)

(1) (c)only (2) (a)only
() (d)only (4) (b) only

Choose the correct sentences : (Combined C 2023)

(a) Try and come tomorrow.

(b) I felt sure he would die and his money would go
to his son.

(¢) The pundit read the first mantra and the
bridegroom read the second.

Answer Options :

(1) (c)only (2) (b) only

(3) (b)and (c) only (4) (a), (b)and (¢)

In which of the following statements are the corr-
elative conjunctions 'when' and 'hardly' correctly
(dASO 2023)
(a) I had hardly gone to bed when there was a knock
at the door
(b) When there was a knock at the door, I had
hardly gone to bed

used?

(¢) Hardly had I gone to bed when there was a knock
at the door

(d) Hardly I had gone to bed when there was a knock
at the door

Answer Options:

(1) donly
(3) conly

(2) bonly
(4) aonly

(a) The days were short, for it was now December.
(b) 1did it for I was hungry. (TSTEET 2022)
(c) Because it was wet he took a taxi.

Identify the sentence/s grammatically correct.

(1) Only(a)and (b)  (2) Only (b)and (c)

(3) Only(a)and(c) (4) Only (a)

Which one of the following sentences is incorrect?
(Combined B 2022)

(a) It is nothing else than arrogance.

(b) Itis nothing else but arrogance.

(1) aisincorrect b is correct

(2) ais correct b is incorrect

(3) both a and b are correct

(4) both a and b are incorrect

#7.

Which of the following sentences are grammati-
cally correct? (Combined C 2022)
(a) She did not break it nor lose it.

(b) She did not break it or lose it.

(¢) A month has passed since I come here.

(d) A month passed since I am coming here.

(1) Only(b)and(c) (2) Only (a)and (b)

(3) Only (c) and (d) (4) Only (a) and (c)

While joining the following pairs of sentence
through 'AND', which items can be omitted?

(a) Meera opened the fridge. Meera put the milk in it.
(b) He chained the dog. He tied it to the door.

(c) Rita has opened the room. Rita has cleaned it.
Answer Options: (Steno online 2022)
(1) Meera, he tied, Rita

(2) Meera, he, Rita has

(3) Meera put, he, Rita has

(4) Meera put, he, Rita

Choose the correct sentences. (Steno Typist 2022)
(a) Students must either wear hats or caps.

(b) He is an ascetic in neither theory nor practice.

(c) This will not only interest children but also

grown-ups.

Ans 1-1 1 2-2]3-1]|4-3]|5-3]6-1

7-#18-21]9-1
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(@) As well as =1 IR G =IhT feharr o SArgvamad
hell SITal. feetedn areTd as well as 3 confident
AT hopeful & G adjectives Sgelel 3TT&d. B
IR SR 3T,

(b) Lest @ed should =T 9T el ATl & 19 SIS
TR,

(¢) Try I verb A and I conjunction =T IV IR

BN 7. Infinitive ITTE ITREGEHT LAl I3, &
IR I TR,
(d) 31 9 bacause AT conjunction T AT SR

318, W loose AT adjective =M TR Fehi=T T
TGS lose AT verb =1 AT F15a. @ AT I TR,

For, so, thus, then, therefore, consequently, hence etc.
2l illative conjunction 3TT&d. feeteam ameRIT inference
ke conclusion geiEvaT@Td! illative conjunction STaXe!
Srard. feciean s underlined, for B ¥ illative

conjunction 3TTg.

(a) Try 3T verb FaX and I conjunction =T I TR
BIUR A&, Infinitive STHEA JTEREAT AT A5, &
TR Th IR,

(b) S8 subordinate clause =t ged1d feel, think,
believe etc. verbs = Shefl SITd degT ST SHSUAT-
T3t that AT subordinating conjunction =T ATHR
AT Q. & T T IR

(¢) And 3T coordinator J 9 main clauses T A
ST ATt TR, @ e S 38,

(a) 1 9T hardly.....when < T&AT Fehelet! 3R,

(b) FmaEE ST hardly.....when = THT Jehetelt
3R,

(¢) I amRTd hardly.....when = AT 9 fdfA
ATROITA SATeAT 3712,

(d) I IR G hardly.....when =t AT geheret!
3R,
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(a) For =T IR g SIS RO HITUATETS! Shedl
STl B ST SUE 37T,

(b) TEEN THH W WIS JEHt bacause AT
conjunction =T 9T HTaTd. feeteam areRTa for Uasil
because =T IR &5c. § A1 I 3TTR.

TETEN 4T I SOIETd! J8H] bacause =T ST
EaGIGH

Que. : Why did you do it ?
Ans : 1did it because I was hungry.

(¢) Because S HRUT HATUATETS! TSRS FEATATAT 3
A T A TR TS 3.

(a) Nothing else T but AT conjunction =T I el
ST, than =1 AT, & 9T T 3718,
(b) 3 ITRTA nothing else T but AT conjunction =T

IR U TR,

#7.

(a) Not d never =1 I1HITd nor T JTIX hd Tal U
g 919 ghiE 3R, AT 99T neither ... nor =t
TEAT hefl ST ehdl.

(b) TYH I S negative A W CHAAT 1A nor
=1 Sl or AT ITEAI. & ATRT SIS 37TE.

(¢) SR ufgel 9 7 perfect present tense o 3Tt 307
QE=T ST since 7 conjunction time Iifard 318
W since =T clause & simple past tense 3Hql. &
I T IR,

(d) T (c) =1 frm 1 wafrEeEa ang A @ 9
T TR

B 9% STRANTREA & HWATT AT 378 HRUT 37Uferd IW

T feeet .

(a) feciean st Meera TSt and =T 9T 5.
Meera opened the fridge and put the milk in
it.v’

(b) feciean I he Tasft and =1 9T Biga.

He chained the dog and tied it to the door.v’
(¢) feoiean ameRITd Rita has =37 Ugstt and =T ST &g

Rita has opened the room and cleaned it.v’

(a) Either .......... or T T %k G SIthl, a_ fehdl
MEiETt et Sral. dfgesn e Swq=an hats ameft
either T go=AT T S&q=A caps 3N or =1 AR
BI5. 7 AT I IS,

(b) Neither ..... nor 1 9T %k gH ShI, a&q_ fohal
Ttardt et Sal. ufeean fim s theory 3meft
neither T g&@=AT fim IEIAT practice 3 nor =
I EEA. 7 TR TR TR,

(¢) Not only ..... but also =T IR & §F S<hI, T
fopan Tirsfandt emm wmar. ufgen firm axqen amef
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SYNTHESIS

SIMPLE, COMPOUND, COMPLEX SENTENCES

He heard the king's remark. He held his breath.

Select the correct simple sentence of the above
(TTEET 2023)

(1) As soon as he heard the king's remark he held his

breath

(2) On hearing the king's remark he held his breath

(3) He heard the king's remark and he held his breath

(4) King's remark made him held his breath

Identify sentence/s which are not simple sentence/s.

(TTEET 2023)

(b) The moon was bright and we could see our way.

(a) His courage won him honour.

(¢) They rested when evening came.
(d) They would not allow them to fights

(1) a, b, d (2) a,C
(3) onlya 4) b,c,d
' knew that he was ill, but I did not know that he

suffered from cancer.' (Combined C 2023)
The above sentence exemplifies .................

(a) Compound sentence

(b) Compound-Complex sentence

(c) Complex sentence

(d) Simple sentence

Answer Options:

(1) (c)only (2) (b) only

(3) (a)only (4) (d) only

Choose the correct replacement for the underlined

items: They rested at sunset. (dPSI 2023)

(1) When evening was coming.
(2) When evening had come.
(3) When evening came.

(4) When evening has come.

'T still remember the joys of my childhood.'

Which one of the following is a correct complex

sentence corresponding to the simple sentence

above? (dPSI 2023)

(a) Iremember the joys experienced in my childhood.

(b) I still remember the joys which I experienced in
my childhood.

(¢) I still remember the joys I experienced in
childhood.

(d) TIstill remember the joys which I had experienced
in my childhood.

Answer options:

(1) (d)only (2) (c) only

(3) (b)only (4) (a)only

A rolling stone gathers no mass.

Which one of the following sentences is a complex
sentence corresponding to the simple sentence
above? (TT@aT 2022)
(1) A stone, that rolls, gathers no mass.

(2) A stone, that gathers no mass, rolls.

(3) A stone that rolls, however, gathers no mass.

(4) A stone which rolls gathers no mass.

The problem was too difficult to be solved.

Select the correct complex sentence of the statement.
(1) The problem was very difficult and it could not
(TTEET 2022)
(2) The problem was so difficult that it could not be

be solved.

solved.
(3) Being the problem difficult it could not be solved.
(4) Having the problem difficult it can't be solved.

(a) He worked hard so that he might gain a price.
(b) Having no money, he had to barter goods.

(¢) That was a fault which was not to be forgiven.
(d) He must confess his fault or he will be fined.
Identify the simple sentence. (T=@a 2022)
(1) Only (a) (2) Only (b)

(3) Only(b)and(c) (4) Only (c)

Identify the correct sentence. (Combined C 2022)

(1) Not only she wrote the screenplay for the movie
but also acted a role in it.

(2) She wrote not only the screenplay for the movie
but also acted a role in it.

(3) She not only wrote the screenplay for the movie
but also acted a role in it.

(4) Not only she wrote a screenplay for the movie but
acted a role in it also.

Ans 1-2 1 2-4)3-2]14-3|5-3]6-1

7-218-21]9-3
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CHAPTER

SYNTHESIS : EXPLANATION

SIMPLE, COMPOUND, COMPLEX SENTENCES

Transformation of Sentences

Simple Sentence

Compound Sentence

Complex Sentence

not only ....... but also,
Besides |l
as well as, both... and
In spite of yet, but, still, also though, although, however
At the place of there where
At the time of and, then when, before, after, as soon as
In the event of or, else, otherwise if
To, in order to and, then if
In case of and if, unless
Too ........... to and So.... that
Being but then though
Having and, then when
The most....... ,the ........ est | erinnn. not so/as....... as

Owing to, due to, because of

hence, so, therefore

because, since, as

Like

and

as, just as

278
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. Shaikh Publication, Pune

1) feoidt a2 complex sentence I8 ST A as
soon as T subordinating conjunction = Sgetet
TR,

() feoiet o 7 simple sentence T8 HROT AT
AERIMEE preposition + gerund 3T held & Tsha
finite verb TeieTl 312,

(3) feort T compound sentence = 37 R B
e and AT coordinating conjunction I Sgeiel
TR,

(4) Teciean g wvar 31 o T, § 9
FEA 37Tz,

(a) Teoiet a9 2 simple sentence 3T SR ITd won
B U finite verb 3Tl TR, T8 I TR
IV conjunction ITRTITA 3TTerel &Y.

(b) feort T compound sentence 9 R RO B
e and AT coordinating conjunction I Sgeiel
TR,

(¢c) et I B complex sentence 3718 SR & when
1 subordinating conjunction ¥ STEeiel 3TE.

(d) et I B simple sentence 318 HROT ATd allow &
T finite verb 3TTeiel 3T T8 IT 1SR HITART
conjunction STIRTATA 3TeTet ATET.

1 g 3T I (b) ST (¢) BT T ITEREAT

e g, WY SAER T (4) (b) (c) (d) & R

feetel srem & I Hfew IR,

SegT Ushl=l 91T subordinating conjunctions 3T
coordinating conjunctions T3 STHRel SITATd, o8l d
g compound complex sentence = 3. feetet o
2 compound complex sentence ¥ 318 HRUT ST

gH subordinating conjunctions 3T T coordinating
conjunction =T IR hell TTieTl 373,

Adverb clause =T IR & feeiet 919 complex SadT
DEH RITCﬂ'ﬂ’Tﬁ A ST (3) when evening came
T I ASA.

(a) feoTean STeRITe Hivrarel 379 ATE TeUE 7 9T
HIEH I,

(b) feort T complex sentence o 312 R T
ERITT adjective clause STHEIET 31T which 2
subordinating conjunction T 3TTE.

Note:

Noun clause, adjective clause and adverb clause &
& clauses complex sentence HEA AdTd.

(¢) 7 IF €A AR HRU A complex sentence
TV IS subordinating conjunction =T AT
AT AT ATEY.
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(d) I SRS perfect past tense =T AT FehlET T8
HRU 9 simple past tense ARIAT g4l

gfge ST T complex sentence <t 3118 SR
T fawmToft @refier SETT AT I

A stone B main clause 378 (subject) That rolls &
adjective clause 3718, S stone IT noun TEe ATfEd
iTd 312, Gathers no mass g ¢@@ main clause 31Tz,
Adjective clause = T&HT & complex sentence
SfAT JdTd. ST 941 3. (1) ST AR, b
T FUEE 3.

Too......to = TEHT T AR 318 d a9 simple
sentence ¥ 3THd I complex sentence T transfor-
mation AT s0.....that = THT U M. 7=
. (2) g I complex sentence DERH

(a) Teoret amm complex sentence 38 ST d so that
1 subordinating conjunction ¥ Seaiel 3172,

(b) Teetean ST ®® had B T finite verb 3T &
simple sentence IR,

(¢) feiet complex sentence < 312 %R d which
97 subordinating conjunction q el IR

d) Teorat g compound sentence 38 HROT d or AT
coordinating conjunction ¥ Sgeiel 3172,

Compound sentence T not only ... but also =T dTIR
g =ht, I fohan MrgiaTdt e STl afeen fim

&A1 3 not only T gE=n T a&q=an 31l but
also =T 9T el Sal. JY not only ....... but also =T

TR HEA H verbs STl TR, ST TITT 5.

(3) correct sentence .

Synthesis

10.

(a) feoret e simple sentence 9 312 SR AT is &
Thd finite verb AL 312,

(b) feoiet I complex sentence = 318 HRUT T
noun clause 3/ o what 3T subordinating
conjunction ¥ Sgeiel 312,

(¢) et I complex sentence I 312 SRV AT
adverb clause 317 T while IT subordinating
conjunction%r EIESGREI

11.

A poet may easily be pardoned for reasoning ill.

He cannot be pardoned for describing ill.

@I YfhaTe /qeh hedTaeel TETEN Shalell TgTavl W
el TS IMehd. FehleAT TUHEES Tl BT bl AT
S1ehd ATal. feetedn wd qafam@ed though BT subordinating
conjunction ITIATA TS 3T & T a1 complex
sentence = 3TTed Tiq feeiean ameRIT=AT context THR Btk
I (d) 3T appropriate complex sentence form TR,
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CHAPTER

CLAUSES

NOUN, ADJECTIVE, ADVERB

Identify the examples which are not of Adverb (d) Although aeroplanes sometimes crash, accidents

clauses of time from the given sentences. are rare.

(a) After the law had been passed this form of crime Identify the sentence/s with adverbial clause.
ceased. (TrT@ET 2023) (1) Only (a) and (c) (2) Only (b) and (d)

(b) Let him be arrested wherever he may be found. (3) Only (a) and (b) (4) Only (d)

(c) We eat so that we may live. 7. Choose the correct replacement for the underlined

(d) Ifitrains, we shall stay at home. items: (dPSI 2023)

(1) a,b,conly (2) b,c,donly The umbrella with a broken handle is mine.

(3) a,c,d on]y (4) a,b,d only (1) which had a broken handle

Identify the type of clauses underlined in the (2) which has a broken handle

following sentences. (TR 2023) (3) that having a broken handle

1. Whoever thought of that idea is a genius. (4) which having a broken handle

2. I asked her when she would finish writing the 8. Identify the type of clause underlined in the
book. following sentence. (T - 2022)

(1) Adverb clause, Noun clause That he is a brave man is admitted by everybody.

(2) Adjective clause, Adverb clause (1) Adverb clause (2) Adjective clause

(3) Noun clause, Noun clause (3) Noun clause (4) Adverb clause of manner

(4) Adverb clause, Adverb clause 9. Although no goals were scored, it was an exciting

Fill in the blank. (Combined B 2023) game. Identify the clause underlined. (<T@ 2022)

That he will be elected the Prime Minister ........ (1) Noun clause (2) Adjective clause

(1) everyone is expecting (2) everyone expected (3)  Adverb clause (4) Relative clause

(3) everyone expects (4) is expected by everyone | 10. He asked me how I grow my carrots.

Choose the best option to fill in the blank. Identify the clause underlined. (T 2022)

.............. does not concern me. (Combined B 2023) (1) Noun clause (2) Adverb clause

(1) What he has done  (2) What has he done (3) Adjective clause  (4) Relative clause

(3) What did he do (4) What does he do 11. Identify the type of clause underlined in the

following example : (TSTEET 2022)
‘Had you been there, we could have fought it out with . .
them.” The underlined clause in the sentence above o8 We. climbed up 2 tree. in.order thatwe could have a
clear view of the procession.

exemplifies ............ (Combined B 2023) (1) Adverb clause of Time

(1) Adverb clause of cause (2) Adverb clause of Reason

(2) Adverb clause of condition (3) Adverb clause of Result

(3) Adverb clause of concession (4) Adverb clause of Purpose

(4) Adverb clause of result 12. There was no woman present but wept at the news.

(a) The doctor advised his patient where he should (Combined B 2022)
go for a holiday. (Combined C 2023) The underlined clause in the sentence above is a/an

(b) The judge wondered who had committed the (1) Noun clause (2) Adjective clause
crime. (3) Adverbial clause (4) Co-ordinate clause

(c) Itis a pity that you couldn't come.

Ans 1-2 2-3 3-4 | 4-1 5-4 | 6-4 | 7-2 8-3 9-3 J10-1 | 11-4}|12-2
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CLAUSES : EXPLANATION
NOUN, ADJECTIVE, ADVERB

sasne|)

21

(a) After I subordinating conjunction ¥ Sgeief!
R adverb clause of time = 37T,

(b) Wherever 3T subordinating conjunction 3
Sreetelt st adverb clause of place =t 31&dT.

(¢) So that AT subordinating conjunction ¥ Seeiei!
IR adverb clause of purpose =t 31T,

(d) If, unless 3T subordinating conjunctions 3 Srgctett
e adverb clause of condition = 3TEdTd.

(1) Whoever thought of that idea & is T verb =1
subject 31¥J 71 noun clause as subject of the verb
TR,

(2) When she would finish writing the book ? asked
I verb = object 37T & noun clause as an object
of the verb 3TTz.

That he will be elected the Prime Minister 8 is IT verb

=1 subject 3T 7T noun clause as subject of the verb
31mg. frpmn S is expected by everyone s,

feetedn aeRmE noun clause as subject of the verb

& feepndt ST 3TR. ST AT subject AT Fafada
subject U Wh word X helping verb &eiell v
%. (1) what he has done I3

feetea aTeTa inversion =t THT SHUAT STTeielt 3118
A wish $T81 h helell 38 TV & a9 adverb

clause of condition 3TT2.

(a) Where he should go for a holiday 2 advised a1
verb = object 3T & noun clause as an object of
the verb 3T,

(b) Who had committed the crime & wondered 3
verb = object 37¥d 31 noun clause as an object of
the verb 3T,

(¢c) feoiet areRTa that you couldn't come &1 ST
noun clause 3T[d T a pity 3T subject ¥ complement
< W A TR,

(d) feret I/ adverb clause of contrast & 318
RO d although 3T subordinating conjunction 3

ST TR,

298

The umbrella with a broken handle. g a9 adjective
phrase = 3 M adjective clause A& replacement
The umbrella which has a broken handle is mine 37

RS

That he is a brave man & a9 is IT verb ¥ subject
JTR IO subject FEU AT JAIHR &1 noun =T IT&AT
TEUH d 919 noun clause as subject of the verb = 3TT8.

feetean gt underlined clause 8T adverb clause of
contrast 3T SRV T clause ALY TETRIET Shedq
e wigeat SaTd d clause adverb clause of
contrast/ supposition /concession 3T&dl. AT clause =
H&d1d although, though, even though, however even
if whereas SISl conjunctions STI& Shefl ST,

10.

feetean areRTd how I grow my carrot 8 asked 3T verb
< object 3EA & noun clause as an object of the verb

R

11.

Adverb clause of purpose TETE! TR AT &
HT T8 B GV clause TgUSIE adverb clause of
purpose 8. AT clause = FEATT so that, in order that,
that, lest I subordinating conjunction = 2Id. feoiet
9 & adverb clause of purpose 3 38,

12.

Who not f&aT which not a1 31 but & g4l relative
pronoun TV AT A FEUISE o a1 adjective/
relative clause o 37Hd.

There is no one here but will support you.

There is no one here who will not support you.

B TG 9T U ST gikal a1 adjective / relative
clause = 3124,

13.

feetean ameRITa who will bell the cat T sentence Hefiet
noun clause 377 is AT verb =T complement TV %r
Hd TR

14.

feetedn ame@md which has a broken handle BT adjective
clause 3118 I @1 umbrella I noun & 3feeh ATfEdT
TG 3R,

15.

feiean 9m™ITd in case it rains & underlined clause

condition TIAfId 3ME, TEUH I adverb clause of
condition 37Tz,

16.

feetean IR how you manage your class BT is 3T
verb =T subject 3TJ noun clause as subject of the

verb 3.

17.
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feetean ameTd whose fur was white and fluffy & clause
lamb 31 noun ST WIfEd TG 312 &Y & adjective
clause 3TT8.




CHAPTER

INTERJECTION

1. Fill in blank with the most appropriate interjection. | 10. Choose the best interjection to fill in the blank.

...... ! T have a brilliant idea. (Forest 2014) weeveeeeee.] That was a great show. (PSI 1988)
(1) Ah (2) Aha (1) Wow (2) Oh
(3) Oh (4) Bravo (3) Nope (4) Sure
2. Identify the part of speech of the Italicised word int
he following sentence : (MES 2014) Self Notes
Away, away! You scoundrel.
(1) Adverb (2) Adjective
(3) Interjection (4) Preposition

3. Find the correct interjection for the blank :

(1) Oh 2 O (MES 2012)
(3) Alas (4) Hush

4. Fill in the blank with appropriate interjection:
...... Thank God! (Clerk Typist 2011)
(1) bravo (2) what
(3) oh (4) how

5. What do you call for a word which expresses some
sudden feeling. (STI 2007)
Hmm, I'm not sure this color is perfect for my dress.
(1) doubt (2) surety
(3) surprise (4) pleasure

6. Which one of the following interjections indicates
SOrrow? (PSI1 2001)
(1) Hello! (2) Alas!
(3) Oh! (4) What!

7. Read the following sentence and respond.

'Wow!' is the interjection and shows surprise.

(1) true (2) false (ASO 1997)
(3) can'tsay (4) none

8. Which one of the following interjections indicate
excitement? (PSI 1991)
(1) eureka! (2) shoo!
(3) wow! (4) hi!

9. An interjection is: (PST 1988)

(1) An exclamation which shows thoghts or feelings
(2) A meaningless string of sounds

(3) The same as an adjective

(4) The moment of greatest excitement

Ans 1-2 1 2-3 |1 3-4|14-3|5-1}6-2]7-1]|8-1]9-1]10-1
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Y’2) INTERJECTION : EXPLANATION

Aha g 3g=esie @ Ah, oh & Wehegieh 3T Bravo
B USIETEI interjection (TSR 31e) 318, ot
IR STTERIBRS el eh Hid, T Aha B STe=iesis

interjection Tt SRt Iga.
Aha! I have a brilliant idea.
HTE HETaTE interjection WIS :
Joy (3Tg) Hurrah!, 1. Ha-Ha! I have got my
Hurray!, new car.
Ha-Hal. 2. Hurrah! I have got
Hip-Hip- admission in the
university.

2 | Grief (g:@) Alas!, Ah!, | 1. Alas ! She is no more

Oh!. 2. Ah'! My son has failed
again.
3. Oh! thank God!
3 |Surprise Oh!, 1. Oh ! You are here.
(3m7=r) What!, 2. What ! Is that so?
Aha!, 3. Aha! I have a brilliant
Wow!. idea.
4. Wow! That was a great
show.

4 | Appreciation |Bravo!, 1. Bravo! You have done
or Approval Hear- well.

(SIreTET) Hear!, 2. Hear-Hear! Correct
answer.

5 | Contempt Pooh!, Fie! | 1. Pooh! How dirty.
(o / fereehmt)

6 |Drawing Look!, 1. Look! Your purse is
attention Listen!, open.

(e hfga Behold! | 2. Behold! Let them go
Eu)) first.

7 | Calling Hello!, 1. Hello! Where are you
(3ATET O Ho! looking at!
foha Si@@) | Hey! 2. Hey! What's the matter?

8 |Making or Hush!, Sh! | 1. Hush! Somebody is
becoming there.
silent 2. Sh..! Stop talking.

(o7 §Eor fohar 3. Sh..! Don't make noise,
Eu)) it is hospital.

9 |Express doubt |Hmm!. 1. Hmm! I'm not sure this
(3T =Ih colour is perfect for
01, ETYTH my dress.

)
2. Interjection (haGIAN 75 )=t SATEAT : VAT

306

TS SAhI=T ATSTgT o 3= g STel I8dTd

M interjection’ FaSYANT 3R’ 318 TEUEAd. feetean
STHRITA WIS IR 378, T8V aiiet aremd Away,
away ® interjection 3112,

Hush - to make (someone) be quiet or stop talking T
g fSha ST, SITd KT, U AT AN feeren st
Hush % interjection DEH

Hush! I don't say a word of this to anyone

Oh!, What!, Aha! 3. ¥Teg 3T¥=l S5 hidTd T&v
e St sfier aTeRITeAT STATTER oh AT interjection
=7 9T E8el. Oh! thank God!

FgRfad Hmm & interjection, doubt HTehdT SI<h
Tl

Alas!, Ah!, Oh! 3. s sorrow, grief §:@ s .

'Wow!' is the interjection and shows surprise.

feoiet M true 3112

TETE TMEET MY ARTCAH a1 helel Hagel Tohal
THETE IGTR STV 376G T80 eureka | 811 T SToRITa
excitement SUTRT 975G eureka ! B,

Interjection (FABIANN TSA) : WG HfRhITeS
RO AISIGA o 3TEH Ieg STt USdTd T

An interjection is an exclamation which shows thoghts
or feelings

10.
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wow! 2 interjection I§. Wow! That was a great show.
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CHAPTER

WORDS USED AS

DIFFERENT PARTS OF SPEECH

1. Identify the part of speech of the underlined words (b) It was my brief to make sure that the facts were
in the given sentences. (TI?T@EIT 2023) set down accurately.
I.  Soft drinks have a high sugar content. (¢) T'was briefed about the incident.
II. T was content just to stay at home and read. (d) Introduction was brief and polite.
III. He was planning to desert his family and go Answer Options : (Combined B 2019)
abroad. (1) short, instruction, informed, succinct
IV. It hasn't rained in the desert for years. (2) scanty, hasty, directed, concise
I I 10| v (3) little, pointed, directive, lengthy
(1) Noun  Adjective Verb Noun (4) compact, advise, updated, instruct
(2) Noun  Verb Verb  Noun Match the following underlined words with their
(3) Adjective Adverb ~ Noun Verb parts of speech. (T8 2018)
(4) Adverb Adjective Noun Noun (a) They are menoflike (i) Noun
2. The word "run" can have multiple meanings. build and stature
In which of the following contexts does "run" (b) Like as a father pitieth (i) Verb
represent the action of movement on foot? his own children
(Combined B 2022) (c) Children like sweets (i) Adverb
(1) "Ineed to go for a run to stay fit." (d) We shall not see his like (iv) Adjective
(2) "The water began to run out of the faucet." again
(3) "She runs a successful business." (e) Don't talk like that (v) Preposition
(4) "He has a long run ahead of him in the marathon." Answer Options :
3.  Identify the functions of the word 'after' in the @ () () @ (e
following sentences. (Combined C 2022) (1) iv @i i i v
(a) They arrived soon after. 2) ii v v i i
(b) He takes after his father. 3) iv v i i i
(c) After ages shall sing his glory. @) ii i iv il v
(d) We went away after they had left. Identify the parts of speech of the underlined word:
(1) adjective, preposition, adverb, conjunction He is a fast talker. (TrST@ET 2017)
(2) conjunction, adverb, adjective, preposition I was observing a fast.
(3) adverb, preposition, adjective, conjunction Muslims fast during the Ramjan.
(4) adverb, adjective, preposition, conjunction She drove fast.
4. Point out the odd sentence. (Combined B 2020) (1) Adjective, adverb, noun, verb
(1) Rainy season is mostly greeted by all the farmers (2) Adverb, verb, noun, adjective
in India. (3) Adjective, noun, verb, adverb
(2) Seasonal railway tickets are not available now. (4) Adjective, noun, adverb, verb
(3) One must eat the seasonal fruits to be healthy. Choose the class of the underlined words.
(4) Mohammad Ali was a seasoned boxer. After he had drunk (I) the whisky, the drunk (IT)
5. Choose the correct alternative for the underlined was very drunk (III) indeed. (STI 2017)
words in the following sentences : (a) Adjective (b) Noun
(a) Thad a brief look at the report. (c) Verb (d) Adverb
Ans 1-1 2-1 3-3 1 4-4 ] 5-1 6-1 7-3 | 8-3
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CHAPTER

WORDS USED AS DIFFERENT

PARTS OF SPEECH : EXPLANATION

I. 37 9T9d content (AT BT noun 3TR.

II. 37 919RITd content (FHTHTHY) BT adjective 31T8.
I, 31 sTeRTa desert (TITT ShT0T) BT verb 37T8.
IV. a1 91Td desert (STe3€e) 1 noun 3778,

Run a1 Q'IE'I% Ih Y ‘ﬁﬁ'd'l?[

(1) Run: an act of running on foot : BIcw
(2) Run : 9= Y4GTE AT HTEd 3R
(3) Run : 31 v 37 =@ ATefeml
(4) Run: ajourney by car or train : Jd19

(1) 1 ST after & adverb 317,

(2) &1 9TRITG after & preposition 3712,
(3) 31 91T after BT adjective IR,
(4) 31 9TRITG after & conjunction 3712,

(1) 31 dTRITd season & noun 3.

(2) 31 9T9Td seasonal BT related to particular season
adjective 3TT3.

(3) I aTITd seasonal B particular season HSTerd
TR, A1 A1 ST adjective 38,

(4) = aeTd seasoned B odd sentence 318 HRUT
seasoned =T 319 experienced or skilled 37T 37T8.

Parts of speech TR Sie ARl 319G brief I
I A alternatives TTCTCTSH :
(a) [had a brief look at the report. (Noun)

Brief - short - dTg@Ta

(b) It was my brief to make sure that the facts were

set down accurately. (Noun)
Brief - instruction - 31
(¢) I was briefed about the incident. (Verb)
Brief - informed - =1/ arfeet feef
(d) Introduction was brief and polite. (Adjectvie)
Brief - succinct - HfeTH , &R, ATSHRITd IUT Y

(a) They are men of like build and stature. (Adjective)
(b) Like as a father pitieth his own children. (Adverb)
(¢) Children like sweets. (Verb)

(d) We shall not see his like again. (Noun)

(e) Don't talk like that. (Preposition)
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Tiiet arEmeEd fast 81 adjective, noun, verb, adverb =
firehT hEal ot ErefiersmT

He is a fast talker. (Adjective)

T aTeRTd fast & adjective FEUE STTel 3T8, RO
talker I noun SEt 31fereh ATTEAT T 3R,

I was observing a fast. (Noun)

e areTd fast B noun 311%, hIUT dTRTd a, an
(article ) & noun d13t Iq 31Ed.

Muslims fast during the Ramjan. (Verb)

S TR fast &1 verb TEUM 3TTeel 31T8, HRUT df
AR subject TAX ST 3T T subject FaX AV
1&g verb 3T,

She drove fast. (Adverb)

(1) = arTd drunk (& fUor) & verb 312,

(ID) =1 IR drunk (STEET) & noun 372,

()31 aeRmd drunk (S e fmmerem) &1 adjective
3R,

(1) Fast - 39419 (noun)

(2) Fast - Sae&d1, Sftaa (adjective)
(3) Fast - 3UaT® 0T (verb)

(4) Fast - Sia3q (adverb)

10.

Well STeg STFITHES STTETesAT 37T ST ST bl

(1) Well - (f€R) : Noun

(2) Well - (3 gs9rft 301, 31d @@e30) : Verb

(3) Well - (==t /v, ®F, e, =afem) :
Adverb

11.

(1) He takes after his father. (Preposition)
1 ARG after BT preposition 3R,

(2) After ages shall sing his glory. (Adjective)
T 91T after BT adjective 3R,

(3) We went after they had left. (Conjunction)
1 ITRITA after & conjunction 3R,

(4) They arrived soon after. (Adverb)
T FTRITG after & adverb 318,

12.

Fast & ¥1&¢ noun, adjective, verb 3T adverb T
T ST

Better & ¥1&¢ adjective, verb 3T adverb FU[ TR
ST

That & T8¢ pronoun, adjective 3T adverb TeU[
TRAT STl

13.

Man 37 YreeTe @iefiel 312 37184 -

(a) The human species : HHl STt

(b) Male of the human species : HF ISTdT=T I&S
(¢) Adult males of the human species : Al =

site g&d
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WORD-FORMATION

ROOT, PREFIX, SUFFIX & AFFIX

1. Match the affixes with the words: (TI?T@'GT 2023) | #8. Itwouldbe .............. courteous to ignore her.
A B Select the correct prefix to make the sentence
L de A cure meaningful. (T 2022)
ii.  age b.  man (1) mis- (2)dis- (3) un- (4)de-
iii. en c.  duke 9. The word 'Vivo' has a Latin root
iv. arch d.  throne The meaning of word 'Vivo' is : (dASO 2022)
v. in ;16 e.  bond (1) the best/ fine (2) Calm/ quiet
Vi, A;ood £ length (3) Live/vivid (4) Long/strong
Answer Options : 10. Which one of the following is a correct option in
G (i) Gii) @(v) (V) (vi) case of the following word formation:

M @ @ @O @© (@ O "Subterfuge" (dASO 2022)
@ @ ® O @ @ © (1) 'Fuge'is a suffix
3 @ b © @ @ O (2) 'Subter'is a prefix
@ @ ©® () (a (c) (b) (3) 'Subterfuge' is a verb

2. Which of the following is the correct noun form of (4) 'Subterfuge' is an adjective
the word 'Destroy’? (Combined B 2023) | 11.  Point out the sentences which are without any
(1) Destructive (2) Destruction prefix or suffix: (dASO 2022)
(3) Destruct (4) Destructing (a) Man would live in a cave in the prehistoric age.

3. Identify the correct suffix in the word "preference". (b) You should not build the marble house on the
(1) pre- (2) -rence (Combined B 2023) bank of a river.
(3) -ence (4) None of the above (c) Idislike travelling in an overcrowded bus.

4. Here is a represent ........... sample. (d) TItis very difficult for an honest man to live in this
Select the correct suffix to make the sentence world.
meaningful. (Combined C 2023) Answer Options:
1) ... ible 2) . able (1) (a)and (b) (2) (b)and (d)
(&) ation [ J— ative (3) (a)and (c) (4) (a), (b) and (d)

5. Which of the following prefixes meaning 'Beyond' | 12.  Change the verb ‘explore’ into a noun by using the
correctly matches the root 'Marine'? appropriate suffix.
(a) Pan- (b) Supra- (c) Trans- (d) Ultra- Answer Options : (Steno Typist 2022)
Answer Options: (dASO 2023) (1) e ity 2) e ation
(1) donly (2) bonly (3) aonly (4) conly () J— ness 4) . ism

6. Choose the correct suffix to make a noun form of : 13. Which one of the following prefixes meaning 'all'
durable (dPSI 2023) correctly befits the word 'vorous'? (TTEET 2021)
(1) -ity  (2) -ness (3) -ism  (4) - ment (@) Mono- (b) Pro- (c) Supra- (d) Omni -

7.  Identify the correct prefix in the word. Answer Options :
circumference (TT@ET 2022) (1) Only (b) (2) Only (a) (3) Only (d) (4) Only (c)
(1) cir (2) circum 14. Identify the words which take the suffix ".... ist"
(3) ference (4) none of these (a) Hero  (b) Attract  (c) Flute (d) Loyal

Ans | 1-1]12-2)13-3|4-4)5-1)16-1|7-2]8-#]9-3|10-2]J11-2J12-2|13-3]J14-2

MPSC - ENGLISH ANALYSIS BOOSTER

31

Word Formation



SAM

LE
2

CHAPTER

WORD-FORMATION : EXPLANATION
ROOT, PREFIX, SUFFIX & AFFIX

1. Affixes Y& Wietlel words sHdIel. Sreerel ATEl.
i. dethrone - W Kol 12.  Explore IT IS ation BT suffix €S &= noun
ii. bondage - aﬂ? §7d. Exploration - research, inventor : SNe, HENEA
ii. lengthen - T T 13. AT foeiean Jemshl Omni 3T prefix =T ST9 &3
iv. archduke - BT T F 3¢ omnivorous (HEW&ft, Te HIE W) TIR
v. incurable - 37ETEI T .
vi. manhood - &N 14. (a) Hero 31 ¥TsgTeT ism & suffix SgA heroism &
Destroy 3T verb 9 destruction 31T noun TR Eﬁ?f noun 99X Bl
fecicam w1ard (preference) prefer & 425 root (31s3) 3T (b) Attract T verb @ tive T ion & suffix S
= suffix- ence 38 attractive  attraction 3/ adjective 9 noun TIR
4.  Represent 3T I ative & prefix ITTEA T IT6g g,
representative (ST, IETEl FHAT) TR BIEeA. (¢) Flute T STeaTel ist &1 suffix e flutist 370
5. Marine 37 &GIAT ultra 3T prefix FIESIESIEE G noun IIR BI5d.
53 ultramarine (HYEICSH1, 8 e M=) TR (d) Loyal & adjective ®T ist suffix Sigd e g
Bl loyalist (FaTHINRE) 3TET noun TIR Bral.
6.  Durable 3T adjective T ity & suffix Sgd durability 15. Dysentery IT SI&gTdiet 'dys' & Greek prefix 378.
& noun TR &ral. 16. Fog AT noun 9Hd adjective TR HUAHE! gy/y &
7. Circumference IT I prefix 'circum' 378, 3 suffix @A foggy & adjective TR IS
T 31 A T8 17.  Let 3707 human 31 4 YsHT sub & prefix I frd=
#8. Courteous - polite, well mannered, humble, modest - Siredt ¥5d. Sublet = rent ; TEHTSIH <.
o, T, smef, faasht Subhuman - less than human - 3T9E, 318 SH g
Discourteous - impolite, ill-mannered, disrespectful, TIR BIfel, T3 TSRS ShIvIdal 916G TIR BITR
bad mannered, rude - 3GZYUM, AR, 3Tl 7 GRAIUIRT .
< Courteous ¥ Discourteous, miscourteous 18.  Slave 37T danger A1 G AHHT en &1 YA AN
Teetean fam Tt dis fham mis 3/ prefix @EH courteous I verb TR BISeA. d JEITTHI ;
3 2 foregreff wreg TR B, ?*‘JTﬂé B U ST g Enslave - trap, suppress, dominate - TeTH ECicuN
Heiell 378, Endanger - hazard, jeopardize - &eITd 31001, FeheTd
9. Vivo & Latin root word 377 =1 319 live/alive/ e
vivid (fed /aese) 3@ gl 19. fecican areard febmm STft Trans 81 prefix =1 TR &8,
10.  Subterfuge & noun 3HJ ATl subter & Latin prefix She was transported with pleasure. T STHGH ¥RIE
IR. Subterfuge - a secret, usually dishonest, way of et Erelt e 3 .
behaving - TH, WT: A ST=OT 20. feotean aeRTd Omni A1 prefix =1 9T B4 omniscient
11. (a) feoiean are™Ta historic I &G pre & prefix (el @l STOTORT) &1 e 7o TR Aet.
21. (a) feciean areTa ®vETE suffix fhaT prefix aTateren

MPSC - ENGLISH ANALYSIS BOOSTER

Srgerer 3Tz,

(b) fectean T HIvTTE WeeE prefix e suffix
ShEeraT ATa.

(¢c) Teotoa ameRma like 31 YTegel dis BT prefix W travel
T IeQTeT ing & suffix 37T crowd 3T I over
Bl prefix EIESNIRCIE

(d) fectea aTeRITa SHIvETEl FTegTer prefix e suffix

.

(b) Tecioa aTeITd a & prefix ST9eie 312, (asleep)

(c) Teciean arema womarE suffix e prefix aToRere
.

(d) feciean arerRITa v suffix foha prefix SToReen
.
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r4sy) PUNCTUATION

Identify the sentence/s punctuated correctly.
(TTEET 2023)

(a) Friends, companions, relatives - all deserted him.

(b) He asked me whether I had written my exercise.
(c) O father I hear the sound of guns.

(d) O Hamlet, speak no more!

(1) a,b,d (2) a,b,c,d

3) a,c,d (4) onlyc

(c) My brother; gave me a watch ! to my sister : a
pen ?

(d) My brother gave me, a watch, to my sister a pen.

Answer Options :

(1) Only (d)

(3) Only (b)

(2) Only(¢)
(4) Only (a)

Choose the correctly punctuated sentence for the
(Combined B 2023)
akbar said to tansen will you take me to him

following:

(a) Akbar said to Tansen, "will you take me to him."

(b) Akbar said to Tansan, "Will you take me to
him?"

(c) Akbar said to Tansen, "Will you take me to him.”

(d) akbar said to tansen, "Will you take me to him ?"

(1) Onlyaandc (2) Onlyb

(3) Onlycandd (4) Onlyd

(a) Lucky whines; labour whistles; luck relies
on chance; labour relies on character.

(b) Friends, Romans, Country men; lend me your

ears.

(c) Alas, that a friend should be false !

Identify the sentence/s punctuated correctly.
(TTEET 2022)

(1) Only (a) (2) Only (b)
(3) Only (c) (4) Only (a) and (b)

What type of punctuation is; in the given sentence?
"He was an epitome of honesty, efficiency, sincerity,
perseverance; and we all respected him."

(Translator 2022)
(2) ;iscolon
(4) ; is coma with full stop

Answer Options :
(1) ;is semicolon
(3) ;is hyphen

Choose the sentences with correct punctuation

(T=TEET 2021)

(a) The mother said to her son; 'come into the
kitchen. I shall give you something to eat.'

marks :

(b) The mother said to her son, come into the
kitchen I shall give you something to eat.

(¢) The mother said to her son come into the kitchen,
I shall give you something to eat.

(d) The mother said to her son, "Come into the
kitchen. I shall give you something to eat."

Answer Options :

(1) Only (c) and (d)

(3) Only (d)

(2) (a), (b) and (¢)
(4) Only (¢)

Use proper punctuation in the blank space

of the following sentence:

I have no money ............ therefore I cannot afford a
servant. (Combined B 2021)
(1) , (comm(a) (2) :(colon)

(3) ;(semicolon) (4) - (hyphen)

Identify the sentence/s punctuated correctly.

(a) The sun having risen; we continued our
journey.

(b) He fought for his ideal earnestly, devotedly and
bravely.

(c) How noble is mercy!

(d) Alas, that a friend should be false.

Answer Options : (Combined C 2021)

(1) Only(a)and (b)  (2) Only (b)and (c)

(3) Only (a) and (c) (4) Only (d)

Choose the sentence with correct punctuation
(T=TEET 2021)

(a) My brother, gave me a watch, to my sister; a pen.

marks :

(b) My brother gave me a watch; to my sister, a pen.

Point out the sentences which have the correct
(dASO 2021)
(a) The ganges, the jamna, the Krishna and the Kaveri

punctuation and capitals.

should be connected.

Ans 1-1 1 2-2]3-1|4-1]5-3]¢6-3

7-318-21]9-4
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CHAPTER

w19 PUNCTUATION : EXPLANATION

(a) Teoiean ame™md friends, companions & relatives
T T HOIHEES comma =T TR I ET%
Dash - =T 919 to indicate a break in thought
(Feremrdiiel @ eeiauamardl) shefl Al =IHER 2
IR SIS 3R,

(b) fesil 9@ indirect narration = 3T RIS
conjunction whether TH= tense =T ST I 3R,

(¢) TG GIfd HUEE 38 & noun T comma
=7 919 ShedT ST, A1 aretd O father T comma
EES

(d) feciean g O Hamlet TR ST9Xeiell comma I
MR T8 A WA exclamatory mark FgT
A 3T, AT Oh BT U interjection 3178, S
T feeling =h HOHTES! IYTAT STl T speak

no more & imperative sentence T8, SITHEN
order fhaT request eft ST 3TE.

(a) Double inverted comma H&I IVM Ul letter &
capital 37 g I1 STRITd W B letter capital 9Tf&st
qhT IR e question mark I &l. 3
TR T IR,

(b) feoiat @ direct speech =1 fEwHER Imq @€
punctuation marks T G TR 3Teredt
& TV & a1 S 3TTR.

(¢) Double inverted comma & aTeRT F3mefi SrcaTges
@& quedtion mark TIfES. & a1 T 3TTR.

(d) Proper noun < ufget letter B A& capital FHd. AT
areRITd akbar 3T tansen & proper nouns 31T&d
1 gl ufgel letters capital (Akbar, Tansen)
IR B 7 I I IR,

324

(a) T TohaT g9 &I SITE Tods 9T SSUIEET semi
colon ( ;) STILATA. ITq THUT TR TR ITerelt ST
f waa TR U 9eRTd ATl el semi
colon I TR,

(b) Vocative case A& TSI 3Th g HAUHTETS!
/SSTIETES! comma =T ST hedl STTal ITd
countrymen @ semi colon Uasit comma =1
R BEA.

(¢) Alas® interjection TR 3T TR SR U
interjection word 3TTeieT TS T YUH HATeie
IgTeEesd exclamatory mark STIRdTd, gt
ARG ATE. AT IA AR S GH exclamatory

expressions 3Teiel ST T YT YegTaides ST
ElceiciRicr ﬁ'@ﬁﬁ exclamatory mark 9T9dTd.

4. feow punctuation mark & semi colon (;) 3TT8.

5.  gH Tdd 9eET separate ShUATHIST semi colon =T

TR el STl ST R JUT=AT conjunctive adverb

(use of adverbs as conjunction) f&aT noun & comma
FTAT STl

My brother gave me a watch; my sister, a pen. OR
My brother gave me a watch; consequently, my sister

received a pen &l Ity I AR,

6. (a) Direct speech B single or double inverted

comma A& IV dfeet letter B capital 37Ed o
speaker T comma Id 37Edl, semi colon ATE. 7
IR I 3TE.

(b) Tt 9T direct speech =T THRWTHEN single
inverted comma H& I, TEE SH TRITAT HEY
full stop feeier A& &V 2 o I 3R,

(¢c) fecioam amTa listener X comma feeia gt
T8 single inverted comma A& AR ufged
letter <@ capital <UATd 3ATeled A& 3TT0T g
FrREE full stop SE feetet ATe weu & a1
=% AR

(d) feoieam ameRma direct speech =T FremTER e
punctuation marks A el ST 3T 3ARd
U ? AT S 3R,

7.  gF Waa 91 SR conjunctive adverb (therefore)

I Sreefl Sq 31 a1 f3mfl semi colon @
punctuation mark 9 ST,

8. (a) Having + V3 =t 9l & perfect participle =

mﬁﬁﬁﬁ%ﬁ’f commawmw. %Eﬂ?ﬂ
I 3.

(b) TSHE IR GIF Y& SR adverbs 318 @
gfger amfor QU adverb & comma 3 SIS STl
3T ferer adverb &1 and 3 Sigat STal. @ 9
T TR,

(¢) oot e 7 exclamatory sentence El 3T
IR AT exclamatory mark I punctuation
mark =T I S0 312,

(d) TeeTeaT aTRITd G S shotol 3T a1 Alas &
expression T exclamation mark TS, 2 ameRT

I IR
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1. Fill in the blank with the most appropriate option | 8. I will drink the ocean in a moment. (STI 2010)
from the one given below. (Combined B 2023) (1) Epigram (2) Climax
............. occurs when a part of something is used to (3) Metaphor (4) Exaggeration
refer to the whole. 9. "A lovelier flower on Earth was never sown" has the
(1) Allegory (2) Apostrophe figure of speech called (STI 2010)
(3) Synecdoche (4) Metonymy (1) Hyperbole (2) Oxymoron
- - (3) Metaphor (4) Implied Simile
2. I‘dentlfy the correct figure of speech of the given 10, Ministers are pillars of state, (PSI 1991)
lines. (Tax Asst 2017) Find the correct figure of speech
Alone, alone, all, all alone Alone on a wide, wide sea. (1) Simile (2) Climax
(1) Personification (2) Alliteration (3) Paradox (4) Metaphor
(3) Apostrophe (4) Irony 11.  Failures are pillars of success. (ST1 1991)
3.  Point out literal and figurative (metaphoric) Find the correct figure of speech
meaning of the underlined words from the following (1) Epigram (2) Metaphor
sentences. (PSI 2012) (3) Paradox (4) Simile
(a) Isee a love star in the sky. 12.  Child is father of man. (PSI 1986) .S
(b) You are the star of my life. Find the correct figure of speech. g
. ) . (1) Simile (2) Paradox o
(1) First and second literal meanings. ) ) (7,)
) ) (3) Exaggeration (4) Epigram
(2) Both first and second figurative (metaphoric) 13, He looks as cheerful as a rose. (PSI 1986) "'6
meanings. Find the correct figure of speech. 8
(3) First figurative and second literal (1) Simile (2) Metaphor ‘5
(4) First literal and second figurative. (3) Paradox (4) Exaggeration E
4. Give a single word for: Commencement of words | 14. Which figures of speech are employed in this line?
with the same letter and /or sound. (STI1 2012) Find the correct figure of speech. (PSI 1984)
(1) Repetition (2) Alliteration "O Wild west wind, thou breathe of Autumn's being".
(3) Assonance (4) Imitation (1) Personification (2) Alliteration
5.  Which one of the following is not a figure of speech: (3) Apostrophe (4) Metaphor
(ASO 2011)
(1) Metaphor (2) Personification
(3) Elegy (4) Oxymoron M. J. Shaikh's English Academy
6. Choose the correct figure of speech:
He came, he saw, he conquered. (ASO 2011) SCANME
(1) Epigram (2) Metaphor
(3) Climax (4) Paradox
7. Which one of the following alternatives is not a
‘figure of speech’? (dPSI 2011)
(1) simile (2) metaphor
(3) personality (4) pun

Ans | 1-3]12-2|3-4|4-2|5-3]6-3]17-318-4]19-1]10-4j11-1{12-2|13-1}14-2
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1 sY FIGURES OF SPEECH : EXPLANATION

Synecdoche occurs when a part of something is used

to refer to the whole.
TETET gehET TR Y9 g Sfaffe st
feha wEmen Heehrn Y HOATEE AT STt deat
Synecdoche (FE3T 31@HR) Bl
For E.g.
1. Ours hearts are peace.
Heart = 1. Part of the body
2. It indicates all the saints
2. Hands them reach out to the world.
Hands = 1. Part of the body.
2. Workers
3. O Lord ! Provide everybody the bread.
Bread = 1. food
2. livelihood
(1) Allegory (3=l 3TAHN) :
Allegory is a story or picture with a hidden
meaning.
TETE g g1 31 TTATETEt I el
T 3w T g fot St et S @
31T, ST AT /AR HeH ATSGHR 374
TRUTdId.
(2) Apostrophe (¥ 3TEHR) :
This figure of speech is used to address somebody

who is absent or dead.
Sfifea TeTe M Segt fed s aue
SIY el SITd 9 TSI 8 TARR Bl
(4) Metonymy (3TTEgUN RN :
It is a substitution of a name.
@R MY AHd: oot getia swem=n
T 16 U1 TEUS SR AGHR 8.
For E.g.

I have read Shakespeare.

rfgemaTdt Shakespeare g1 ISGIANT hadl 3T,

A letter sound or sound of the first letter is repeated.
TETE ST fohdl Shidd=al =Rund i ST&
TG B AT TS Segl wTerl died e &,
de&T Alliteration (3TTH) &1 3TEihR Erdl.

330

For e.g.

The wild west wind. a8 ameRIT@ “W* a1

e e Qe el 3Ts.

Alone, alone, all, all alone Alone on a wide, wide sea.

feoret 919 alliteration 3TEHRIE 3R,

3. Literal meaning TeU Ifegeh 379 BT TEUISI IegehivTd

(dictionary) S 37 feter 31 a1 31 8. ™ figurative
(metaphoric) meaning TEUTS ®IhTcH / TABITL/
FeAhh 31 B, gt (a) WeA star =T literal meanings
AN 3. T WA= (b) T star 91 3 figurative
(metaphoric) meaning TEUS TSNS HETH @

4.  Alliteration (3T 3TciehR) : WA TTeRITA fehall

ST TR bt ST&RT= G 8IS T iel
?’W@é egl Il Hied UTd Bid, deal Alliteration
BT 3T BT, A letter sound or sound of the first letter

is repeated.

5. (1) Metaphor - 9% 3TTHR

(2) Personification - IARUITH FHABR

(3) Elegy - vhtiia, forsivd: w@ren sreri=n Joqamea
ek ek ShUOTRY ehieral feha TmTor, feremitent

(4) Oxymoron/paradox — TeRIEM9E 37T

6.  SioEl TR FTeRITdIe T &1 o=l Hew, hedHT,

TEcT HHTTHR HISeIedT ST waed Climax (TIehy )
F@HR gl feaiefl @@ Climax a1 figures of
speech = 3TN 3TT2.

7. (1) Simile (3997 316K : a word or phrase that

compares something to something else, using the
words ‘like’ or ‘as’ - egT TGl el a1 T
U T GEAT ST o St Shefl S deal
Simile &1 TR 1. ITAT FABRHE as, like,
as ..... as 3TY W& TR AT,

For E.g.

1. 1 was wandering like a cloud.

2. Itis as clear as crystal.

3. Suresh is as strong as Ramesh.

(2) Metaphor (¥9% 3T&®R) : a word or phrase
that is used in an imaginative way to show that

somebody/something has the same qualities as

another thing.
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CHAPTER

2 @ SENTENCE REARRANGEMENT

Fill in the blank.
Many people are painting ................

(Combined C 2023)

(1) white their houses these days
(2) these days white their houses
(3) their houses white these days
(4) their houses these days white

Choose the correct sequencing of the following
sentence: (Combined C 2023)
The students are

(a) with the help
(c) of the teacher
Answer Options :
(1) (@), (), (@), ()  (2) (d)(a)(c), (b)
(3) (d), (@), ((d),(c) @ (d),(b),(c),(a)

(b) for last two hours
(d) solving the questions

Louis Braille / sense of sight / all / had lost /age of five
/ by the
Which of the following statements is in correct

order? (TTEET 2021
)

(1) Louis Braille had lost at the age of five sense of
all sight.

(2) Louis Braille had at the age of five lost all sense
of sight.

(3) Atthe age of five, Louis Braille had lost all sense
of sight.

(4) Louis Braille had lost at the age of five all sense
of sight.

White are painting many people these days
(a) (b) (©) (d)

there houses
(e)

Choose the correct order of words to make the

(Combined C 2021)

sentence meaningful.
(1) () () (e) (a) (d)
(2) (d)(a)(b)(c)(e)
(3) (e)(©) (b) (d) (a)
@ (0 (a)(b) (d)(e)

Parts of the following sentence are jumbled up.
Rearrange them to make a grammatically correct
as well as meaningful sentence.

Telephone directories from replaced pages are missing
(ASO 2017)
(1) Telephone directories which are from missing

which must be

pages must be replaced

(2) Missing pages which are replaced from telephone
directories must be

(3) Telephone directories from which pages are
missing must be replaced

(4) Telephone directories which are missing from

pages must be replaced

Following words are given in a jumbled form.
Identify the correct alternative forming a

meaningful sentence. (PSI 2017)
An advanced soul -
I met -

In America -

wn Ao T

At a certain university -
Answer Options:

(1) SRQP (2) QPSR
(3) PQRS (4) QRPS

Pick out the most correct order in the following
sentence (Forest 2017)
(a) the unchecked population growth

(b) that we have made since independence

(c) may exploding

(d) numbers

(e) it is the problem of growing

(f) in my view

Answer Options :

(1) f,a,d,c,e,b (2) e,d,c,b,a,f

3) f,e,c,d,ab (4) None of the above

Arrange the following sentences in proper
(Tax Asst 2017)
(a) He gives raw materials for many industries.

sequence.

(b) If the agriculture fails, the industry fails and the
whole national economy collapses.

Ans 1-3 1 2-213-3]|14-1}|5-3]6-1

7-3 1 8-3
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CHAPTER

SYNONYMS

Find out the correct synonym for 'Vintage',

(T=@a - 2023)
(2) alcoholic, decent
(4) spoiled, modern

'Sacrosant’
(1) classic, sacred
(3) disease, unholy

Explanation :
Vintage - classic, antique, superior, retro, quaint
 Hiea, 3Ichy, T, e
Sacrosant - holy, sacred, hallowed, inviolable : T3,
RICES
(1) Classic - excelsior, glorious, vintage, iconic,
superior : 3thE, 48
Sacred - holy, pure, pious, sanctify : gfe=
(2) Alcoholic - drunkard, bibulous, boozer, incbriate
. e, T €T TS, T S
Decent - honest, proper, suitable, respectable :
(3) Disease - ailment, sickness, illness : 3SR
Unbholy - irreligious, blasphemous, sacreligious,
profane, impious, sinful : qiEH, e, ewfies
(4) Spoil - impair, aggravate, rotten, tainted, ruin :
e 1, foerefan
Modern - contemporary, current, latest, new,

fashionable : 3N, T, TEREd gt

Find the correct synonym for the word, "Tranquil".
(Combined C 2023)

(2) Angry

(4) Disturbed

(1) Agitated
(3) Quiet
Explanation :

Tranquil - quiet, placid, calm, serene, still, peaceful :
i, fre=e

(1) Agitate - upset, disturbed, disrupt, angry : =¥,
Tranquil 37 I&ET=T synonym I 41T 5. (3) Quiet
TR,

Choose the correct meaning of the underlined word
in the sentence given below :  (Combined C 2023)
The staff members are conversant with the issues.

(1) Frosty (2) Unfriendly

(3) Unknown (4) Familiar

Explanation :

Conversant - familiar, acquainted, well-informed
: i, fsoma

(1) Frosty - cold, frozen, chilly : 3fid, Maeten

(2) Unfriendly - distant, aloof : #=EiH, VA

(3) Unknown - unexplored, unrecognized, strange :

I, Taftfera, ATEd TEere

Match the following pairs with the correct meaning:
(i) Stubborn

(i1)) Uniformed

(ii1) Wise

(a) Ignorant

(b) Imminent

(c) Obstinate

(d) Prudent (iv) Approaching

Answer Options : (Combined C 2023)

(1) (@) - (i), (b) - (iv), (¢) - (1), (d) - (iii)

(2) (a)- (i), (b) - (iv), (¢) - (i), (d) - (i)

(3) (@) - (i), (b) - (iii), (c) - (1), (d) - (iv)

4 (a)- (i), (b) - (), (c) - (iii), (d) - (iv)

Explanation :

(a) Ignorant - uninformed, uneducated, illiterate,
unaware : 31T, Tl T fSrercien

(b) Imminent - approaching, impending, proximate,
forthcoming : STge3 A Sueiell

(c) Obstinate - stubborn, headstrong, recalcitrant,

adamant, tenacious : 831, UUE!, 3@

(d) Prudent - wise, judicious, sagacious, sensible,

cautious : forarehl, SrgToM, g™, Ty

Living things are divided into three categories.

Select the correct meaning of the underlined in the
respective context. (dASO 2023)
Answer Options :
(1) Separated

(3) Dissected

Explanation :

Divide into - classified, split, segment - foramoft,

Euiczul

(1) Separate - segregate, detach, divide, partition :
forures, oTeat

(2) Classified - divide or organize, categorized,

sorted : feramofy fopen afiertor sheor

(2) Classified
(4) Estranged
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(3) Fertilize - a substance (such as manure or a

chemical mixture) used to make soil more fertile

- gfiehaT, @d, gieh 00

92.

Select from the alternative the word that conveys
the same meaning as the word given in capital.
VENIAL (T==ET 2016)
(1) contagious (2) filthy (3) worthless (4) excusable

Explanation :

Venial - excusable, forgivable, pardonable, justifiable

: &TR, &THT hvATE A

(1) Contagious - transmittable, communicable, viral
infectious, catchy - TS, T GHTOTA,
TR

(2) Filthy - dirty, grubby, muddy : STIRET, Heselal

(3) Worthless - valueless, useless, insgnificant :
Fremift

(4) Excusable - forgivable, pardonable, venial : &,
& HAE AT

93.

The school was important to the community.
Pick out the correct meaning of the word underlined

(TAEE 2016)
(1) significant (2) main (3) valuable (4) critical
Explanation :

Important - valuable, substantial, significant : &,

HEITE, Helid HEwrI,

(1) Significant - meaningful, considerable, notable,
vital : ¥, ?H%f'ff, Tgear, @

(2) Main - primary, vital, major, principal : J&4,
Y@, T ggwrE

(4) Critical - serious, crucial : TR, e

Note : ITRIT=AT context TR valuable & 3T TEI.

in the given context.

94.

Give synonym of the following word : Counterfeit
(2) forged (Tr=r®a 2016)
(4) fine

(1) counterpart
(3) courageous

Explanation :

Counterfeit - forged, fictitious, fake : SHTEE, Tehei!

(1) Counterpart - equivalent, duplicate, equal,
homolog - Sfad, o= SRRl SR JBUIT o
e el 3¢ e ST femor s

(3) Courageous - brave, fearless, heroic, intrepid :
efie, ffa, w8

(4) Fine - penalty, excellent, elegant, great : Tg,

3ITH, AT, ATTIHR

Identify the correct meaning of the word printed in

capitals. (ASO 2016)

The report OBFUSCATES the principal points.

(1) Release (2) Confuse (3) Reveal (4) Reopen

Explanation :

Obfuscates - difficult to understand, obscure, unclear,

bewlinder, confuse : 3TETE, THSVIE HAIUT, eI

(1) Release - free, acqit, discharge - e, Y H

(2) Confuse - bewilder, baffle, puzzle, mistify :
TMeres, MesTd UTSul /ZTehul

(3) Reveal - divulge, display, uncover, disclose :

Tehe U1, IS HL0, THRIA Hiol

Choose the word or pharse that conveys more or
less the same meaning as the word underlined.

The Doctor prescribed a therapeutic diet.

(1) light (2) balanced (ASO 2016)
(3) with low fat (4) curative

Explanation :

Therapeutic - healing, curative, curing, remedial

: TR WA

(2) Balanced - steady, stabilize, poise, level :Fi"g’%fﬂ,
YOG, FHATA

Match the pairs : (ASO 2016)
I 11

(a) Modest (i) Stamina

(b) Lucid (i1) Cheerful

(c) Mettle (iii)) Humble

(d) Jubilant
Answer Options :

@ ®m (© @

(iv) Rational

(M i i iv i
Q) i iv i ii
G) iv i i i
@) i i i iv

Explanation :

(a) Modest - humble, reserved, demure, reserved :
fomerefie, fomm, aemeg,

(b) Lucid - rational, clear, distinct,obvious, vivid :
AT, TS, qhETd, TIE

(c¢) Mettle - stamina, ability, potency, strength :
Uk, €, dTehe, oS, FHad, CUTheTUIT

(d) Jubilant - cheerful, gay, happy, rejoicing :
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(1) Ability - capability, capacity, skill, competence :
I, aHe, He

(2) Efficiency - productivity, effectiveness, efficacy,
proficiency : HRIEHAT, i, IcATEHhT

(3) Compensation - reparation, reimbursement,

recompense : ThH TS, ?ﬂ?ﬁtﬁﬁ

172.

It is advisable to write your cheques with ...... ink.

Choose the correct option to fill in the blank :

(1) invisible (2) indelible (dSTI 2012)

(3) intelligible (4) delible

Explanation :

(1) Invisible - that cannot be seen, unseen, secret :
31ged, 7 fegum

(2) Indelible - that cannot be removed or washed out
: el ke gEA TRt T AU

(3) Intelligible - comprehensible, understandable,
clear, lucid : THSVITE GIT, g'aﬁ?l, qm™

(4) Delible - capable of being deleted : @Igar JuIR,
THAT TR

173.

Old Hindi movies were often great hits because of
(dSTI 2012)
The underlined word can be understood to mean:
(1) limericks (2) songs (3) graffiti
Explanation :

Lyrics - songs, melody : ToTdiet vreg, Tar siet
(1) Limericks - a humorous five-line poem with a

rhyme scheme : 9/ 3Tei=ht famTct shferan

(2) Graffiti - pictures or writing on a wall etc. in a

public place : fufafe, fafrema

memorable lyrics.

(4) speeches

174.

The word 'Ursine’ can be connected to which of the
following animals ? (dSTI 2012)
(a) Ostrich (b) Koala bear (c¢) Black bear (d) Ass
Answer Options :
(1) (b) only

(3) (a)and(c)
Explanation :
Ursine is related - to or characteristic of Koala bear :
SRR fegum srer woft

Note :

Koala bear, is an arboreal herbivorous marsupial native

to Australia : IS 37, Teh IMHERT 10T -
(qesen AT ferem) stfeeforn quma sTesu

(2) (b)and (c)
(4) (a)and (d)

175.

The word 'laudable' can also be expressed as:
(dSTI 2012)
(b) praiseworthy

(d) admirable

(Choose the correct options)
(a) reprehensible
(¢) commendable
Answer Options :
(1) (a), (b) and (c)
(3) (c), (d) and (a)
Explanation :
Laudable - praiseworthy, commendable, admirable,
deserving condemnation : ﬂ'ﬁ—g’qﬂ@a, IR

(a) Reprehensible - blameworthy, odious, guilty,

deplorable, culpable : e, Hfaergean sri

(2) (b), (c) and (d)
(4) (d), (a) and (b)

176.

Suggest a synonym for the underlined word and
choose the correct alternative. (MES 2012)
Bruce Lee was Adept in Martial Arts.
(1) adopt (2) adapt
Explanation :
Adept - proficient, expert, skilful, adroit : a1, ST,
e, O
(1) Adopt - to take a child of other parents legally

(3) proficient (4) eminent

as your own child, approve, embrace : G oo,
Tfeprur, SRR T

(2) Adapt - modify, alter, to change, to adjust :
3% B, S fehal HIfi=T Hed 2ot

(4) Eminent - prominent, renowned, illustrious, well

known : @M, foreama, wftg, gufg

177.

What does it mean : (MES 2012)
The poem was too difficult for me to understand.

(a) Idon’t understand the poem.

(b) The poem was very difficult.

(¢) The poem was too hard.

(d) I could not understand the poem.

Answer Options :

Which of the above is/are correct?

(1) aandbonly (2) bandd only

(3) aonly (4) conly

Explanation :

feetean watamiehl ameRT=an SFATTER (a) I don’t
understand the poem. 3T (b) The poem was very

difficult 3r&m 31¢f 3ar.

178.

Select the incorrect synonym pair from the follow-
(Agri 2012)
(2) humiliate / disgrace

ing :

(1) relinquish / abandon
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ANTONYMS

The story centres on the tempestuous relationship
between a father and his three daughters.

Select the correct antonym for the underlined.
(TTEET 2023)

(2) Exciting

(4) Placid

(1) Lively
(3) Frenzied

Explanation :

Tempestuous - turbulent, violent, stormy, agitated :

(1) Lively - animated, energetic, sprighty, dynamic,
vigorous : Tfid, =, Sq-=refic], IcETEYOl

(2) Exciting - thrilling, stirring, rousing : UHgY,
3ISTeh, Temaee

(3) Frenzied - wild and out of control, feverish,
hectic : 3G, U, IHIGhH

(4) Placid - calm, peaceful, tranquil, serene : 1T,

e, e

Find the correct antonym for 'Ostentatious’

(TTEET 2023)
(1) not resonant
(3) loud

Explanation :

Ostentatious - conspicuous, flamboyant, pompous,

flashy, showy : few@rss, waehart, fe@man wwomn

(1) Not resonant - lacking a tendency to reverberate,
dull, muted, modest, plain, simple : gfaeat
O S A9, W, T, e, /e

(2) Pompous - boastful : fem@men som

(3) Loud - boisterous, booming, noisy : 3gM, e

(2) pompous
(4) not eager

(4) Not eager - reluctant, unwilling, indifferent,

apathetic : 31'&!@75, RIA LR

Choose the one word which is closest to the opposite
in meaning of the underlined word in the given
(Combined B 2023)

"There was no altruistic motive that prompted him."
(1) Inhuman (2) Selfish
(3) Wicked (4) Brutal

sentence:

Explanation :

Altruistic - beneficent, benevolent, charitable, selfless,

philanthropic : TITHRY, TAheheAToTHRT

(1) Inhuman - barbaric, wild, brutal, cruel : T=eT,

(2) Selfish - egoist, self-centred, self-concerned :
nefl, SATIHaetst

(3) Wicked - evil, sinful, immoral, vile, vicious : §F,
o, aTse, Tt

(4) Brutal - savage, cruel, harsh : 3T

Match the words in column 'A' with their opposite

meanings in column ‘B’.

A) (B)
(A) Fickle (i) Ferocious
(B) Frugal (i) Extravagant
(C) Loyal (ii1) Constant
(D) Gentle (iv) Treacherous

Answer Options : (Combined B 2023)
(1) A-iv,B-ii,C-1i,D-iii
2) A-iii,B-1,C-ii,D-1iv
3) A-iii,B-ii,C-iv,D-1i
4) A-iii,B-ii,C-i,D-1iv

Explanation :

(A) Fickle - capricious, changeable, variable, volatile
: =9, AR

(B) Frugal - thrifty, economical, sparing, provident
saving : FEHALI, Q@ﬁ, AER ARG

(C) Loyal - faithful, devoted, reliable, dedicated :
THS,

(D) Gentle - affable, mild, kind, tender, benign : G163
foT T

(iii) Constant - fixed, stable, quiescent, unchanging,
steady : fRR, 7 9EUR

(ii) Extravagant - excessive, wasteful, improvident,
lavish, spendthrift : 3¥eAT, o, ?ﬂwﬁ

(iv) Treacherous - perilous, unfaithful , deceptive,
deceitful : fovareamae, od, wmer

(i) Ferocious - fierce, savage, brutal, barbarous,

untamed : 3, T, e
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(¢) Foolish - silly, ridiculous, absurd, foolish : FL@(,

BTG

39. Choose the prefixes expressing opposite meaning.
(a) DIS_ (b) ANTE_ (PSI2017)
(¢) EM_ (d) IN_

Answer Options :

(1) aandb only (2) aandd only

(3) a,bandconly (4) bonly
Explanation :

fectean w=iamet a (DIS) 30T d (IN) B g9 prefixes
expressing opposite meaning 31T&d.

40. He is a very diligent young man, you won’t find him
wasting his time. (PSI 2017)
Select the word which is opposite in meaning of the
word underlined.

(1) brilliant (2) idle

(3) curious (4) inattentive

Explanation :

Diligent - industrious, assiduous, sedulous, hard

working : Hgdl, HET

(1) Brilliant - bright, blazing, glorious : g9, Aot

(2) Idle - lazy, indolent, slothful, sluggish : 3T,
e, s

(3) Curious - inquisitive, eager, keen : ﬁrEITEL, RISSED

(4) Inattentive - careless, negligent, preoccupied,
reckless : SETEY, geted HIOTRT

41. Which of the following prefixes are used in forma-
tion of antonyms? (STIT 2017)
(a) in... (b) dis.....

(c) a... (d) pan.....

Answer Options :

(1) Onlya,bandc (2) Onlyb,candd

(3) Onlya,candd (4) a,b,candd
Explanation :

feetean w=ME a (in) b (dis) 37T ¢ (a) B @9 prefixes
formation of antonyms FEU[A STl SITATd.

42. He is very rigid in his attitude. If he wants his work

done, he oughttobe ...... and ready to make adjustment.
Select the correct alternative which is the approp-

riate antonym of the underlined word and complete

Explanation :

Rigid - stiff, firm, unyielding, inflexible, adamant :

3N, A, AT

(1) Joyful - delighted, pleasing, satisfying, pleased :
JTHeerRft, T, e, JHE

(2) Clam - quiet, peace, calm, hush, silent : 31a, fer

(3) Modest - polite, courteous, shy, humble : 74,
IEERNIE

(4) Flexible - ductile, malleable, bendable, pliable,
supple : T, giEdsiet

43.

He has a passion for indigenous goods.

Select the alternative which is closest to the opposite
in meaning of the underlined word. (dASO 2017)
(1) Native (2) Foreign (3) Cheap (4) Simple

Explanation :

Indigenous - native, akin, indigenous, natural, local

- TEesft %{‘\’ﬁ, Tf?l'lﬁ%, R et

(2) Foreign - overseas, extrinsic, alien, immigrant :
fereaft, e

(3) Cheap - inexpensive, moderate : T

(4) Simple - plain, clear : @19, TTF

the sentence.
(1) joyful
(3) modest

(STI 2017)
(2) clam
(4) flexible

44.

Which of the following pairs of antonyms is
incorrect : (Tax Asst 2017)
(a) Accept X Reject (b) Bloom % Fade

(c) Defend % Suspend (d) Progress X Regress
Answer Options :
(1) (a)only

(3) (c)only

Explanation :

(a) Accept - agree, receive, accede, acquire, take :
iR, HgHd g
Reject - deny, dicline, flotsam, discard, refuse :

(b) Bloom - blossom, thrive, flower, burgeon - S8
Fade - vanish, disappear, dim, wane, dwindle :
ST, fhehe

(¢) Defend - protect, preserve, guard, fortify : s=Ie/
&0 /ST HT
Suspend - defer, dealy, put off, drape, postpone :
fireht, frefaa

(d) Progress - development, growth, improve : STl

(2) (a)and (b)
(4) (c)and (d)

Regress - revert, retrogress, degenerate, relapse,

backslide : I 01, 3TeAT BT
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Fill in the blanks with appropriate words.
L litter I litre (W= 2023)
III. patrol IV. petrol
(a) About 2% of fast-food packaging ends up as........
(b) I'm abit low on........
(¢) Guards............... the area at night.
(d) The tax increase will add 4p to a............. of petrol.
Answer Options :
@ () (© @
1 1 v 1 1
@ o oIV oI
3) Iv I 1 o
@ m v o 1
Explanation :
(1) Litter - waste/garbage, scrap : -sell, ¥R
(2) Litre - a measure of liquid : gauerel Hisivar ATq
(3) Patrol - to go round to keep a watch : TgRI <UI,
T HTeA
(4) Petrol - oil, fuel : YA (389)
(a) About 2% of fast-food packaging ends up as litter.
(b) I'm a bit low on petrol.
(c) Guards patrol the area at night.
(d) The tax increase will add 4p to a litre of petrol.

Fill in the blanks to make a meaningful sentences.
(a) Dhirubhai Ambani.......... (TrT@ET 2023)
(b) Bimal Roy was .............. film maker

(¢) Iwassaved from............. danger.

(1) magnate, an eminent, an imminent

(2) amagnet, an imminent, an eminent

(3) an eminent, a magnate, an imminent

(4) an eminent, an imminent, a magnet

Explanation :

Magnate - a person who is rich, powerful & successful,
especially in business : *7d, ITRTIA

Eminent - famous and imporatant, well-known : g
/TR ST, ST

Imminent - approaching, certain to happen very soon

- S I3 JUcTedt/ATSTRft JATeiedl T8 /5T, 3TEe

(a) Dhirubhai Ambani magnate.
(b) Bimal Roy was an eminent film maker

(¢) Iwas saved from an imminent danger.

3. The ship has its complement of 150 passengers.
The underlined word in the above sentence means
(TTEET 2023)
(2) Full amount
(4) Best wishes

(1) Support
(3) Supplement

Explanation :

Complement - full amount, the total number that
makes a group complete, addition : T@TET e/ I'E'f
ML TRYT AT, TTIHEST, T

Compliment - praise, appreciate : JST@T, TIET HL0

4. Find out the meaning of the words underlined in
(Combined B 2023)

(a) Urban employment is a major problem.

the given sentences:

(b) He is the soul of urbanity and wit.

(1) a-Incities b - Sophistication

(2) a- Corporate b - Wisdom
(3) a- Industrial b - Comedy
(4) a-Inbanks b - Fashion

Explanation :

Urban - connected with a town or city : 31&{l, A
Urbanity - sophistication, elegance, suavity : §¥dT,

ferEm

5. Choose the meaning of the words underlined in the
(Combined B 2023)

(a) The villagers may be coarse in their looks but

following sentences:

they are very innocent at heart.

(b) The river appears to be changing its course.

(1) a-Poor b - Water
(2) a-Pleasant b - Subject
(3) a- Beautiful b - Subject

(4) a-Rough

Explanation :

Coarse - rough, crude, harsh, grating, unrefined :
HATeHas, Tegs
Course - direction, path, syllabus of subject : fgzm

b - Direction
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Find out the meaning of the word underlined in the
(Combined C 2023)

(a) She is forever interrupting the conversation.

following sentences :

(b) She has left him forever.

Answer Options :

(1) (a) Previously (b) Currently
(2) (a) Officially (b) Previously
(3) (a) endlessly (b) Permanently
(4) (a) Permanently (b) endlessly

Explanation :

Forever - always, endlessly, constantly : Jgti, @ad
Forever - permanently, lasting : ST

Choose the meanings of the word given in capitals
in the given sentence (base form).
The vegetables were planted in neat ROWS.
(a) A serious disagreement/argument
(b) A loud unpleasant noise
(¢) To move a boat through water
(d) A number of objects arranged in a line
Answer Options : (Tr=@an 2021)
(1) Only (a) (2) (a)and (b)
(3) Only (b)and(c) (4) Only (d)
Explanation :
Row - (T%)-a noisy acrimonious quarrel/argument :
g, FTeTaTe] /@eTSH vl
Row - (T) - column, a number of objects arranged in
a line : 37ie3, Uerd}
Row - (U) - aloud unpleasant noise - T
Row - (W) - travel by boat with rowing : siétd fehar
Hiohd ST Togdd 0

(a) She had an edge in her voice.
(b) They have an edge over their rivals.

Identify the meaning of the underlined words in

1l HOMOGRAPH

Edge - sharpness : T1e0Td1

Edge - advantage : ®M™ql, 91

Edge - border, boundary : g2 /%ieT

Severity - serious, seriousness, gravity : T

RIS FAHEAR option 4 ST AgeA

(a) The boat skimmed over the water.

(b) She skimmed through the newspaper.

Identify the correct meaning of the underlined
words in the respective contexts. (Combined C 2019)
(1) Moved - Tossed (2) Glided - Glanced

(3) Glanced - Removed (4) Bounced - Flicked
Explanation :

Skim - glide : JBNTTIAT T & qLeE S0 /70T

Skim - glance, to read something quickly : IE ISK
et

What word means beautiful, honest and is also a

bazaar ? (Steno Typist 2018)
(1) Fare (2) Fair
(3) Fire (4) Fear

Explanation :

Fair - beautiful, honest, bazaar : Eiﬁ(, TR, ST
(1) Fare - charge, ticket price : Y, WIS

(3) Fire - burning and flames : 37, ST

(4) Fear - fright, phobia, terror : firet

Identify the sentences with the same pronunciation
of the word.

The new......... is quite spacious; but the structure does
not look.............

Pick any one of the following words that fits both
the blank spaces: (PSI 2017/MES 2013)
(1) stable (2) sty

(3) building (4) dandy

Explanation :

their respecti.ve contexts. ' (T 2021) Stable - firm, steady/sure or permanent, fixed/a place
(1) (a) margin (b) bite where horses are kept : 37=re1, R /dqeet
(2) (a)advantage (b) sharpness Sty - a place where pigs are kept : GFhTETSI
(3) (a) bounds (b) severity Building - a structure with a roof and walls, such as a
(4) (a) sharpness (b) advantage house or factory : B T fifet 3THeiel sTew™ 3qT.
Explanation : R, THM, MBI, THRA, T,

Ans 1-3 2-4 3-4 4-2 5-2 6-1

412
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%% B ONE WORD SUBSTITUTION

(TTEET 2023)

Match the following pairs:
A B
(1) Compatriot (a) One who leaves a
country to live in
another
(i) Emigrant (b) One who comes to

the aid of others

(ii) Immigrant (c) A foreigner who comes
to stay in a country
(iv) Samaritan (d) A colleague belonging

to the same country

Answer Options :

(1 @ - (e), (i) - (d), (iii) - (b), (iv) - (a)

2 (- (d), (i) - (), (i) - (¢), (iv) - (b)

3) @ - ), (iD) - (¢), (iii) - (a), (iv) - (d)

@ (- (a), (1) - (b), (iii) - (d), (iv) - (¢)

Explanation :

(i) Compatriot - a colleague belonging to the same
country : EREIRE]

(ii) Emigrant - one who leaves a country to live in
another : ICTATHT, T 31 A Ga=AT ST
e HUTH STkl

(iii) Immigrant - a foreigner who comes to stay in a
country : T3 TATARA, A <N TG I
RICRSIECIIC I

(iv) Samaritan - one who comes to the aid of
others, a charitable or helpful person : T,
SIEE LI Earil

Identify correct word for the phrase (T==@En 2023)

'A person who lives for pleasure'.

(1) Hedonist (2) Fanatic

(3) Homicide (4) Pacifist

Explanation :

(1) Hedonist - a person who lives for pleasure :
foremaaTd), ga &= sifem sfey amum s

(2) Fanatic - a man who has extreme enthusiasm for
his own religion and hates others : e, shgtaeft

(3) Homicide - the act of killing human beings :

w99

(4) Pacifist - a person who believes that all wars

are wrong/one who hates war, loves peace :

SIS, FHEaTd!

(TTEET 2023)

Match the pairs :
1 I
(a) Deterioration (i) Remarks done to harm
somebody's reputation
(b) Hypocrisy (ii)) Having an evil
reputation
(¢) Notorious (iii) Process of going worse
(d) Defamation (iv) Concealment of true
belief
Answer Options :
@ ) (© @
M G O (v i)
() i) @Gv) (@) (@)
() @) Gv) aG) @
4 (@Gv) (@) @i) ()
Explanation :
(a) Deterioration - process of going worse, decline
-5 g, faesfan
(b) Hypocrisy - concealment of true belief /preten-
ding to be what you are not : @raun
(¢) Notorious - having an evil reputation : FRIg
(d) Defamation - the action of damaging the good
reputation of someone/ remarks done to harm

somebody's reputation : SEATH T

Identify the correct word for the explanation.
"Complete range of different opinions"

(TSI 2023)
(2) Speculate
(4) Spectacular

(1) Spectrum
(3) Splendid
Explanation :

(1) Spectrum - complete range of different opinions
: forameerft wear oy /fafawan swm

(2) Speculate - to make a guess about something :
TETET MEETEd 37eTs, Ad Sieor

(3) Splendid - very good, impressive and excellent
: BT ATSUR, THTERIE!, el
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Explanation :

(1) Bureaucracy - government by the official :

BRI

(2) Democracy - government of the people, by the
people, for the people : THITE!
(3) Autocracy - government by one person with

unlimited power : ERASIE!

88.

Substitute the phrase “one who hates women” with
one of the following correct words : (ASO 2015)
(1) saddist

(3) misogamist

Explanation :

(1) Sadist - a person who feels pleasure by hurting
others : SAUAT GEET G HUIR S<h!

(2) misogynist
(4) misanthrope

85. A person who is given to luxurious living is. (2) Misogynist - a hater of woman : f&rsEet gom
(1) Sybarite (2) Luxurious (Agri2016) ST, EffSITeEe fehr grafeomt st
(3) Luxuriant (4) Wealthy (3) Misogamist - a hater of marriages : faaTgTeEa
Explanation : o grEevdt SRt
(1) Sybarite - a person who is self-indulgent in their (4) Misanthrope - a hater of mankind : ISt
fondness for sensuous luxury : ﬁﬂ'&?ﬁﬁq, =, 9 fehert fere . ot
froTe et 89. Obsession with music is .......
(2) Luxurious - very comfortable, full of expensive Choose the correct alternative to complete the
and beautiful things : 3THERE, I, foemed sentence. (ASO 2015)
(3) Luxuriant - produced or growing in extreme (1) melomania (2) musomania
abundance : T, AT HoACH, QL 3T ORI (3) discomania (4) acousticophobia
(4) Wealthy - having a lot of money, property etc. : Explanation:
afeh, ofiwdl, o= (1) Melomania - a person with a great enthusiasm
86. Select the correct substitute for the following word for music : FNAERE! Y€ IcETE TR <hl
: Annihilate (2) Musomania - obsession with music : i
(1) To root out an evil (Agri 2016) T /Tl 3THOT
(2) To free a person from blame (3) Discomania - enthusiasm for disco music /
(3) To remove objectionable matter from a book obsession with disco music : 979 =T aTATER
(4) To destroy anything completely TEENE 9
Explanation : (4) Acousticophobia - fear of sounds : &SR
Annihilate - to destroy anything completely, wipe out areuTdt forcft
: FqUT 9 90. Plutocracy is .......
87. When the meaning of one form or word is included Choose the correct alternative to complete the
in the meaning of another word it is called ....... sentence meaningfully. (ASO 2015))
(1) synonymy (2) antonymy (ASO 2015) (1) Government by the rich
(3) homophony (4) hyponymy (2) Government by the nobles
Explanation : (3) Government by the officials
(1) Synonymy - having the same meaning as another (4) Government by the people
word or phrase in the same language : a1 Explanation:
(2) Antinomy - against, opposite of : fereeereff (1) Plutocracy - government by the rich : $fHdr
(3) Homophony - set of words are pronounced HHR
identically, but have different meanings : ¥HH (2) Aristocracy - government by the nobles : 37K,
IR Wy = 318 STEumi v I THR
(4) Homonymy - the fact of words having the same (3) Bureaucracy - government by the officials :
spelling or pronunciation or both : ¥H&UdT, HHH SRR W, ATREITE
3 FEUM e
Ans 85-1 86-4 87-4 88-2 89-1 90-1
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Choose the correct meaning for the underlined:
(i) Mathematics is my Achille's heel. (TT@ET 2023)
(i) He had been fiddling the accounts for years..

(1) strong point, giving importance
(2) crucial point, touching

(3) weak point, changing dishonestly
(4) moot point, cheating
Explanation :

Achille's heel - weak point/spot : hHHA &S]

Fiddle - changing dishonestly, falsify (figures, data, or
records) : STITHTIOTERYUT /SeRTICIINTT! ThIBR HT0T

Identify the correct meaning for the underlined.

(1) There was bad blood between Shylock and
Antonio. (TTEET 2023)

(2) Many Indians took a leaf out of Gandhi's book
and made great sacrifices.

(3) Portia turned the tables on Shylock.

(1) hatred, copied, ignored

(2) rivalry, tore, changed

(3) fight, follow, moved

(4) ill feeling, imitated, reversed the position

Explanation :

Bad blood - ill feeling, active enmity : g¥, NE(S]
To take a leaf out of - imitate or emulate someone
in a particular way : T@TET™ cEcaul T

To turn the tables on - to reverse the position :

TETETER 919 I

What is the meaning of the underlined phrases in

(TTEET 2023)

I.  TItis unkind to laugh at a person who is in trouble.

the following sentences.

II.  He procured the contract by greasing the
secretary's palm.

III. His unusual surrender shows that he has an
axe to grind in this deal. call a hm is to be or

IV. She gave the story in a nut shell.

(a) be friendly

(b) have selfish motive

(¢) in brief

(d) bribe
(e) make fun of
I nm m 1w

M @ © @ (®b

@ @© @ © ®

3 ® © @ @

@ @© @ ® (©

Explanation :

I. Laugh at - make fun of : TEEE Eﬁ%ﬁf/
TR EEO

II. Grease the palm - to bribe someone, hush
money:Q@WﬂTF‘lﬁfﬁ, 99 <o

III. An axe to grind - selfish motive : Teff 3g

IV. In a nutshell - briefly and concisely : Hférd Eard

Choose the correct idiom for the underlined words
(TTEET 2023)
He has a very bad habit of talking irrelevantly.

in the sentence:

(1) To burn one's boats

(2) To burn candle at both ends

(3) To bell the cat

(4) To beat about the bush

Explanation :

(1) To burn one's boats - destroy all possible ways
of going back to that situation : ‘3@ uftfRrdiens
MO Hel WA Y 0, T @6 HE Se )

(2) To burn the candle at both ends - to spend one’s
resources : IekiTaT fRee a9 T

(3) To bell the cat - to face a risk : €ehT Tehol

(4) To beat about the bush - talking irrelevantly :
eTeT &% 7 Siet

Identify correct meaning of the idiom ‘a wet

blanket’. (T=TEET 2023)
(1) damp blanket
(3) useless efforts

Explanation :

A wet blanket - killjoy, a depressing companion :

(2) killjoy
(4) celebrant

ferergandt s, gE=TeAT STHEER fatsor ST SRt
(3) To Beat the air/beat the wind - useless efforts :
el I
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Explanation :

A good deal - often, a large amount : AR, 3TheT
HISt TEH /mmTa

207. It’s upto you to make the next decision or step.
Choose the correct alternative idiom to match the
meaning in the given sentence. (MES 2014)
(1) Actions speak louder than words
(2) Best of both worlds
(3) Ballis in your court
(4) Taste of your own medicine
Explanation :

Ball is in your court - It is upto one to make the
next decision or step - (Tennis Term) : & T3
rame st sy 1 o e foemstsh afa wa
HATE UIE AT/ 3Tl AYH Ge Gl Foeerd T,
| 37 gl

208. One cannot make anything out of Sohan’s attitude as
he is such a queer fish.

Pick out the correct meaning of the underlined
part. (MES 2014)
(1) a funny person

(2) astrange person

(3) asensitive person

(4) a quarrelsome person

Explanation :

A queer fish - a strange person, a person whose
behaviour seen strange or unusual, eccentric person :
fafea wom, < sy adq fafam fhar smm 3ma

209. The country is always betrayed by the snake in the
grass. (MES 2014)
Identify the correct meaning of the underlined part
(1) asecret enemy (2) an ambitious person
(3) dominant people (4) crooked people
Explanation :

Snake in the grass - a secret enemy, a deceitful or
treacherous person : Fue! fehan fovareraTash et

210. 1do not see eye to eye with you at least on this point.

The underlined phrase means .........
(1) to fight
(3) toagree

Explanation :

See eye to eye - To agree with someone : TgHd 37E0!

(MES 2014)
(2) to abuse
(4) become angry

211.

Choose the correct meaning for the phrase :
To read between the lines (MES 2014)
(1) to misunderstand

(2) toread too much meaning into something

(3) to see the writer’s concealed meaning

(4) to have had eyesight

Explanation :

To read between the lines - To understand something

that is not said outright : 3713 /TfUa 3rEcIen 31ef semr

212.

The news tickled him to death. (Forest 2014)
The underlined phrase means:

(1) greatly amused (2) pained

(3) killed (4) frightened

Tickled to death - extremely amused / to be very
pleased or happy about something : €4 ITHfEd BT

213.

Give the meaning of underlined words.
It won’t be long before you have the world, literally at
your finger tips and the ability to communicate at work
or play. (ASO 2013)
(1) near your finger tips
(2) to have everything, easily accessible
(3) to do anything
(4) advance in a particular situation
Explanation :
At one's finger tips - to have everything, easily
accessible, ready at hand : Gchled IueTeY 37T

214.

Choose the correct meaning of the idiom underlined
in the sentence given : (ASO 2013)
He got the doors slammed in his face.

(1) hitting his face
(3) stuck tight

Explanation :

Slammed in one's face - closed shut in anger, in a

(2) banged up
(4) closed shut in anger

direct way that shows anger or disrespect for someone

: TATH &€ <hT01, 3TTISU, TG HI0T

215.

You must take heart and face life boldly.
Pick out the correct meaning of the underlined
(ASO 2013)

(2) Feel excessively

phrase.
(1) Feel bold
(3) Feel glad

Explanation :

Take heart - feel bold, to have courage or confidence

: &ty AT, & fehen smTenferaTayYl wET e

(4) Feel superior
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Select the correct meaning of the underlined phrase

(T=T@aT 2023)

Do you understand what the poet is getting at in

in the given sentence.

these lines?
(2) Finish
(4) Recover

(1) Overcome
(3) Suggest

Explanation :

Get at - suggest, reach or gain access to something

. gafers, Fw, frest

Find out the meaning of the phrase underlined in
(Combined B 2023)
"Will you call on him today and tell him that he is to

the following sentence:

reach the office by 7 a.m. tomorrow?”
(1) To shout

(3) To pay a visit to
Explanation :

Call on - pay a visit to someone : TETITAT ¥ <0

(2) To remember
(4) To invite

Explanation :

(1) Make up for - compensate for : TS ST

(2) Make for - move or head towards : 3% ST /=
feRr areaTe

(3) Make over - to transfer possession, convert :
FEATCHIA 0T

(4) Make off with - to steal something and run away

: FR & T S

Choose the correct option for the underlined word
(Combined C 2023)
The government must cut down its expenditure.

(1) obtain
(3) reduce

Explanation :

Cut down - reduce the size, amount or quantity of
something, make less, decrease : SH! T

in the following sentence.

(2) increase
(4) stop

(1) Obtain - accomplish, acquire, achieve, attain :
qreg 0, firesfe

(2) Increase - enlarge, expand, augment, grow :
e, HiaT H0

(3) Reduce - make less, decrease, attenuate : ShH!
T

(4) Stop - cease, end, quit : e, AT

The rally .....ccoeuveneeee. peacefully.

Choose the correct alternative to complete the
sentence meaningfully. (Tz@an 2022)
(1) passed off

(3) passed away

Explanation :

(1) Pass off - to happen : =0, I,

(2) Pass on - to convey, to give message to someone
: it /eew gaRieia et

(3) Pass away - to die, disappear or vanish : ﬂ%ﬁ‘ﬁ,
foardtor, e o

(4) Pass over - to ignore or avoid something : gﬁ?ﬂ

0T, T30

(2) passed on
(4) passed over

All the sailors ............. the Pacific islands.
Select the correct alternative to complete the
sentence meaningfully. (dASO 2023)

Answer Options :

Oxford has .......... a new edition of the book.

Choose the correct alternative to complete the
(T 2022)

(2) brought in

(4) brought up

sentence meaningfully.

(1) brought about

(3) brought out

Explanation :

(1) Bring about - cause to happen : ¥S[d FAToTT

(2) Bringin - to introduce something new such as a
product or a law : FTEIGH T TG/ FO T&
&1 IcdTe fohar e

(3) Bring out - publish or release, explain the
meaning : JehTISIA 0T, 37 TIT HT0

(4) Bring up - educate, rise a child - UTA-ITSOT ShT0T

Subordinate ............ the orders of their superiors.

Select the correct phrase to complete the sentence

(1) made up for (2) made for meaningfully. (Combined B 2022)
(3) made over (4) made off with (1) carry on (2) carry out
Ans 1-3 2-3 3-3 4-2 5-1 6-3 7-2
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81. Choose the most suitable word for the underlined Explanation :
phrase. (dSTI 2014) Wind back - breath, to twist or turn : HTET=SaT, Fw0%
The new engine needs breaking in before it can be fea feptardr, AY AR context THR T (2) IS,
fitted into the machine. 86. Fill in the blank by choosing appropriate words/
(1) opening up (2) running phrases from the following : (MES 2014)
(3) speeding (4) refitting Despite her illness, she remains actively......... social
Explanation : work.
Break in - to run, to train, interrupt something, to (1) take care of (2) come along
enter a somewhere illegally : STeITid STIROT/ &Taol, (3) engaged in (4) make the best of
Tf3T&T0T U1, ST ATV, AHTISIIOT TeIST Hol Explanation :
82. Substitute the underlined phrase with the most (1) Take care of - care for, look after : = shIeasit ooy
suitable of the options given below :  (dSTI 2014) (2) Come along - accompany, arrive or appear :
He has fallen out with his wife. SR 31501 feha 01, Tt foha femor
(1) slipped (2) had an accident (3) Engaged in - to take part in : Tg9Ff g1, AT TOy
(3) gone away (4) quarrelled 87.  You are just too fast. I cannot stay along with you.
Explanation : Choose the appropriate phrase to substitute the
Fall out with - to quarrel with : =Tt WTEW, TSI HW0T underlined words : (PSI2013)
83. Substitute the underlined word with a suitable (1) stay equal to (2) match along with
phrase. (dSTI 2014) (3) keep up with (4) runalong by
The audience was completely fooled by his pretensions. Explanation :
(1) taken in (2) taken around Keep up with - stay along with, move or progress at
(3) taken about (4) taken across the same rate : WA YAV STl 01, ST Tl
Explanation : 88. When she heard about the accident she started crying?
Take in - be fool, deceive ;{@aqﬁﬁ, HHIO Replace the underlined word by the most suitable
Take about - to escort : TR&Th, IHEH phrase. (PSI/MES 2013)
84. Substitute the underlined word with a suitable (1) broke up (2) broke out
phrase. (dSTI 2014) (3) broke down (4) broke off
And so it happened that the brothers finally met. Explanation :
(1) came about (2) came along (1) Break up - break into many pieces to end or finish
(3) came over (4) came across finish a relationship: qes/faaes g, Aragsy
Explanation : arest
(1) Come about - to happen : — (2) Break out - spread, of a war, qua‘rrel, disease :
(2) Come along - to arrive or appear : J01, fegor ST SR (ﬁﬂ,.?ﬂ'ﬂT, T, T
(3) Come over - get over, overcome : A 0t 3) Breal.( down - emotional collapse, uncontrollable
weeping to succumb : W B0 /@01, U
(4) Come across - meet or find someone or something
(4) Break off - come to an end, unsuccessfully :
by chance : TRTRIRTH / 3= 2ol T A, sEmeh 8
85. Heis still trying to get this wind back. 89. He ran against a difficulty he had not anticipated.
Pick out the correct meaning of the underlined Substitute the underlined phrase with one of the
word. (dSTI2014) following terms closest in meaning :  (dPSI12013)
(1) Breeze (2) Breath (1) suddenly faced (2) defeated
(3) Turn 4) Coil (3) solved (4) escaped
Ans 81-2 82-4 83-1 84 -4 85-2 86-3 87-3 88-3 89-1
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Identify the wrongly spelt word/s from the following
(Combined C 2023)
(a) Accept (b) Anciant

words.

(c) Attract (d) Arrive
Answer Options :

(1) (b)and(d) (2) Only (a)
(3) (b)and(c) (4) Only (b)

Explanation :

(a) Accept - agree, accord : THHRT, T T

(b) Anciant X Ancient v'- old, antique, archaic,
primeval : IT=fA, qUdE, 1

(¢) Attract - entice, fascinate : 3Teh{dd ol

(d) Arrive - come, appear, enter, reach : 3TFTHA, aﬁf,

Rl

Identify the wrongly spelt word from the following
words. (TT@ET 2022)
(1) Synopsis (2) Grammer
(3) Programme
Explanation :
(1) Synopsis - a brief summary, precise : 2SI,
R

(2) Grammer X Grammar v': ST

(3) Programme - show - HTIHH

(4) Dependence - the state of relying on someone :

K CRIELS]

(4) Dependence

Choose the correct option in which words are spelt
(Combined C 2022)

(1) reminescences, sanetorium, disastrous,

correctly.

compulsory

(2) reminiscences, sanatorium, disastrous,
compulsory

(3) remeniscences, sanatorium, desastrous,
compulsory

(4) reminiscences, sanetorium, desastrous,

compulsory

Explanation :

Reminiscences - to talk or write about past experiences
that you remember with pleasure : J-=IT 3Taaft

Sanatorium - a place for the sick to recover health :
ST AT 3T s H0AT (3101, 39 T
T TS FoTes

Disastrous - calamitous, perilous : HeheHT, AT

Compulsory - necessary, mandatory : 3@, v

Choose the word/s that is/are correctly spelt.
(a) OMNISCIENT (b) OMENOUS

(c) OPULANT
Answer Options :
(1) (a) only

(3) (b)and (c) only

Explanation :

(a) Omniscient - one who knows everything : ¥

SATUTOTRY, F=Ta

(b) OMENOUS x
Ominous - apocalyptic, baneful, grave, unlucky
: 3TY[H, ITAIHRH, THR

() OPULANT %

(Steno Typsit 2022)
(2) (a)and (b) only
(4) (a), (b)and (c)

Opulent - lavish, luxuriant, sumptuous : U,

e, feretret
Choose the incorrectly spelt word/words from the
following. (Translator 2022)

(a) Rendezvous
(c) Diarhoea
Answer Options :
(1) aandbonly
(3) canddonly

Explanation :

(a) Rendezvous - meeting place : ¥evaTa faehmor

(b) Connossieur %

(b) Connossieur

(d) Dysentery

(2) bandconly
(4) donly

Connoisseur - someone who knows a lot about
the arts, food, drink or some other subject : arfifer,
wieteh, ITH 3T, T S IAH S0 STEAAT
(¢) Diarhoea %
Diarrhea v'- 31fq@r
(d) Dysentery - an infection in your intestines that
causes bloody diarrhea : SIS, 3T, JaTfgeht
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Match the following with similar meanings :
(MES 2021)
(a) The feeling that you (i) De jure
have previously
experienced something
(b) The crime of killing

one's brother or sister

(i) Regicide

(ii1) Fratricide

(d) The crime of killinga  (iv) Deja vu

(¢) According to the law

king or queen

Answer options
@ ) (© (@

(1) i i ivo il

(2) iv i i il

3) it iv i il

(4) iv i i i

Explanation :

(i) Deja vu - the feeling that you have previously
experienced something : 3Tt JTWEET 3R
3 9|

(ii) Fratricide - the crime of killing one's brother or
sister : 9% Toha Sfgvii=l g, WIqecn

(i) De jure - according to the law : HRICIN

(iv) Regicide - the crime of killing a king or queen :
RSkl

Choose the nearest meaning of the underlined words.
The same contract, mutatis mutandis, will be given to
(Combined B 2020)

(1) Printed on both sides of paper

(2) Folded in the middle of paper

(3) Making small changes that are necessary

(4) On A- 4 size paper

Explanation :

Mutatis Mutandis - making small changes that are
necessary : 3TaYIeh 1 fSHlt sget w0

each employee.

(4) None of the above

Explanation :

Bon voyage - wishing you a happy journey : qH=1 JaTH
IS g1 IS IR

Match the following : (Agri 2018)
(1) Final blow (the blow
which kills)

(i1)) To remain doubtful

(a) Dejavu

(b) Coup de grace

about something.

(c) Wet blanket (ii1) The feeling of remem-
bering something

(d) Take something (iv) A person who prevents

with a pinch of salt others from enjoying

themselves.
Answer Options :
@ (M (© @

(1) i ioivoii

2) i iv il i

3) i i i v

(4) iii i v il

Explanation :

(a) Deja vu - the feeling of remembering something :
T@Tel IWE e ST 318 3TET 9

(b) Coup de grace - final blow (the blow which kills)
: ToTiferer e/ 3ifam fehan furiaes S /weent

(c) Wet blanket - a person who prevents others
from enjoying themselves : GE=AT=AT AT
ForsToT ST e, T W SO SRt

(d) Take something with a pinch of salt - to remain
doubtful about something : TETE MR ‘fﬁ
fergama 1 Tk fom 60 /gt @ 3R 31 F W

(Combined C 2019)
(1) wishing you a happy journey

'Bon voyage' means

(2) according to the value
(3) Both(1)and (2)

Identify the correct meaning of the expression :
Viz (Tax Asst 2017)
(1) Namely
(3) Infact

(2) Contrary
(4) Inshort

Ans 1-2 2-3 3-1 4-4

516
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1) WORDS DENOTING SOUND

Which of the following refers to sounds?

(a) Babble (b) Obnoxious (Forest 2018)

(c) Patter

(1) (a)and (c)

(3) (c)only

Explanation :

(a) Babble - the sound of many voices talking at the
same time : AT, TeAehl, AT

(b) Obnoxious - extremely unpleasant : f&hR,
UG

(c) Patter - continuous and sometimes funny speech
or talk : 928 0T, YIEHMET TYCH A

(a) Babble, (c) Patter 8 &H ¥is€ sound e rdTd o

Obnoxious - AT, FhET AU, fEhr fhar fhesd

I HOT 37T 3 gl

(2) (b)and (c)
(4) (), (b) and (¢)

Complete the following sentence by using the
(Tax Asst 2017)

Man is related to shout in the same way crow is related

correct option :

| (O
(1) caw (2) chirp
(3) mutter (4) mob

Explanation :

(1) Caw - the harsh cry of the crow : SE-&@E T,
EJEC2RICIRCIEIN]

(2) Chirp - twitter, twit : Taa fora w01, vt fopet-
feame

(3) Mutter - to speak in a low, quiet and often angry
voice that is difficult to hear : 9eqeu, UhvATH
AT I WIS, CHAeAT TSS9l HIHTol

(4) Mob - multitude, throng, crowd : ST, &l

Ahorse ......... (Clerk Typist 2014)
Complete the above sentence.

(1) Neighs (2) roars

(3) barks (4) mews

Explanation :

(1) Horse - neighs : =eT faehrezdt
(2) Lion - roars : &g o1 star
(3) Dog - barks : AT ‘ga»—cﬁ

(4) Cat - mews - TSR wieTe Hd

Which pair among the following is not correctly
matched? (ASO 2012)
(1) Tigers - roar (2) Ducks - quack

(3) Frogs - crow (4) Monkeys - chatter

Explanation :

(1) Tigers - growls/roar : 9T WAl /STHTE! HISdl

(2) Ducks - quack : 5IGsh Feshaeieh hIdTd

(3) Frogs - croak or ribbit, chirp : é@ hih 3hish/
T @ Hl

(4) Monkeys - chatter/gibbers/whoops : HTehs e
A1 /BT § !/ STAT el

feetean vttt wata %. (3) Frogs - crow & Woft &

T ST e incorrect 378,

Note :

Crow - caws : hI9c3] hidehld hidl.

Choose the incorrect alternative from the following
: (dPSI 2011)
(1) Asses bray
(3) dogs bark
Explanation :

(1) Asses - bray : Ted /GE=aT RSV JTET
(2) Bees - hum : TYHTRAT OAUIUITT AT
(3) Dogs - bark : FHTET YHUATAT ST
(4) Frogs mew %

Frogs - croak/ribbit v : IS SUE-SUE AT
feetean At v . (4) frogs mew & WTOft & ==
ST e incorrect TR,

(2) bees hum
(4) frogs mew

Which of the following denotes the happy sound of a
cat ? (dSTI 2011)
Choose the correct option.

(1) moo (2) bark

(3) purr (4) croak

Explanation :

(1) Cow : lows/moos : T E&d

(2) Cat - purr/mews : TSR wieTe Hd

(3) Dogs - bark : T YHUATAT ST

(4) Raven - croaks : SISehTacAT hTeehTdl hidl

Ans 1-1 2-1 3-1 4-3

5-4 6-3
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